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�4>47G<> 45OF5?L=>EF< E G>474=<5< >D<F<4?L=>7> =4764=<O >D74=<74F<< 

(ND<4<G5E>>7>, D<7<G5E>>7> ?<F4), 44D5E, F5?5D>=, D4>E: �4<<=<EFD4F<O &>F5<E>>7> 

<G=<F<?4?L=>7> >>DG74 �>?>7>4E>>= >5?4EF<. .D<4<G5E><=/ D4>F<G5E><= 44D5E: 161300, 
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�4764=<5 >5N5>F4 <=65EF<F<>==>7> ?D>5>F<D>64=<O < ??4=<DG5<>5 <5EF> 57> 

D54?<74F<<: $47D45>F>4 ?D>5>F=>= 4>>G<5=F4F<< «$5>G?LF<64F<O 75<5?L=>7> GG4EF>4, 

74=OF>7> =5E4=>F<>=<D>64==>= E64?>>= >FE>4>6 (�F>DOF4O ??>M44>4 E 7DG=F>6O< 

?>>DOF<5< 6 7. &>FL<4, <5EF>=4E>645=<5: 12 >< >F 7. &>FL<4 ���' 35:14:0106018:3)». 

$4<<?<O, <<O, >FG5EF6>, F5?5D>= E>FDG4=<>4 - >>=F4>F=>7> ?<F4: �5554564 

�?L74 �?5>E4=4D>6=4, F5?5D>=/D4>E: (81739) 2-26-92. 

%4D4>F5D<EF<>4 F<?4 >5>E=>6O64NM5= 4>>G<5=F4F<<: E>44F4=EF6> 

(�5>?4D4F<O) > =4<5D5=<OE, >5>E=>64=<5 <=65EF<F<=, F5E=<>>-M>>=><<G5E>>5 

>5>E=>64=<5 (?D>5>F), D45>G<= ?D>5>F (GF65D6445<4O G4EFL): D47D45>F>4 ?D>5>F=>= 

4>>G<5=F4F<<. 

�F5=>4 6>745=EF6<O =4 >>DG64NMGN ED54G (���%) 6O?>?=5=4 6 E>EF465 

?D>5>F=>= 4>>G<5=F4F<< ?> >5N5>FG: «$5>G?LF<64F<O 75<5?L=>7> GG4EF>4, 74=OF>7> 

=5E4=>F<>=<D>64==>= E64?>>= >FE>4>6 (�F>DOF4O ??>M44>4 E 7DG=F>6O< ?>>DOF<5< 6 7. 

&>FL<4, <5EF>=4E>645=<5: 12 >< >F 7. &>FL<4 ���' 35:14:0106018:3)».  

$5>G?LF<64F<O 75<5?L ?D54EF46?O5F E>5>= <5D>?D<OF<O ?> ?D54>F6D4M5=<N 

457D444F<< 75<5?L < (<?<) 6>EEF4=>6?5=<N <E ??>4>D>4<O ?>ED54EF6>< ?D<6545=<O 

75<5?L 6 E>EF>O=<5, ?D<7>4=>5 4?O <E <E?>?L7>64=<O 6 E>>F65FEF6<< E F5?56O< 

=47=4G5=<5< < D47D5L5==O< <E?>?L7>64=<5<, 6 F>< G<E?5 ?GF5< GEFD4=5=<O ?>E?54EF6<= 

747DO7=5=<O ?>G6, 6>EEF4=>6?5=<O ??>4>D>4=>7> E?>O ?>G6O, E>744=<O 74M<F=OE ?5E=OE 

=4E4645=<= (?.5 EF.13 �5<5?L=>7> >>45>E4 $$). 

���% ?D>6>4<FEO 6 >F=>L5=<< ??4=<DG5<>= E>7O=EF65==>= < <=>= 45OF5?L=>EF<, 

>>F>D4O <>65F >>474FL ?DO<>5 <?< >>E65==>5 6>745=EF6<5 =4 >>DG64NMGN ED54G, 

=5746<E<<> >F >D74=<74F<>==>-?D46>6OE D>D< E>5EF65==>EF< E>7O=EF6GNM<E EG5N5>F>6 

(?.1 EF.32 $545D4?L=>7> 74>>=4 >F 10.01.2002 7 7-$� «�5 >ED4=5 >>DG64NM5= ED54O»). 

&5?L ?D>6545=<O ���% - MF> 4>EF<65=<5 M>>?>7<G5E>>= 557>?4E=>EF< 

??4=<DG5<>= 45OF5?L=>EF<. 
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� <4F5D<4?4E D4745?4 ?D<6>4OFEO 6O6>4O > E>>F65FEF6<< ?D>5>F<DG5<>7> >5N5>F4 

45=EF6GNM<< =>D<4< ?D<D>4>>ED4==>7> 74>>=>44F5?LEF64, ?>4F65D644NM<5 

M>>?>7<G5E>GN 557>?4E=>EFL =4<5G45<>= 45OF5?L=>EF<. 

�F5=>4 6>745=EF6<O =4 >>DG64NMGN ED54G 6O?>?=5=4 6 E>>F65FEF6<< E 

45=EF6GNM<< 74>>=>44F5?LEF6>< < =>D<4F<6=>-<5F>4<G5E><<< FD55>64=<O<< 6 

>5?4EF< >ED4=O >>DG64NM5= ED54O, E <E?>?L7>64=<5< =>D<4F<6=>-F5E=<G5E>>= < 

E?D46>G=>= ?<F5D4FGDO. �EE>4=O<< 44==O<< 4?O D47D45>F>< ���% O6?ONFEO 

<4F5D<4?O ?D>5>F=>= 4>>G<5=F4F<<, 4 F4>65 D57G?LF4FO <=65=5D=OE <7OE>4=<=. 

�5N5>F ?D>5>F<D>64=<O D4E?>?>65= 6 �>?>7>4E>>= >5?4EF< 6 12 >< >F 7>D>44 

&>FL<4. 'G4EF>> ?D54EF46?O5F E>5>= ?>?<7>= ?> ED4=5=<N F65D4OE >><<G=4?L=OE 

>FE>4>6 E >444EFD>6O< =><5D>< 35:14:0106018:3 < >5M5= ??>M44LN 4,5 74. �D4=<F4 

>5N5>F4 ?D54EF46?5=4 6 6<45 GG4EF>4 =5?D46<?L=>= D>D<O ?D4>F<G5E>< 6 6<45 5G>6O «�» 

ED54=5= L<D<=>= 123 < < ED54=5= 4?<=>= 320 <. � D4<>4E ?D>5>F<D>64=<O 

?D54?>?4745FEO D5>G?LF<64F<O >5N5>F4 D47<5M5=<O >FE>4>6. � 7>EG44DEF65==O= D55EFD 

>5N5>F>6 D47<5M5=<O >FE>4>6 >5N5>F =5 6>?NG5=. �=65=5D=O5 >><<G=<>4F<< =4 GG4EF>5 

?D54EF46?5=O: =4475<=O<< ?<=<O<< M?5>FD>?5D544G 35 >�. 

�57>D=4O >4DF4-EE5<4 D4=>=4 >5N5>F4 ?D>5>F<D>64=<O >F=>E<F5?L=> ?D<?574NM5= 

F5DD<F>D<< ?D54EF46?5=4 =4 D<EG=>5 1.1.  

 

'G4EF>> D5>G?LF<64F<< =5 74FD47<645F >E>5> >ED4=O5<O5 ?D<D>4=O5 F5DD<F>D<< 

D545D4?L=>7>, D57<>=4?L=>7> < <5EF=>7> 7=4G5=<O. 

$<EG=>> 1.1 - �57>D=4O >4DF4-EE5<4 D4=>=4 ?D>5>F<D>64=<O 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�4 D4EE<4FD<645<>< GG4EF>5 <7OE>4=<= =5 =45?N44NFEO E>>F><>7<?L=<><, 

5<>F5D<<G5E><5 O<O, >4DL5DO < 4DG7<5 ?D><OL?5==O5 >5N5>FO. 

�D>5>F<DG5<O= >5N5>F =5 ?5D5E5>45F 6>4=OE >5N5>F>6 < =5 =4E>4<FEO 

6>4>>ED4=>= 7>=5 6>4=OE >5N5>F>6. �EE?54G5<O= 75<5?L=O= GG4EF>> D4E?>?>65= 

?D<<5D=> 6 900 < >F D5>< ,>D5=L74 - 5?<64=L57> 6>4=>7> >5N5>F4. 

�5EF>?>?>65=<5 >5N5>F4 D5>G?LF<64F<< ?D54EF46?5=> =4 D<EG=>5 1.2. 

 

 

 

 

 

 

 

 

 

 

�5N5>F ?D>5>F<D>64=<O D4E?>?>65= =4 75<5?L=>< GG4EF>5 E >444EFD>6O< =><5D>< 

35:14:0106018:3, >4F57>D<O «�5<?< ?D><OL?5==>EF<, M=5D75F<><, FD4=E?>DF4, E6O7<, 

D44<>65M4=<O, F5?56<45=<O, <=D>D<4F<><, 75<?< 4?O >55E?5G5=<O >>E<<G5E>>= 

45OF5?L=>EF<, 75<?< >5>D>=O, 557>?4E=>EF< < 75<?< <=>7> E?5F<4?L=>7> =47=4G5=<O» E 

D47D5L5==O< 6<4>< <E?>?L7>64=<O 3 4?O D47<5M5=<O >F>DOF>= ??>M44>< E 7DG=F>6O< 

?>>DOF<5<. 

&5?L ?D>6545=<O D45>F - EF45<?<74F<O < G?GGL5=<5 M>>?>7<G5E>>= >5EF4=>6>< 

?GF5< E=<65=<O GD>6=O 4=FD>?>75==>7> 6>745=EF6<O =4 >>DG64NMGN ED54G; >55E?5G5=<5 

M>>?>7<G5E>>= 557>?4E=>EF< F5DD<F>D<< < =4E5?5=<O &>F5<E>>7> <G=<F<?4?L=>7> >>DG74. 

�444G5= ?D>5>F4 O6?O5FEO D5>G?LF<64F<O 75<5?L=>7> GG4EF>4 ??>M44LN 4,5 74, 

<E?>?L7>646L<=EO ?>4 =5E4=>F<>=<D>64==GN E64?>G &��, F.5. ?D>6545=<5 >><??5>E4 

D45>F, >>F>DO5 =4?D46?5=O =4 6>EEF4=>6?5=<5 75<5?L 44==>= F5DD<F>D<<, 4 F4>65 

G?GGL5=<5 E>EF>O=<O >>DG64NM5= ED54O. 

�5N5>F <E?>?L7>64?EO 4?O D47<5M5=<O >FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O IV-V 

>?4EE>6 >?4E=>EF<. �4G4?> M>E??G4F4F<< >5N5>F4 - 1984 7>4. �E?>?L7>64=<5 75<5?L=>7> 

GG4EF>4 6 >4G5EF65 >F>DOF>= ??>M44>< E 7DG=F>6O< ?>>DOF<5< 7. &>FL<4 4?O 74E>D>=5=<O 

>FE>4>6 ?D5>D4M5=> E 2019 7>44 =4 >E=>64=<< �D<>474 $>E?D<D>4=447>D4 >F 06.07.2020 7 

$<EG=>> 1.2 3 �5EF>?>?>65=<5 >5N5>F4 D5>G?LF<64F<< 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

782 «�5 <E>?NG5=<< >5N5>F>6 D47<5M5=<O >FE>4>6 <7 7>EG44DEF65==>7> D55EFD4 >5N5>F>6 

D47<5M5=<O >FE>4>6». 

� E>>F65FEF6<< E ?. 7.2 EF. 11 $545D4?L=>7> 74>>=4 >F 23 =>O5DO 1995 7>44 «�5 

M>>?>7<G5E>>= M>E?5DF<75» (D54. >F 01.05.2022) ?D>5>F=4O 4>>G<5=F4F<O 44==>7> >5N5>F4 

?>4?56<F 7>EG44DEF65==>= M>>?>7<G5E>>= M>E?5DF<75 D545D4?L=>7> GD>6=O, F4> >4> 

O6?O5FEO ?D>5>F>< D5>G?LF<64F<< 75<5?L, >>F>DO5 <E?>?L7>64?<EL 4?O D47<5M5=<O 

>FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O, 6 F>< G<E?5,  >>F>DO5 =5 ?D54=47=4G4?<EL 4?O 

D47<5M5=<O >FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

2 ��-�� ��������/ �&���� ������%&��/ �� ��$'��.-'. 

%$��' 

�F5=>4 6>745=EF6<O =4 >>DG64NMGN ED54G ?D>6>4<FEO 4?O D4EE<>FD5=<O 6E5E 

?>E?54EF6<= =4<5G45<>= 45OF5?L=>EF<, ?><E>4 >?F<<4?L=OE ?D>5>F=OE D5L5=<=, 

?D<=OF<O <5D ?> <<=<<<74F<< 6>7<>6=OE 6D54=OE 6>745=EF6<= =4 >>DG64NMGN ED54G, 

6>EEF4=>6?5=<O =4DGL5==OE 6 D57G?LF4F5 E>7O=EF65==>= 45OF5?L=>EF< ?D<D>4=OE E<EF5<, 

E>744=<O 5?47>?D<OF=OE GE?>6<= 4?O 6<7=< =4E5?5=<O. 

�5M<5 FD55>64=<O > >F5=>5 6>745=EF6<O =4 >>DG64NMGN ED54G 

?D54GE<>FD5=O $� 77 «�5 >ED4=5 >>DG64NM5= ED54O», E>7?4E=> >>F>D><G >F5=>4 

6>745=EF6<O =4 >>DG64NMGN ED54G O6?O5FEO 6<4>< 45OF5?L=>EF< ?> 6OO6?5=<N, 4=4?<7G 

< GG5FG ?DO<OE, >>E65==OE < <=OE ?>E?54EF6<= 6>745=EF6<O =4 >>DG64NMGN ED54G 

??4=<DG5<>= E>7O=EF65==>= < <=>= 45OF5?L=>EF< 6 F5?OE ?D<=OF<O D5L5=<O > 

6>7<>6=>EF< <?< =56>7<>6=>EF< 55 >EGM5EF6?5=<O. %>7?4E=> EF. 32 7 7-$� >F 10.01.2002 

«�5 >ED4=5 >>DG64NM5= ED54O», >F5=>4 6>745=EF6<O =4 >>DG64NMGN ED54G ?D>6>4<FEO 6 

>F=>L5=<< ??4=<DG5<>= E>7O=EF65==>= < <=>= 45OF5?L=>EF<, >>F>D4O <>65F >>474FL 

?DO<>5 <?< >>E65==>5 6>745=EF6<5 =4 >>DG64NMGN ED54G, =5746<E<<> >F 

>D74=<74F<>==>-?D46>6OE D>D< E>5EF65==>EF< EG5N5>F>6 E>7O=EF65==>= 

45OF5?L=>EF<. 

�5D5G5=L =>D<4F<6=>-<5F>4<G5E><E <4F5D<4?>6, >>F>DO= 5O? <E?>?L7>64= ?D< 

6O?>?=5=<< ���%, ?D<6545= 6 E?<E>5 ?<F5D4FGDO. 

2.1 �D<=F<?O ���%  

$45>FO ?> >F5=>5 6>745=EF6<O =4 >>DG64NMGN ED54G ?D>5>F4 4>?6=O 

>EGM5EF6?OFLEO 6 E>>F65FEF6<< E> E?54GNM<<< ?D<=F<?4<<: 

1. <=F57D4F<O (D4EE<>FD5=<5 6> 674<<>E6O7<) F5E=>?>7<G5E><E, F5E=<G5E><E, 

E>F<4?L=OE, ?D<D>4>>ED4==OE,  M>>=><<G5E><E  <  4DG7<E ?>>474F5?5= ?D>5>F=OE 

?D54?>65=<=; 

2.  4?LF5D=4F<6=>EFL ?D>5>F=OE D5L5=<=, D>D<<D>64=<5 =>6OE 64D<4=F>6; 

3. ?D<<5=5=<5 ���% 6 >4G5EF65 <=EFDG<5=F4 D>D<<D>64=<O D5L5=<= =4 E4<OE 

D4==<E MF4?4E ?D>5>F<D>64=<O; 

4. 4>EFG?=>EFL <=D>D<4F<< ?> ?D>5>F=O< D5L5=<O< 4?O  >5M5EF65==>EF< =4 

E4<>= D4==5= EF44<< D4EE<>FD5=<O ?D>5>F4; 

5. >F65FEF65==>EFL 74>47G<>4 (<=<F<4F>D4) 45OF5?L=>EF< 74 ?>E?54EF6<O 

D54?<74F<< ?D>5>F=OE D5L5=<=.  
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

2.2 -F4?O ?D>6545=<O ���% 

�?O D>D<<D>64=<O <4F5D<4?>6 >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G 

?D>6>4OFEO E?54GNM<5 MF4?O: 

1. G654><?5=<5 > =4<5G45<>= 45OF5?L=>EF< 74<=F5D5E>64==>= >5M5EF65==>EF< < 6 

>D74=O 6?4EF<, ?D5464D<F5?L=4O >F5=>4 6>745=EF6<O < E>EF46?5=<5 F5E=<G5E>>7> 7444=<O 

=4 ?D>6545=<5 >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G (6 E?GG45 ?D<=OF<O F4>>7> 

D5L5=<O 74>47G<>><); 

2. ?D>6545=<5 <EE?54>64=<= ?> >F5=>5 6>745=EF6<O =4 >>DG64NMGN ED54G < 

?>47>F>6>4 ?D5464D<F5?L=>7> 64D<4=F4 <4F5D<4?>6 ?> >F5=>5 6>745=EF6<O =4 

>>DG64NMGN ED54G; 

3. ?>47>F>6>4 >>>=G4F5?L=>7> 64D<4=F4 <4F5D<4?>6 ?> >F5=>5 6>745=EF6<O =4 

>>DG64NMGN ED54G 

2.3 �E=>6=O5 6<4O 6>745=EF6<O D45>F ?> D5>G?LF<64F<< 

%>7?4E=> ? 5. EF.13 �5<5?L=>7> >>45>E4 $$ D5>G?LF<64F<O 75<5?L ?D54EF46?O5F 

E>5>= <5D>?D<OF<O ?> ?D54>F6D4M5=<N 457D444F<< 75<5?L < (<?<) 6>EEF4=>6?5=<N <E 

??>4>D>4<O ?>ED54EF6>< ?D<6545=<O 75<5?L 6 E>EF>O=<5, ?D<7>4=>5 4?O <E <E?>?L7>64=<O 

6 E>>F65FEF6<< E F5?56O< =47=4G5=<5< < D47D5L5==O< <E?>?L7>64=<5<, 6 F>< G<E?5 

?GF5< GEFD4=5=<O ?>E?54EF6<= 747DO7=5=<O ?>G6, 6>EEF4=>6?5=<O ??>4>D>4=>7> E?>O 

?>G6O, E>744=<O 74M<F=OE ?5E=OE =4E4645=<=. 

� E>>F65FEF6<< E  ��%& $ 59070-2020 «�ED4=4 >>DG64NM5= ED54O. $5>G?LF<64F<O 

=4DGL5==OE < =5DF5747DO7=5==OE 75<5?L. &5D<<=O < >?D545?5=<O» =4DGL5==O5 75<?< - 

75<?<, 457D444F<O >>F>DOE ?D<65?4 > =56>7<>6=>EF< <E <E?>?L7>64=<O 6 E>>F65FEF6<< E 

F5?56O< =47=4G5=<5< < D47D5L5==O< <E?>?L7>64=<5<, GFD4F<6L<5 ?5D6>=4G4?L=>5 

>4G5EF65==>5 E>EF>O=<5 6 D57G?LF4F5 E>7O=EF65==>= <?< <=>= 45OF5?L=>EF<, 4 F4>65 

GD576OG4==OE E<FG4F<= ?D<D>4=>7> <?< F5E=>75==>7> E4D4>F5D4, =G644NM<5EO 6 

6>EEF4=>6?5=<< (D5>G?LF<64F<<) 6 E>>F65FEF6<< E F5?56O< =47=4G5=<5< < D47D5L5==O< 

<E?>?L7>64=<5<. 

&4><< >5D47><, D5>G?LF<64F<O =4DGL5==OE 75<5?L E?G6<F >><??5>E>< 

<5D>?D<OF<=, E?>E>5EF6GNM<E GEFD4=5=<N =574F<6=>7> 6?<O=<O F>7> <?< <=>7> 

>5N5>F4 E>7O=EF65==>= 45OF5?L=>EF< =4 >>DG64NMGN ED54G, F> 5EFL O6?O5FEO 

?D<D>4>>ED4==O< <5D>?D<OF<5<, >>F>D>5 >55E?5G<645F >74>D>6?5=<5 >>DG64NM5= 

ED54O < >>47O645F ?>?>6<F5?L=>5 6>745=EF6<5 =4 >><?>=5=FO >>DG64NM5= 

ED54O. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�574F<6=>5 6>745=EF6<5 =4 >>DG64NMGN ED54G ?D>O6?O5FEO 6 ?D>F5EE5 

?D><76>4EF64 D45>F ?> D5>G?LF<64F<< ?D< D45>F5 F5E=<>< =4 ??>M44>5 < 

46<65=<< 46F>FD4=E?>DF4, ?5D5EO?>5 EO?GG<E <4F5D<4?>6. �>745=EF6<5 =>E<F 

6D5<5==O= E4D4>F5D < ?D><EE>4<F F>?L>> 6 ?5D<>4 ?D><76>4EF64 D45>F ?> 

D5>G?LF<64F<< 75<5?L. 

�E=>6=O<< 6<44<< =574F<6=>7> 6>745=EF6<O =4 >>DG64NMGN ED54G ?D< 

?D>6545=<< D45>F O6?ONFEO:  

- 747DO7=5=<O 4F<>ED5D=>7> 6>74GE4 6O5D>E4<< 747DO7=ONM<E 65M5EF6 >F F5E=<><, 

46F>FD4=E?>DF4 < ?O?5=<O ?D< ?D>6545=<< D477DG7>G=OE < ??4=<D>6>G=OE D45>F;  

- D4E?D>EFD4=5=<5 LG<4 >F F5E=>?>7<G5E>>7> >5>DG4>64=<O; 

- 6>745=EF6<5 =4 ?>G6O < 75<?< ?GF5< 6D5<5==>7> =4>>??5=<O >FE>4>6 =4 

??>M44>5 >F D45>FO 75=?>4DO4=>= >D74=<74F<< 6 ?5D<>4 ?D><76>4EF64 D45>F; 

- ?>6OL5==>5 ?O?5>5D47>64=<5 ?D< ?D>6545=<< 75<?O=OE < ??4=<D>6>G=OE D45>F;  

- <5E4=<G5E>>5 6>745=EF6<5 =4 ?>G6>-7DG=FO, >5GE?>6?5==>5 6O5<>>=, 

?5D5<5M5=<5< < >FEO?>>= 7DG=F4, GEFD>=EF6>< >>F?>64=4, 7>D<7>=F4?L=>= < 

65DF<>4?L=>= ??4=<D>6>>= F5DD<F>D<<. 

2.4 �E=>6=O5 7444G< ���% 

� ?5D5G5=L >E=>6=OE 7444G ���% 6E>4OF: 

1. %5>D < 4=4?<7 <=D>D<4F<< > F5>GM5< E>EF>O=<< >>DG64NM5= ED54O 6 D4=>=5 

=4<5G45<>= 45OF5?L=>EF<. 

2. �F5=>4 E>EF>O=<O >>DG64NM5= ED54O 4> D54?<74F<< ?D>5>F=OE D5L5=<=, F.5. 

>?D545?5=<5 55 <EE>4=OE (D>=>6OE) E4D4>F5D<EF<> < ?4D4<5FD>6 >><?>=5=F>6, >>F>DO5 

<>7GF 5OFL 74FD>=GFO 6 ?D>F5EE5 =4<5G45<>= 45OF5?L=>EF<. �E=>6=O< <5F>4>< 

?>?GG5=<O >F5=>< O6?ONFEO ?D>6545=<5 <=65=5D=>-M>>?>7<G5E><E <7OE>4=<= < 

>><??5>E4 ?45>D4F>D=OE <EE?54>64=<=. 

3. �OO6?5=<5 >E=>6=OE D4>F>D>6 < 6<4>6 6D54=>7> 6>745=EF6<O 6 E6O7< E 

D54?<74F<5= ??4=<DG5<>= 45OF5?L=>EF<. 

4. �?D545?5=<5 < >5>E=>64=<5 ?D<D>4>>ED4==OE <5D>?D<OF<=, =4?D46?5==OE =4 

E<O7G5=<5 6>745=EF6<= < 74M<FG D47?<G=OE >><?>=5=F>6 >>DG64NM5= ED54O 6 E>45 

D54?<74F<< =4<5G45<>= 45OF5?L=>EF<. 

5. $47D45>F>4 D5>><5=44F<= < <5D>?D<OF<= ?> >7D4=<G5=<N <?< =5=FD4?<74F<< 

6E5E >E=>6=OE 6<4>6 6>745=EF6<O; 6OO6?5=<5 < ?D<=OF<5 =5>5E>4<<OE < 4>EF4F>G=OE <5D 

?> ?D54G?D5645=<N 6>7<>6=OE =5?D<5<?5<OE 4?O >5M5EF64 ?>F5DL M>>?>7<G5E>>7>, 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

M>>=><<G5E>>7> < E>F<4?L=>7> E4D4>F5D4, E6O74==OE E =4<5G45<>= E>7O=EF65==>= 

45OF5?L=>EFLN. 

6. �5EG645=<5 E >5M5EF65==>EFLN ?D>5>F=OE D5L5=<=, GG5F 74<5G4=<= < 

?D54?>65=<= >5M5EF65==>EF<. 

 



14 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

10 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

3 &��, � ��&$����%&, ����'����� ��/&��,��%&� 

�D>5>F>< ?D54GE<4FD<645FEO D5>G?LF<64F<O 75<5?L=>7> GG4EF>4 E >444EFD>6O< 

=><5D>< 35:14:0106018:3, 74=OF>7> =5E4=>F<>=<D>64==>= E64?>>= >FE>4>6 < 

D4E?>?>65==>7> =4 F5DD<F>D<< &>F5<E>>7> <G=<F<?4?L=>7> >>DG74 6 12 >< >F 7. &>FL<4. 

� D57G?LF4F5 <=>7>?5F=57> <E?>?L7>64=<O ??>M44>4 EF4?4 ?D54EF46?OFL E>5>= 

F5DD<F>D<N, >>F>D4O O6?O5FEO F5E=>75==>= E<EF5<>=. � >>=5G=>< <F>75 MF> ?D<65?> > 

>5D47>64=<N < =4>>??5=<N >FE>4>6. 

�5NU< =4>>??5==OE >FE>4>6 ?D54EF46?O5F G7D>7G 4?O 6<7=< < 74>D>6LO =4E5?5=<O, 

O6?OOEL <EF>G=<>>< 747DO7=5=<O 4F<>ED5DO, 6 D57G?LF4F5 G57> FD55G5FEO D5>G?LF<64F<O 

E64?><. 

&5?L D45>FO 3 >?D545?5=<5 6>7<>6=>7> 6>745=EF6<O >5N5>F4 =4 >><?>=5=FO 

>>DG64NM5= ED54O: 4F<>ED5D=O= 6>74GE, ?>65DE=>EF=O5 < ?>475<=O5 6>4O, 75<5?L=O5 

D5EGDEO, ?>G65==O= ?>>D>6, D4EF<F5?L=O= < 6<6>F=O= <<D, 6?<O=<5 >FE>4>6 

D47<5M45<>7> >5N5>F4 =4 75<5?L=O5 G7>4LO < ?>G65==O= ?>>D>6 4?O ?D<=OF<O D5L5=<O > 

4>?GEF<<>EF< D54?<74F<< ?D>5>F4 =4 >5>7=4G5==>= F5DD<F>D<< E F5?LN >?D545?5=<O 

6>7<>6=OE =55?47>?D<OF=OE 6>745=EF6<=, 4 F4>65 GG5F4 <=5=<O >5M5EF65==>EF<.  

&D55>64=<O < GE?>6<O > D47D45>F>5 ?D<D>4>>ED4==OE <5D < <5D>?D<OF<= 

>5GE?>6?5=O ?5E>E>7O=EF65==O< =4?D46?5=<5< D5>G?LF<64F<< >5N5>F4. �4<5G45<4O 

45OF5?L=>EFL ?D54GE<4FD<645F E>5>= D5>G?LF<64F<N =5E4=>F<>=<D>64==>= E64?>< 

??>M44LN 4,5 74 4?O 4>?7>6D5<5==>7> <E?>?L7>64=<O 75<5?L ?>4 ED54>74M<F=O5 75?5=O5 

=4E4645=<O. 

�>FD55=>EFL =4<5G45<>= 45OF5?L=>EF< D5>G?LF<64F<O E64?>< >FE>4>6 >5NOE=O5FEO 

=5>5E>4<<>EFLN EF45<?<74F<< < G?GGL5=<O M>>?>7<G5E>>= >5EF4=>6>< ?GF5< E=<65=<O 

GD>6=O 4=FD>?>75==>7> 6>745=EF6<O =4 >>DG64NMGN ED54G, 4 F4>65 >55E?5G5=<O 

M>>?>7<G5E>>= 557>?4E=>EF< F5DD<F>D<< < =4E5?5=<O &>F5<E>>7> <G=<F<?4?L=>7> >>DG74. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

4 ���%���� ��,&�$��&���/% ��$���&�� ��%&�����/ &��� 

����'����� %��/�%&������ � ���� ��/&��,��%&�, ���.'�/ 

�$��������/� � "�'����� ��$���&" (>F>47 >F 45OF5?L=>EF<) 

� E>>F65FEF6<< E ?D<>47>< �<=?D>4O $>EE<=E>>= $545D4F<< >F 01.12.2020 

7999 «�5 GF65D645=<< FD55>64=<= > <4F5D<4?4< >F5=>< 6>745=EF6<O =4 >>DG64NMGN 

ED54G» D4EE<4FD<64NFEO 64D<4=FO 4>EF<65=<O F5?< =4<5G45<>= E>7O=EF65==>= 

45OF5?L=>EF<, 4 F4>65 «=G?56>= 64D<4=F» (>F>47 >F 45OF5?L=>EF<). 

&5?L D4EE<>FD5=<O 4?LF5D=4F<6=OE 64D<4=F>6 6 ?D>F5EE5 M>>?>7<G5E>>= >F5=>< 

E>EF><F 6 F><, GF>5O E45?4FL 4=4?<7 < ED46=5=<5 D57G?LF4F>6 E<EF5<4F<G5E><< < 

4>EFG?=O< 4?O 74<=F5D5E>64==OE EF>D>=, 4 F4>65 >55E?5G<FL GG5F M>>?>7<G5E><E 

>D<F5D<56 ?D< 6O5>D5 >?F<<4?L=>7> 64D<4=F4. 

�4D<4=F >F>474 >F =4<5G45<>= 45OF5?L=>EF< («=G?56>= 64D<4=F») 

�?46=>= F5?LN D5>G?LF<64F<< GG4EF>4 O6?O5FEO ?D54>F6D4M5=<5 6>7<>6=>7> 

=574F<6=>7> 6>745=EF6<O >5N5>F4 =4 >>DG64NMGN ED54G ?>E?5 >>>=G4=<O ED>>4 57> 

M>E??G4F4F<<, 4 F4>65 6>76D4F 44==>= F5DD<F>D<< 6 >>DG64NMGN M>>E<EF5<G. 

� >4G5EF65 >4=>7> <7 64D<4=F>6 D4EE<4FD<645FEO «=G?56>= 64D<4=F», F.5. ?>?=O= 

>F>47 >F D54?<74F<< 44==>7> ?D>5>F4. 

&4>, >F>47 >F D5>G?LF<64F<< E64?><, GF> ?>6?5GUF 74 E>5>= =4DGL5=<5 FD55>64=<= 

EF.51 $545D4?L=>7> 74>>=4 >F 10.01.2002 7 7-$� «�5 >ED4=5 >>DG64NM5= ED54O» EF.3,12 

$545D4?L=O= 74>>= «�5 >FE>44E ?D><76>4EF64 < ?>FD55?5=<O» >F 24.06.1998 7 89-$�. 

$54?<74F<O «=G?56>7> 64D<4=F4» (>F>47 >F =4<5G45<>= 45OF5?L=>EF<) ?> 

D5>G?LF<64F<< 75<5?L, 74=OFOE =5E4=>F<>=<D>64==>= E64?>>= >FE>4>6, ?>6?5G5F 74 E>5>= 

7=4G<F5?L=O5 =574F<6=O5 ?>E?54EF6<O 4?O >>DG64NM5= ED54O, 5G45F ?D>4>?64FLEO 

=574F<6=>5 6>745=EF6<5 =4 >>DG64NMGN ED54G ?>?<7>=4 ?>ED54EF6>< ?>EFG??5=<O 6 

7DG=F>6O5 6>4O D<?LFD4F4, ?>EFG??5=<O 6 4F<>ED5DG E64?>G=>7> 7474, D4E?D>EFD4=5=<O 

?57><E DD4>F<= >FE>4>6. �F>47 >F E>>DG65=<O ?5D5>DOF<O F5?4 ?>?<7>=4 EF4=5F ?D<G<=>= 

?>?444=<O 4F<>ED5D=OE >E44>>6 6 F5?> ?>?<7>=4, GF> ?>E?G6<F <EF>G=<>>< 4?O 

44?L=5=L57> >5D47>64=<O D<?LFD4F4 < 57> <<7D4F<< 6 ?>65DE=>EF=O5 < ?>475<=O5 6>4O.  

�D< >F>475 >F E>744=<O 74??4=<D>64==>= E<EF5<O E5>D4 < >G<EF>< D<?LFD4F4 

<>65F G65?<G<FLEO ?>EFG??5=<5 D<?LFD4F4 6 E>?D545?L=O5 ED54O ?> <5D5 D47?>65=<O 6 

F5?5 ?>?<7>=4 =4>>??5==>= <4EEO >FE>4>6. 

�><<<> MF>7>, >F>47 >F E>>DG65=<O E<EF5<O 457474F<< <>65F ?D<65EF< > E>744=<N 

?>64D>>?4E=OE < 464D<==OE E<FG4F<=, E6O74==OE E 6OE>44<< E64?>G=>7> 7474 ?> 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

FD5M<=4< <7 F5?4 ?>?<7>=4 <?< <4EE>6O< 6O5D>E>< 5<>7474 ?D< 57> >D<F<G5E>>< 

=4>>??5=<< 6 F5?5 ?>?<7>=4.  

�D< >F>475 >F D45>F ?> ?D>6545=<N D5>G?LF<64F<< E64?>< 5G4GF ?D><EE>4<FL 

E?54GNM<5 O6?5=<O: 

- ?5D<>4<G5E><5 6>77>D4=<O < F?5=<5 E64?>G=OE <4EE; 

- 6O5D>E 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE ?D< E4<>6>77>D4=<< 

GG4EF>>6 E64?><, 4 F4>65 74?4E >F 5<>F5D<<G5E>>7> 4=4MD>5=>7> ?D>F5EE4 D4E?444 

>FE>4>6. &4>, ?D< 7>D5=<< ??4EF<4EEO 6 6>74GE 6O45?ONFEO E?54GNM<5 65M5EF64: 

D>D<4?L457<4, G>EGE=4O ><E?>F4, 4F5F4?L457<4, >>E<4 G7?5D>44, 4<>>E<=O. �<>>E<=O 

>5?444NF <>M=O< <GF475==O<, <<<G=>45?D5EE4=F=O<, >4=F5D>75==O< 45=EF6<5<. �D< 

E6<74=<< ?>D>?>=4, >>F>DO= ?D<<5=O5FEO 4?O <77>F>6?5=<O <555?<, 6 4F<>ED5DG 

?>EFG?4NF O4>6<FO5 747O, E>45D64M<5 F<4=<EFO5 E>54<=5=<O. �>DOM4O D57<=4 445F 

??>F=O= G5D=O= 6<D=O= 4O<, >>F>DO= E>45D6<F E5D>6>4>D>4 < 46G>><EL E5DO. � 

D57G?LF4F5 7=<5=<O >EF46L57>EO 6 75<?5 <GE>D4 >5D47GNFEO E5D>6>4>D>4 < <5F4=, >>F>DO5 

FDG4=> >5=4DG6<FL, F4> >4> >=< =5 <<55F F65F4 < 74?4E4. �O45?ONM<5EO 747O O6?ONFEO 

O4>6<FO<< < >?4E=O 4?O 74>D>6LO =4E5?5=<O; 

- D4E?D>EFD4=5=<5 ?> ?D<?574NM5= > E64?>5 F5DD<F>D<< ?57><E DD4>F<= >FE>4>6 

(?/M <5L>< < 5G<474) < >4> E?54EF6<5 3 747DO7=5=<5; 

- D4E?D>EFD4=5=<5 D47=>EG<>>6 (=4E5>><OE, 7DO7G=>6) F4><E >?4E=OE 745>?564=<=, 

>4> E<5<DE>4O O764, 55L5=EF6>, GG<4, 5DNL=>= F<D < <=>7<E 4DG7<E.  

&4><< >5D47><, ?D>6545=<5 <5D>?D<OF<= ?> D5>G?LF<64F<< E64?>< F65D4OE 

5OF>6OE >FE>4>6 O6?O5FEO =5>5E>4<<>= < 45=EF65==>= <5D>= ?> E>5?N45=<N 

?D<D>4>>ED4==>7> 74>>=>44F5?LEF64. 

�?LF5D=4F<6=O= 64D<4=F D54?<74F<< =4<5G45<>= 45OF5?L=>EF<  

�4D<4=F 74>?NG45FEO 6 ?>?=>< 6O6>75 >5N5<4 >FE>4>6 =4 EGM5EF6GNM<5 ?>?<7>=O 

D47<5M5=<O >FE>4>6, 6>?NGU==OE 6 7>EG44DEF65==O= D55EFD >5N5>F>6 D47<5M5=<O 

>FE>4>6. �>?<G5EF6> =4>>??5==OE >FE>4>6, E>7?4E=> ?D>6545==O< <=65=5D=O< 

<7OE>4=<O<, E>EF46?O5F 155 586 <3. �?4EE >?4E=>EF< D47<5M45<OE >FE>4>6 3 IV < V. 

�?NEO:  

- >E6>5>645=<5 F5DD<F>D<< >F =4>>??5==OE E64?>G=OE <4EE; 

- ?D>EF>F4 D54?<74F<<. 

�<=GEO:  

- 6O45?5=<5 747DO7=ONM<E 65M5EF6 ?D< 6O6>75 >FE>4>6;  

- <EF>M5=<5 ?D>5>F=OE <>M=>EF5= EGM5EF6GNM<E ?>?<7>=>6. � D4<>4E 

?D>D45>F>< 4?LF5D=4F<6=OE D5L5=<= 5O?< ED>D<<D>64=O >5D4M5=<O =4 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

?<F5=7<D>64==O5 ?>?<7>=O. �EE>4O <7 ?>?GG5==OE >F65F>6, G ?>?<7>=>6 =5F 

6>7<>6=>EF< ?> ?D<5<G >FE>4>6 >F =5E4=>F<>=<D>64==>= E64?>< (?<EL<> ��� «&4D=>74-

�<?�><E5D6<E» < �'� «��' 7.�<>>?LE>4» ?D54EF46?5=> 6 ?D<?>65=<< 14);  

- ?D< FD4=E?>DF<D>64=<< E64?>G=OE <4EE, 6>7<>6=O 464D<==O5 E<FG4F<<, D47?UF 

DD4>F<= >FE>4>6 <7 >G7>6>6 46F>FD4=E?>DF4 

�O6>7 6E57> >>?<G5EF64 >FE>4>6 =4 E4=>F<>=<D>64==O= ?>?<7>= ?>FD55G5F 

4>?>?=<F5?L=OE D5EGDE>6 F5E=<G5E>>7> E4D4>F5D4 < 4>?>?=<F5?L=>= D45>G5= E<?O. �D< 

44==>< 64D<4=F5 6>7D4EF45F E<5F=4O EF><<>EFL 6 E6O7< E =4?<G<5< M>>?>7<G5E><E 

??4F565= 74 D47<5M5=<5 >FE>4>6, GF> ?D<6545F > 7=4G<F5?L=><G ?>6OL5=<N E<5F=>= 

EF><<>EF< D45>F ?> D5>G?LF<64F<<. 

�><<<> MF>7>, D47<5M5=<5 >FE>4>6 =4 ?<F5=7<D>64==>< ?>?<7>=5 ?D<6545F > 

=574??4=<D>64==>= 4>?>?=<F5?L=>= =47DG7>5. 

�E=>6=O5 ?D>5>F=O5 D5L5=<O 

$5L5=<O ?> <=65=5D=>= ?>47>F>6>5 F5DD<F>D<< 6 D4<>4E =4EF>OM57> ?D>5>F4 

?D54GE<4FD<64NF D5>G?LF<64F<N F5DD<F>D<<, 74=OF>= =5E4=>F<>=<D>64==>= E64?>>= 

F65D4OE >><<G=4?L=OE >FE>4>6,  6 464 MF4?4 - F5E=<G5E><= < 5<>?>7<G5E><=. 

�4 MF4?5 F5E=<G5E>>= D5>G?LF<64F<< ?D54GE<>FD5=>: 

- ED57>4 =4EO?=>7> 7DG=F4 - ��--14; 

- E>>DG65=<5 6>4>=5?D>=<F45<>7> M>D4=4 <7 75><5<5D4=O, G?>65==>7> 6 1 E?>=, E> 

E64D>>= L6>6 6 7D4=<F4E D>D<<DG5<>7> F5DD<>>=4; 

- ?5D5<5M5=<5 ED574==>7> =4EO?=>7> 7DG=F4 ��--14 6 F5=FD4?L=GN G4EFL 

EGM5EF6GNM5= =5E4=>F<>=<D>64==>= E64?>< 4?O D>D<<D>64=<O F5DD<>>=4 >?F<<4?L=>= 

75><5FD<G5E>>= D>D<O, E ?>E?>==O< G??>F=5=<5< ?5D5<5M5==>7> =4EO?=>7> 7DG=F4, 

E>744=<5< G>?>=4 ?>65DE=>EF< F5DD<>>=4 60, < 74?>65=<5< G>?>=4 >F>>E>6 1:4; 

- GEFD>=EF6> E<EF5<O ?4EE<6=>= 457474F<< 6 6<45 65DF<>4?L=OE 747>6O?GE>=OE 

E>646<= 6 F5?5 ED>D<<D>64==>7> F5DD<>>=4; 

- E>>DG65=<5 74M<F=>7> M>D4=4 ?>65DE ED>D<<D>64==>7> F5DD<>>=4; 

- E>>DG65=<5 4D5=46=>= E5F< ?> ?5D<<5FDG F5DD<>>=4, =4 D4EEF>O=<< 2 < >F 

?>4>L6O >F>>E4 E G>?>=>< 6 EF>D>=G 4>>G<G?<DGNM57> ?DG44; 

- E>>DG65=<5 4>>G<G?<DGNM57> ?DG44; 

- E>>DG65=<5 D476>D>F=>= ??>M44>< <7 6.5. ??<F 65?<7< 4>>G<G?<DGNM57> ?DG44. 

�?O E5>D4 4D5=46=OE EF>G=OE 6>4 (4F<>ED5D=OE >E44>>6, 4 F4>65 

?D>D<?LFD>646L<EEO G5D57 F>?MG >FE>4>6) ?D54GE<4FD<64NFEO 6>4>>F6>4=O5 >4=46O E 

?DG4><-=4>>?<F5?5<. �?O ?D54G?D5645=<O ?>?444=<O ?>65DE=>EF=OE 6>4 6 F5?> ?>?<7>=4, 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

?D>5>F>< ?D54GE<>FD5=> GEFD>=EF6> 74M<F=>7> (?D>F<6>D<?LFD4F<>==>7>) M>D4=4 E 

<E?>?L7>64=<5< 75>E<=F5F<G5E><E <4F5D<4?>6. 

�>E?5 ?5D5>DOF<O 6E57> >5N5>F4 D47<5M5=<O 6>4>=5?D>=<F45<O< M>D4=>< ?<F4=<5 

44==>7> 6>4>=>E=>7> 7>D<7>=F4 5G45F ?D5>D4M5=>, E?54>64F5?L=>, 74 

?>EFD5>G?LF<64F<>==O= ?5D<>4 4D5=46=O5 6>4O E F5?4 >5N5>F4 5G4GF E>5D4=O. 

�4 MF4?5 5<>?>7<G5E>>= D5>G?LF<64F<< ?D54GE<>FD5=> E>744=<5 D4EF<F5?L=>7> 

E?>O ?> >D>6?5 < >F>>E4< F5DD<>>=4 E ?>E56>< <=>7>?5F=<E FD46. 

$5>G?LF<64F<N >5N5>F4 ?D>6>4OF ?> >>>=G4=<< ?D>F5EE4 EF45<?<74F<< 74>DOF>7> 

?>?<7>=4, F.5. ?>E?5 ?D>F5EE4 G?D>G=5=<O E64?>G=OE <4EE < 4>EF<65=<O <<< ?>EF>O==>7> 

GEF>=G<6>7> ?>?>65=<O.  

%D>> EF45<?<74F<< ?>?<7>=4 746<E<F >F E>EF464 >FE>4>6, 6<44 D5>G?LF<64F<< < 

>?<<4F<G5E>>= 7>=O. %>7?4E=> F45?. 3.1 «�=EFDG>F<< ?> ?D>5>F<D>64=<N, M>E??G4F4F<< < 

D5>G?LF<64F<< ?>?<7>=>6 &��» 74>DOFO= >5N5>F D47<5M5=<O >FE>4>6 4>EF<7=5F 

GEF>=G<6>7> E>EF>O=<O 6 F5G5=<5 2-E ?5F. 

�> 6D5<O ED>>4 EF45<?<74F<< =5>5E>4<<> 5G45F 746>7<FL 7DG=F 4?O 74EO?>< 

>5D47>646L<EEO ?D>64?>6 (>FE>4O =4 >5N5>F =5 6O6>7OFEO). 

�?O G<5=LL5=<O =574F<6=>7> 6?<O=<O >5N5>F4 D47<5M5=<O >FE>4>6 =4 

>>DG64NMGN ?D<D>4=GN ED54G ED47G ?>E?5 EF45<?<74F<< >5N5>F D5>G?LF<6<DG5FEO. 

� ?D>5>F=>= 4>>G<5=F4F<< ?D54?4745FEO ?5E>E>7O=EF65==>5 =4?D46?5=<5 

D5>G?LF<64F<< >5N5>F4 D47<5M5=<O >FE>4>6, F.5. ?>E44>4 =4 =4DGL5==OE >5N5>F>< 75<?OE 

<=>7>?5F=<E FD46 < >GEF4D=<>>6. 

�4==O= 64D<4=F D54?<74F<< =4<5G45<>= 45OF5?L=>EF< ?>76>?O5F E65EF< > 

<<=<<G<G >5N5<O D45>F, FDG4>6OE D5EGDE>6 < ?D<<5=O5<OE <4L<= < <5E4=<7<>6.  

&4><< >5D47><, ?D>5>F=>5 D5L5=<5 ?>=5EUF 74 E>5>=:  

- E=<65=<5 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE 6D54=OE 

747DO7=ONM<E 65M5EF6, 4 F4>65 74?4E4 >F 5<>F5D<<G5E>>7> 4=4MD>5=>7> ?D>F5EE4 D4E?444 

>D74=<G5E>>= E>EF46?ONM5= >FE>4>6;  

- <E>?NG5=<5 E>>??5=<O ?F<F, =5 <<5NM<E >E>F=<GL5= F5==>EF<, =4E5>><OE, 

7DO7G=>6 >4> D47=>EG<>>6 >?4E=OE 745>?564=<=;  

- <E>?NG5=<5 747DO7=5=<O ?>G6, 7DG=F>6, ?>475<=OE 6>4;  

- 6OE>>4O <7>?<DGNM4O E?>E>5=>EFL;  

- <E>?NG5=<5 D47?UF4 ?57><E DD4>F<= >FE>4>6 6 D4=>=5 E64?><. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

5 ���%���� �������/% ����� ������%&��/ �� ��$'��.-'. 

%$��' ����'����� %��/�%&������ � ���� ��/&��,��%&� 

� E>45 ?D>6545=<O EFD><F5?L=OE D45>F 6<4O < <4ELF45O 6>745=EF6<= =4 

?D<D>4=GN ED54G >?D545?ONFEO <=F5=E<6=>EFLN < >5N5<4<< <=65=5D=>-EFD><F5?L=OE < 

FD4=E?>DF=OE >?5D4F<=. 

� >4G5EF65 >E=>6=OE 6<4>6 6>745=EF6<=, =4<5>?55 <=F5=E<6=> ?D>O6?ONM<EEO ?D< 

?N5>< F<?5 EFD><F5?L=OE D45>F, <>6=> 6O45?<FL: 

ý =4DGL5=<O F5?>EF=>EF< 75>?>7<G5E>>= ED54O, 7<4D>75>?>7<G5E>>7> D56<<4 

F5DD<F>D<< EFD><F5?LEF64 < GE?>6<= D476<F<O >?4E=OE M>7>75==OE 75>?>7<G5E><E 

?D>F5EE>6; 

ý <5E4=<G5E><5 =4DGL5=<O F5?>EF=>EF< ?>G65==>-D4EF<F5?L=>7> ?>>D>64; 

ý 747DO7=5=<5 4F<>ED5D=>7> 6>74GE4 6O5D>E4<< 747DO7=ONM<E 65M5EF6 ?D< 

D45>F5 EFD><F5?L=OE <4L<= < <5E4=<7<>6 <, >4> E?54EF6<5, 747DO7=5=<5 ?>G6 < 

D4EF<F5?L=>EF<; 

ý 747DO7=5=<5 ?>G65==>7> < D4EF<F5?L=>7> ?>>D>64, ?>65DE=>EF=OE < ?>475<=OE 

6>4, 7DG=F>6, ?<6=56O<<, EF>>4<< E> EFD><F5?L=OE ??>M44>>, E?GG4==O<< ?D>?<64<< 

=5DF5?D>4G>F>6 < �%� < F.?.; 

ý ?>6OL5=<5 GD>6=5= LG<4 < 6<5D4F<< ?D< D45>F5 EFD><F5?L=>= F5E=<><. 

� >E=>6=O< 747DO7=ONM<< 65M5EF64<, ?>EFG?4NM<< 6 >>DG64NMGN ED54G ?D< 

EFD><F5?L=OE D45>F4E, >F=>EOFEO: 6765L5==O5 65M5EF64, E>54<=5=<O 65?574 < FO65?OE 

<5F4??>6 < =5DF5?D>4G>FO. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

6 ���%���� ��$'��.-�� %$��/, ��&�$�/ ����& �/&, ��&$��'&� 

����'����� %��/�%&������ � ���� ��/&��,��%&,. � 

$��'�,&�&� �� $������&�� 

� 44==>< D4745?5 ?D54EF46?5=4 <=D>D<4F<O ?> EGM5EF6GNM5<G E>EF>O=<N 

>><?>=5=F>6 >>DG64NM5= ED54O, >>F>DO5 <>7GF 5OFL 74FD>=GFO ?D< D54?<74F<< 

=4<5G45<>= 45OF5?L=>EF< < ?D<6545=4 >F5=>4 6>7<>6=>EF< 4>?>?=<F5?L=>7> G65?<G5=<O 

6>745=EF6<O =4 =<E.  

6.1 �F5=>4 EGM5EF6GNM57> E>EF>O=<O 4F<>ED5D=>7> 6>74GE4 

�> 44==O< <=65=5D=>-M>>?>7<G5E><E <7OE>4=<= ��� «��/%��&��,335» 

>?<<4F D4EE<4FD<645<>7> D4=>=4 O6?O5FEO G<5D5==>->>=F<=5=F4?L=O<, E> ED46=<F5?L=> 

F5??O< >>D>F><< ?5F>< < 4?<==>=, E>?>4=>= 7<<>= E GEF>=G<6O< E=56=O< ?>>D>6><. 

�O=>E F5??>7> <>DE>>7> 6>74GE4, E6O74==O= E ?D>E>645=<5< 4F?4=F<G5E><E F<>?>=>6, 4 

F4>65 G4EFO5 6F>D65=<O 4D>F<G5E>>7> 6>74GE4 E %565D=>7> �54>6<F>7> >>54=4 ?D<44NF 

?>7>45 5>?LLGN =5GEF>=G<6>EFL 6 F5G5=<5 6E57> 7>44. 

� E>>F65FEF6<< E %� 131.13330.2020 «%FD><F5?L=4O >?<<4F>?>7<O %�<� 23-01-

99*» D4=>= EFD><F5?LEF64 >F=>E<FEO > >?<<4F<G5E>><G ?>4D4=>=G II-�. 

%>7?4E=> ?D<?>65=<N � %� 20.13330.2016 D4=>= ?> 65EG E=57>6>7> ?>>D>64 3 IV, 

?> 446?5=<N 65FD4 3 II, ?> F>?M<=5 EF5=>< 7>?>?544 3 II. 

%4<O= E>?>4=O= <5EOF 3 O=64DL, E> ED54=5<5EOG=>= F5<?5D4FGD>= <<=GE 12,7>%, 4 

E4<O= F5??O= 3 <N?L, E> ED54=5<5EOG=>= F5<?5D4FGD>= ??NE 17,2>%. �5E>?NF=O= 

<<=<<G< F5<?5D4FGDO >F<5G4?EO 6 O=64D5 < E>EF46<? <<=GE 46,0>%, 45E>?NF=O= 

<4>E<<G< 3 6 <N?5 ??NE 37,0>%. 

�D>4>?6<F5?L=>EFL 557<>D>7=>7> ?5D<>44 E>EF46?O5F 110-120 4=5=; ?5D6O5 

74<>D>7>< >F<5G4NFEO 6 E5=FO5D5, ?>E?54=<5 3 6 >>=F5 <4O. 'EF>=G<6O5 <>D>7O 45D64FEO 

6 ED54=5< 5>?55 G5FOD5E <5EOF56 3 E E5D54<=O =>O5DO 4> E5D54<=O <4DF4. 

%=56=O= ?>>D>6 ?>O6?O5FEO 6> 6F>D>= ?>?>6<=5 >>FO5DO. 'EF>=G<6O= E=56=O= 

?>>D>6 >5D47G5FEO 6 E5D54<=5 =>O5DO < E>ED4=O5FEO =4 ?D>FO65=<< 6E5= 7<<O, 4 74F5< 

D47DGL45FEO 6 E5D54<=5 4?D5?O. 

�>E?5 EE>44 E=56=>7> ?>>D>64 ?D><EE>4<F <=F5=E<6=>5 >FF4<64=<5 ?>G6O. �>?=>5 

>FF4<64=<5 >F<5G45FEO 6 FD5FL5= 45>445 4?D5?O. 

%D54=OO 7?G5<=4 ?D><5D74=<O ?>G6O E>EF46?O5F 49 E<, =4 >F>DOF>= <5EF=>EF< 

4>EF<745F 80 E<.  
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�>74GE 6?46=O= 6 F5G5=<5 6E57> 7>44, >E>55==> >E5=LN < 6 =4G4?5 7<<O, >>744 

>F=>E<F5?L=4O 6?46=>EFL G65?<G<645FEO 4> 88%. � 65E5==<= ?5D<>4 >=4 G<5=LL45FEO 4> 

65-70%, 4 G<E?> EGE<E 4=5= 6 MF> 6D5<O =4<5>?LL55 6 7>4G. 

� E>?>4=O= ?5D<>4 ?D5>5?444NF 65FD4 N6=>7> =4?D46?5=<O. �5F>< =4?D46?5=<O 

65FD>6 5>?55 =5GEF>=G<6O5, =45?N445FEO =5>>F>D>5 ?D5>5?444=<5 65FD>6 E565D=>7> 

=4?D46?5=<O. 

%>>D>EFL 65FD>6 6 ED54=5< 74 7>4 E>EF46?O5F 2,9 </E, 6 E>?>4=O= ?5D<>4 - 3,1 </E, 

?5F>< 3 G<5=LL45FEO 4> 2,5 </E. %<?L=O5 65FDO (5>?55 15 </E) =45?N44NFEO D54>>. 

� E>>F65FEF6<< E 44==O<< D<?<4?4 $��' %565D=>5 '��% «�>?>7>4E><= &��%» 

6>7<>6=O >?4E=O5 ?D<D>4=O5 (7<4D><5F5>D>?>7<G5E><5) O6?5=<O < ?D>F5EEO =4 

F5DD<F>D<< =4<5G45<>= 45OF5?L=>EF<: >G5=L E<?L=O= 4>64L (50 << < 5>?55 74 12 G4E), 

74<>D>7>< =4 ?>65DE=>EF< ?>G6O < 6 6>74GE5 6 ?5D<>4 4>F<6=>= 6575F4F<< 

E5?LE>>E>7O=EF65==OE >G?LFGD, L>64?O, E<?L=O= ?<65=L (30 << < 5>?55 74 1 G4E < <5=55). 

�4<>D>7>< =4 F5DD<F>D<< �>?>7>4E>>= >5?4EF< =45?N44NFEO ?D4>F<G5E>< 5657>4=> 

(�D<?>65=<5 6). 

$>=>6O5 >>=F5=FD4F<< 747DO7=ONM<E 65M5EF6 =4 D4EE<4FD<645<>= F5DD<F>D<< 6 

E>>F65FEF6<< E 44==O<< D<?<4?4 $��' %565D=>5 '��% «�>?>7>4E><= &��%» 

?D54EF46?5=O 6 F45?<F5 6.1. 

&45?<F4 6.1 - $>=>6O5 >>=F5=FD4F<< 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=>< 6>74GE5 
�47DO7=ONM55 65M5EF6> �4<=<FO <7<5D5=<O %D 

�765L5==O5 65M5EF64 <7/<3 0,199 
�>E<4 G7?5D>44 <7/<3 1,8 

�<>>E<4 47>F4 <7/<3 0,055 

�>E<4 47>F4 <7/<3 0,038 
�<>>E<4 E5DO <7/<3 0,018 

�5=7(4)?<D5= =7/<3 1,5 

�?<<4F<G5E><5 E4D4>F5D<EF<>< D4=>=4 ?D><76>4EF64 D45>F ?> 44==O< 

�>?>7>4E>>7> &��% (�D<?>65=<5 6) E6545=O 6 F45?<F5 6.2. 

&45?<F4 6.2 3 �?<<4F<G5E><5 E4D4>F5D<EF<>< D4=>=4 D45>F 
7 ?/? %4D4>F5D<EF<>4 �5>7=4G5=<5 �4D4<5FDO 

1 �>MDD<F<5=F EFD4F<D<>4F<< � 160 
2 �>MDD<F<5=F D5?L5D4  1 

3 %D54=OO <4>E<<4?L=4O F5<?5D4FGD4 <N?O & °% 22,7 

4 %D54=OO <<=<<4?L=4O F5<?5D4FGD4 O=64DO &°% -16,0 
5 %>>D>EFL 65FD4, =5 ?D56OL4NM4O ?>6F>DO5<>EFL 

5% 
</E 6-7 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�F5=>4 ?4D4<5FD>6 >?<<4F4 6O?>?=5=4 E>7?4E=> %� 131.13330.2020 «%FD><F5?L=4O 

>?<<4F>?>7<O %�<� 23-01-99*» 4?O 7. &>FL<4 < ?> 44==O< �% &>FL<4. 

&45?<F4 6.3 3 �?<<4F<G5E>4O E4D4>F5D<EF<>4 (?> 44==O< �% &>FL<4) 
7 
?/? 

�4<<5=>64=<5 ?4D4<5FD4 �>>474F5?< 

�?<<4F<G5E><5 ?4D4<5FDO E>?>4=>7> ?5D<>44 7>44 

1 

&5<?5D4FGD4 6>74GE4 =4<5>?55 E>?>4=OE EGF>>, °%, 
>55E?5G5==>EFLN  
0,98  
0,92 

-40 
-37 

2 

&5<?5D4FGD4 6>74GE4 =4<5>?55 E>?>4=>= ?OF<4=56><, °%, 
>55E?5G5==>EFLN  
0,98  
0,92 

-36 
-33 

3 &5<?5D4FGD4 6>74GE4, °%, >55E?5G5==>EFLN 0,94 -18 
4 �5E>?NF=4O <<=<<4?L=4O F5<?5D4FGD4, °% -46 

5 
%D54=OO EGF>G=4O 4<??<FG44 F5<?5D4FGDO 6>74GE4 =4<5>?55 
E>?>4=>7> <5EOF4, °% 

7,4 

6 

�D>4>?6<F5?L=>EFL (EGF.) < ED54=OO F5<?5D4FGD4 6>74GE4 (°%) 
?5D<>44 E> ED54=5= EGF>G=>= F5<?5D4FGD>= 6>74GE4 
f 0°% 

163 
-7,9 

f 8°% 230 
-4,4 

f 10°% 249 
-3,4 

7 
%D54=OO <5EOG=4O >F=>E<F5?L=4O 6?46=>EFL 6>74GE4 =4<5>?55 
E>?>4=>7> <5EOF4, % 

85 

8 
%D54=OO <5EOG=4O >F=>E<F5?L=4O 6?46=>EFL 6>74GE4 6 15 G. =4<5>?55 
E>?>4=>7> <5EOF4, % 

84 

9 �>?<G5EF6> >E44>>6 74 =>O5DL-<4DF, << 203 
10 �D5>5?444NM55 =4?D46?5=<5 65FD4 74 45>45DL-D56D4?L . 
11 �4>E<<4?L=4O <7 ED54=<E E>>D>EF5= 65FD4 ?> DG<54< 74 O=64DL, </E 3,1 

12 
%D54=OO E>>D>EFL 65FD4, </E 74 ?5D<>4 E> ED54=5= EGF>G=>= 
F5<?5D4FGD>= 6>74GE4 f8°% 

3,1 

�?<<4F<G5E><5 ?4D4<5FDO F5??>7> ?5D<>44 7>44 
1 �4D><5FD<G5E>>5 446?5=<5, 7�4 998 
2 &5<?5D4FGD4 6>74GE4, °%, >55E?5G5==>EFLN  

0,95  
0,98 

21 
25 

3 %D54=OO <4>E<<4?L=4O F5<?5D4FGD4 6>74GE4 =4<5>?55 F5??>7> 
<5EOF4, °% 

23,5 

4 �5E>?NF=4O <4>E<<4?L=4O F5<?5D4FGD4 6>74GE4, °% 37 
5 %D54=OO EGF>G=4O 4<??<FG44 F5<?5D4FGDO 6>74GE4 =4<5>?55 F5??>7> 

<5EOF4, °% 
11,3 

6 %D54=OO <5EOG=4O >F=>E<F5?L=4O 6?46=>EFL 6>74GE4 =4<5>?55 
F5??>7> <5EOF4, % 

75 

7 %D54=OO <5EOG=4O >F=>E<F5?L=4O 6?46=>EFL 6>74GE4 6 15 G. =4<5>?55 
F5??>7> <5EOF4, % 

58 



23 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

19 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

8 �>?<G5EF6> >E44>>6 74 4?D5?L->>FO5DL, << 415 
9 %GF>G=O= <4>E<<G< >E44>>6, << 79 

10 �D5>5?444NM55 =4?D46?5=<5 65FD4 74 <N=L-467GEF % 
11 �<=<<4?L=4O <7 ED54=<E E>>D>EF5= 65FD4 ?> DG<54< 74 <N?L, </E 2,8 

&45?<F4 6.4 - %D54=OO <5EOG=4O < 7>4>64O F5<?5D4FGD4 6>74GE4, °% (?> 44==O< �% 
&>FL<4) 

I II III IV V VI VII VIII IX X XI XII �>4 

-12,7 -11,3 -5,6 2,5 9,5 14,6 17,2 14,5 8,7 2,1 -4,5 -9,9 2,1 

� F45?<F5 6.5 ?D<6545=4 ?>6F>DO5<>EFL =4?D46?5=<= 65FD4, 6OD465==4O 6 

?D>F5=F4E >F >5M57> G<E?4 =45?N45=<= ?> <5EOF4< < 74 7>4 557 GG5F4 LF<?5=. 

�>6F>DO5<>EFL LF<?5= ?D<6>4<FEO 6 ?D>F5=F4E >F >5M57> G<E?4 =45?N45=<=. 

&45?<F4 6.5 - �>6F>DO5<>EFL =4?D46?5=<= 65FD4 < LF<?5= 74 7>4, % (?> �% &>FL<4) 
$G<5O % %-� � .-� . .-� � %-� ,F<?L 
�>6F>DO5<>EFL, 
% 

14,9 5,4 10,1 6,9 20,8 16,0 16,8 9,1 7,6 

 

 

$<EG=>> 6.1 - $>74 65FD>6 

� D57G?LF4F5 ?D>6545==>7> =475<=>7> M>>?>7>-D44<><5FD<G5E>>7> >5E?54>64=<O 

F5DD<F>D<< ?D54=47=4G5==>= ?>4 EFD><F5?LEF6> 6OO6?5=>: <>M=>EFL 4>7O 74<<4-

<7?GG5=<O 64DL<DG5F 6 ?D545?4E >F 0,10 4> 0,11 <>�6/G, ED54=55 7=4G5=<5 0,11 <>�6/G < =5 

?D56OL45F 5EF5EF65==O= GD>65=L D>=4. �>65DE=>EF=OE D44<4F<>==OE 4=><4?<= =5 

>5=4DG65=>. 

%>7?4E=> ?<EL<G $<?<4?4 $��' %565D=>5 '��% «�>?>7>4E><= F5=FD ?> 

7<4D><5F5>D>?>7<< < <>=<F>D<=7G >>DG64NM5= ED54O» ($<?<4? $��' %565D=>5 '��% 

«�>?>7>4E><= &��%») 3 ED54=55 7=4G5=<5 <>M=>EFL 4>7O 74<<4-<7?GG5=<O 74 2021 7>4 

0,095 <>�6/G, GF> E>>F65FEF6G5F ?D<D>4=><G 74<<4-D>=G. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

 � D4<>4E <=65=5D=>-M>>?>7<G5E><E <7OE>4=<= =4 GG4EF>5 5O?4 ?D>6545=4 >F5=>4 

747DO7=5==>EF< 4F<>ED5D=>7> 6>74GE4 ?> E?54GNM<< ?>>474F5?O<: G7?5D>4 >>E<4, 47>F 

>>E<4, 47>F 4<>>E<4, E5D4 4<>>E<4, 6765L5==O5 65M5EF64. �E=>6O64OEL =4 D57G?LF4F4E 

<EE?54>64=<O (17-05/22-�-�), <7<5D5==O5 >>=F5=FD4F<< 747DO7=ONM<E 65M5EF6 6 

4F<>ED5D=>< 6>74GE5 6 >>=FD>?L=OE F>G>4E E>>F65FEF6GNF FD55>64=<O< %4=�<= 

1.2.3685321 «�<7<5=<G5E><5 =>D<4F<6O < FD55>64=<O > >55E?5G5=<N 557>?4E=>EF< < (<?<) 

5576D54=>EF< 4?O G5?>65>4 D4>F>D>6 ED54O >5<F4=<O». �D56OL5=<O ���<.D. 

(<4>E<<4?L=> D47>64O >>=F5=FD4F<O 65M5EF64) =5 >5=4DG65=>. 

6.2 �F5=>4 EGM5EF6GNM57> E>EF>O=<O ?>65DE=>EF=OE < ?>475<=OE 6>4 

�<4D>7D4D<G5E><5 D5EGDEO =4 F5DD<F>D<< <G=<F<?4?L=>7> >>DG74 >F=>EOFEO > 

54EE5==G �5?>7> <>DO. �E=>6=4O D5>4 %GE>=4 ?D>F5>45F E N7>-74?444 D4=>=4 =4 E565D>-

6>EF>> < <<55F ?D>FO6U==>EFL (6 D4=>=5) 126 ><. �>?LL<=EF6> D5> >F=>E<FEO > 54EE5==G 

D5>< %GE>=4. %D54< =<E &4D564, &>?L<4, �5G5=L74. �=4G<F5?L=4O G4EFL F5DD<F>D<< 

D4=>=4 ?>>DOF4 5>?>F4<< (5-8 %). �7 5>?>F =4<5>?55 >DG?=O< O6?O5FEO 5>?>F> «�>?LL4O 

G<EFL» ??>M44LN >>>?> 200 ><2. 

�4 F5DD<F>D<< ?D><76>4EF64 D45>F 6>4=OE >5N5>F>6 =5 6EFD5G5=>. �D4=<F4 

?D><76>4EF64 D45>F D4E?>?>65=4 =4 D4EEF>O=<< >>>?> 900 < >F 6>4>>ED4==>= 7>=O D5>< 

,>D5=L74. %?54>64F5?L=>, D<E> 74F>??5=<O F5DD<F>D<< ?D< ?D>E>645=<< <4>E<<4?L=OE 

D4EE>4>6 < GD>6=5= 6>4O >FEGFEF6G5F. 

$5>4 ,>D5=L74 ?D>F5>45F ?> &>F5<E>><G <G=<F<?4?L=><G >>DG7G �>?>7>4E>>= 

>5?4EF<. 'EFL5 D5>< =4E>4<FEO 6 7 >< >F GEFLO D5>< &4D56O ?> ?56><G 55D57G. �?<=4 D5>< 

E>EF46?O5F 20 ><. �EF>> =4E>4<FEO 6 5>?>F4E 6 14 >< > 74?44G >F &>FL<O. $5>4 ,>D5=L74 

?D>F5>45F ?> 745>?>G5==O< ?5E4<, 75=5D4?L=>5 =4?D46?5=<5 F5G5=<O 4 N7>-6>EF>>. 

�4E5?U==OE ?G=>F>6 =4 D5>5 =5F. 

� E>>F65FEF6<< E> EF. 65 �>4=>7> >>45>E4 $$ (>F 03.06.2006 7., 7 74 $�) L<D<=4 

6>4>>ED4==>= 7>=O D5>< ,>D5=L74 E>EF46?O5F 100 < (4?O D5> ?D>FO65==>EFLN >F 10 4> 50 

>< 3 100 <), L<D<=4 ?D<5D56=>= 74M<F=>= ?>?>EO 3 50 <. 

�4==O5 7>EG44DEF65==>7> 6>4=>7> D55EFD4 $$ ?> D5>5 ,>D5=L74 ?D<6545=O 6 
F45?<F5 6.6. 

&45?<F4 6.6 - �4==O5 7>EG44DEF65==>7> 6>4=>7> D55EFD4 $$ ?> D5>5 ,>D5=L74 
�>4 6>4=>7> >5N5>F4 03020100312103000008206 
&<? 6>4=>7> >5N5>F4 $5>4 
�4764=<5 ,>D5=L74 
�5EF>?>?>65=<5 7 >< ?> ?56><G 55D57G D. &4DU64 
�?4445F 6 D5>4 &4DU64 6 7 >< >F GEFLO 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�4EE5==>6O= >>DG7 �6<=E>>-�5G>DE><= 54EE5==>6O= >>DG7 
$5G=>= 54EE5== %565D=4O �6<=4 
$5G=>= ?>454EE5== �4?4O %565D=4O �6<=4 
�>4>E>7O=EF65==O= GG4EF>> (�4?4O) %565D=4O �6<=4 >F =4G4?4 D5>< 4> 6?445=<O D. 

�OG5744 557 D5> .7 < %GE>=4 (>F <EF>>4 4> �G55=E>>7> 7/G) 
�?<=4 6>4>F>>4 20 >< 
�>4 ?> 7<4D>?>7<G5E>>= 
<7GG5==>EF< 

103000820 

�><5D F><4 ?> �� 3 

&4><< >5D47><, GG4EF>> D47<5M5=<O >FE>4>6 D4E?>?>65= 74 ?D545?4<< 7D4=<F 

6>4>>ED4==>= 7>=O < ?D<5D56=>= 74M<F=>= ?>?>EO D. ,>D5=L74. 

%6545=<O > 7<4D>?>7<G5E><E ?>EF4E, 5?<64=L<E > D4=>=G <7OE>4=<=, 

?D54EF46?5=O 6 F45?<F5 6.7  

&45?<F4 6.7 3 �E=>6=O5 7<4D>?>7<G5E><5 E4D4>F5D<EF<>< ?>EF>6 4=4?>7>6 

$5>4 - EF6>D 

�>4 
?G=>F4 

=45?N45=<
O 

�?>M44L 
6>4>E5>D

4, ><2 

$4EEF>O=<5 
>F GEFLO, 

>< 

$4EEF>O=<5 
>F <EF>>4, 

>< 

�F<5F>
4 «0» 
?>EF4, 
<, �% 

�5D<>4 45=EF6<O 

>F>DOF 74>DOF 

D.%GE>=4-
7.&>FL<4 

70091 34800 277 281 98,48 13.09.1876 �5=EF6. 

D.%F4D4O &>FL<4-
4.�5<LO=>6E><= 

�>7>EF 
70566 1840 45 4 112,58 17.06.1977 �5=EF6. 

D.�575=44-
?>E..D<4=74 

70597 327 44 13 122,84 01.08.1981 �5=EF6. 

D.&<>E=4-
4.�5FD<?>6> 

70139 234 21 30 113,67 02.08.1952 �5=EF6. 

D.'DFN74-
GD>G<M5 �>?5=> 

70146 2360 3 131 84,48 01.10.1952 
01.01. 
1997 

� D4<>4E <=65=5D=>-M>>?>7<G5E><E <7OE>4=<= =4 GG4EF>5 5O?4 ?D>6545=4 >F5=>4 

747DO7=5==>EF< 7DG=F>6OE 6>4 < ?>65DE=>EF=OE 6>4, <E >F5=>4 ?> E<<<G5E>><G E>EF46G 

>4> >><?>=5=F4 ?D<D>4=>= ED54O =4 >E=>64=<< ED46=5=<O E ��� E>7?4E=> %4=�<= 

1.2.3685321, %� 11-102-97, %� 502.1325800.2021. 

&45?<F4 6.8 3 $57G?LF4FO <E?OF4=<= ?> E<<<G5E><< ?>>474F5?O< 
�4<<5=>64=<5 

?>>474F5?5= 
$57G?LF4FO <E?OF4=<=, 54<=<FO 

<7<5D5=<O 
�5?<G<=4 

4>?GEF<<>7> 
GD>6=O, 54<=<FO 

<7<5D5=<O 
�D>F>>>? <E?OF4=<= 7 22-00-02-5552 

>F 15 467GEF4 2022 7. 
�<<<4> 77,3 ± 10,8 <7/4<3 =5 5>?55 1,5 <7/4<3 

�=<>==O5 
?>65DE=>EF=>-4>F<6=O5 

65M5EF64 (����) 

3,48 ± 0,73 <7/4<3 =5F =>D<4F<64 



26 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

22 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�5=7(4)?<D5= <5=55 0,000002 <7/? =5 5>?55 0,00001 
<7/? 

�5?57> 5>?55 20 <7/4<3 =5 5>?55 0,3 <7/4<3 

�5EF>>EFL 28 ± 4 0� =5 5>?55 7 0� 

�=F5=E<6=>EFL 74?4E4 
?D< 20 0% 

4 54??4 =5 5>?55 2 54??>6 

�=F5=E<6=>EFL 74?4E4 
?D< 60 0% 

5 54??>6 =5 5>?55 2 54??>6 

�44<<= 0,0041 ± 0,002 <7/4<3 =5 5>?55 0,001 
<7/4<3 

�4D74=5F 0,84 ± 0,17 <7/4<3 =5 5>?55 0,1 <7/4<3 
�54L 0,059 ± 0,017 <7/4<3 =5 5>?55 1 <7/4<3 

�GF=>EFL 5>?55 100 ��$ =5 5>?55 2,6 ��$ 
�OLLO> <5=55 0,005 <7/4<3 =5 5>?55 0,01 <7/4<3 

�5DF5?D>4G>FO 2,26 ± 0,56 <7/4<3 =5F =>D<4F<64 
�<>5?L 0,0656 ± 0,0131 <7/4<3 =5 5>?55 0,02 <7/4<3 

�<FD4FO 9,48 ± 1,46 <7/4<3 =5 5>?55 45 <7/4<3  
�<FD<FO 0,078 ± 0,039 <7/4<3 =5 5>?55 3 <7/4<3 

�5D<4=74=4F=4O 
>><E?O5<>EFL 

76,0 ± 7,6 <7�/4<3 =5 5>?55 5 <7�/4<3 

D� (6>4>D>4=O= 
?>>474F5?L) 

5,1 ± 0,2 54<=<F $� >F 6 (6>?) 4> 9 (6>?) 
54<=<F $� 

$4EF6>D5==O= ><E?>D>4 2,56 ± 0,26 <7/4<3 =5 <5=55 4 <7/4<3 
$FGFL <5=55 0,2 <7>/4<3 =5 5>?55 0,0005 <7/? 

%6<=5F <5=55 0,01 <7/4<3 =5 5>?55 0,01 <7/4<3 
%5D>6>4>D>4 0,56 ± 0,11 <7/4<3 =5 5>?55 0,05 <7/4<3 

%G?LD4FO 20 ± 4 <7/4<3 =5 5>?55 500 <7/4<3 
%GE>= >EF4F>> 3449 ± 310 <7/4<3 =5 5>?55 1000 

<7/4<3 
$5=>?O (>5M<5 < 

?5FGG<5) 
0,163 ± 0,026 <7/4<3 =5F =>D<4F<64 

%<<<G5E>>5 ?>FD55?5=<5 
><E?>D>44 (%��) 

1727 ± 449 <7�2/4<3 =5 5>?55 15 
<7�2/4<3 

%?>D<4O 230 ± 21 <7/4<3 =5 5>?55 350 <7/4<3 
&65F=>EFL 191 ± 19 7D44GEO F65F=>EF< =5 55?55 20 7D44GEO 

F65F=>EF< 
&<=> 5>?55 0,2 <7/4<3 =5 5>?55 5 <7/4<3 

4?LD4, 55F4, 74<<4-
75>E4E?>DF<>?>75>E4= 

(�%&�) 

<5=55 0,1 <>7/4<3 =5F =>D<4F<64 

4,4'-4<E?>D4<D5=<? 3 
FD<E?>DMF4= (��&) 

<5=55 0,1 <>7/4<3 =5F =>D<4F<64 

$>ED4FO 320 ± 54 <7/4<3 =5F =>D<4F<64 
��� 5 333 ± 30 <7�2/4<3 =5F =>D<4F<64 

 

�> >D74=>?5?F<G5E><< E6>=EF64< (<GF=>EFL, F65F=>EFL, 74?4E) < ?> >5>5M5==O< 

?>>474F5?O< (65EF>>EFL, EGE>= >EF4F>>) F4>65 =45?N44NFEO ?D56OL5=<O. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�5D>OF=>= ?D<G<=>= D>D<<D>64=<O ??>M44=>7> >G474 747DO7=5=<O O6?O5FEO 

D<?LFD4F<O EF>>>6, >5D47GNM<EEO >F >5N5>F4 D47<5M5=<O >FE>4>6. 

�EE>4O <7 ?>?GG5==OE 44==OE <E?OF4=<= 7DG=F>6>= 6>4O, 6OO6?5=O ?D56OL5=<O 

4>?GEF<<OE GD>6=5=. � E>>F65FEF6<< E %� 11-102-97 ?. 4.38 F45?<F4 4.4 ?> >D<F5D<O< 

>F5=>< EF5?5=< 747DO7=5=<O >4F57>D<O >F=>E<F5?L=> G4>6?5F6>D<F5?L=4O E<FG4F<O. 

$4=>= ?> 7<4D>?>7<G5E>><G D4=>=<D>64=<N �>?>7>4E>>= >5?4EF< >F=>E<FEO > 

�G55=>-�>?>7>4E>><G D4=>=G 6>?=<EFOE <>D5==OE D46=<=, ?D<GD>G5==OE > E565D>-

74?44=>= G4EF< ?5D<E>>7> ??4F>. 

�>475<=O5 6>4O O6?ONFEO >4=<< <7 646=5=L<E ?>?57=OE <E>>?45<OE < <<5NF 

EFD4F57<G5E>>5 7=4G5=<5 >4> 54<=EF65==> =4456=O= <EF>G=<> ?<FL56>7> 6>4>E=4565=<O 

=4E5?5=<O.  

�> 44==O< <EF>G=<>4 «�>>?44 > E>EF>O=<< < >5 >ED4=5 >>DG64NM5= ED54O 

�>?>7>4E>>= >5?4EF< 6 2021 7>4G», �>?>744, 2022, �>?>7>4E>4O >5?4EFL D4E?>?4745F 

7=4G<F5?L=O<< D5EGDE4<< ?>475<=OE 6>4: >F ?D5E=OE 3 4?O E>7O=EF65==>-?<FL56>7> 

6>4>E=4565=<O 4> <<=5D4?L=OE 6>4 < D4EE>?>6, ?D<<5=O5<OE 6 >4G5EF65 

54?L=5>?>7<G5E><E.  

�E57> 6 2021 7>4G ?D<D>EF 54?4=E>6OE 74?4E>6 ?<FL56OE ?>475<=OE 6>4 E>EF46<? 

0,489 FOE. <3/EGF. 

�7 208 <5EF>D>645=<= (GG4EF>>6 <5EF>D>645=<=) ?>475<=OE 6>4 > 54?4=E>6O< 

>F=5E5=O 74?4EO 180-F< <5EF>D>645=<= (GG4EF>>6 <5EF>D>645=<=) ?<FL56OE < 

F5E=<G5E><E ?>475<=OE 6>4, 74?4EO <<=5D4?L=OE ?>475<=OE 6>4 4?O ?5G55=>-?<FL56OE < 

54?L=5>?>7<G5E><E F5?5= 6 7D4=<F4E 18 <5EF>D>645=<= < GG4EF>>6 <5EF>D>645=<= 

<<=5D4?L=OE ?>475<=OE 6>4. � 7454?4=E>6O< >F=5E5=O 74?4EO 10 <5EF>D>645=<= 

(GG4EF>>6 <5EF>D>645=<=) ?<FL56OE < F5E=<G5E><E ?>475<=OE 6>4. 

%>7?4E=> E6545=<O< ?<EL<4 <7 �5?4DF4<5=F4 ?D<D>4=OE D5EGDE>6 < >ED4=O 

>>DG64NM5= ED54O �>?>7>4E>>= >5?4EF< 6 7D4=<F4E ?D>5>F=OE D45>F ?>65DE=>EF=O5 < 

?>475<=O5 <EF>G=<>< ?<FL56>7> < E>7O=EF65==>-5OF>6>7> 6>4>E=4565=<O >FEGFEF6GNF, 

7>=O E4=<F4D=>= >ED4=O ?>65DE=>EF=OE < ?>475<=OE <EF>G=<>>6 ?<FL56>7> < 

E>7O=EF65==>-5OF>6>7> 6>4>E=4565=<O =5 GEF4=>6?5=O.  

�E=>6=O5 >E>55==>EF< D>D<<D>64=<O ?>475<=OE 6>4 6 ?D545?4E D4EE<4FD<645<>= 

F5DD<F>D<< >?D545?ONFEO 55 75><>DD>?>7<G5E><<< < >?<<4F<G5E><<< >E>55==>EFO<< < 

75>?>7<G5E><< EFD>5=<5<. 

�>475<=O5 6>4O 6> 6D5<O ?D><76>4EF64 5GD>6OE D45>F 6EFD5G5=O 6E5<< 

E>646<=4<< =4 7?G5<=4E 1,8-4,0 <, GF> E>>F65FEF6G5F 45E>?NF=O< >F<5F>4< 136,23-

129,03. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�<4D>75>?>7<G5E><5 D45>FO =4 GG4EF>5 ?D>6>4<?<EL 6 <N?5 2022 7. < 74>?NG4?<EL 

6 74<5D4E ?>O6?5=<O < GEF4=>6?5=<O GD>6=O 6>4O 6 E>646<=4E. �4<5DO 6O?>?=O?<EL E 

<E?>?L7>64=<5< 7<4D>75>?>7<G5E><E DG?5F>> < GD>6=5<5D>6. �?D>5>64=<5 ?D><76>4<?>EL 

6>4>>F5>D=<>4<<. �>?GG5==O5 44==O5 ?D<6545=O 6 F45?<F5 6.9. 

&45?<F4 6.9- �4<=>6D5<5==O= 74<5D 7DG=F>6OE 6>4  
7 

6OD45>F>> 
�>475<=O5 6>4O 

(?>O6?5=<5), < 
�>475<=O5 6>4O 
(GEF4=>6?5=<5), < 

�5E>?NF=4O >F<5F>4 
GEF4=>6<6L57>EO GD>6=O, < 

�4?>D, 
< 

1 4,0 4,0 133,77 0,0 
2 2,2 2,2 131,91 0,0 
3 3,1 3,1 130,12 0,0 
4 2,8 2,8 131,32 0,0 
5 1,9 1,9 136,23 0,0 
6 3,0 3,0 130,01 0,0 
7 2,0 2,0 135,44 0,0 
8 2,9 2,9 135,32 0,0 
9 4,2 4,2 129,03 0,0 

10 2,1 2,1 133,09 0,0 
11 1,8 1,8 133,44 0,0 

�?<<4F<G5E><5 >E>55==>EF< F5DD<F>D<< E4D4>F5D<7GNFEO ?D5>5?444=<5< >E44>>6 

=44 <E?4D5=<5<, GF> E?>E>5EF6G5F 745>?4G<64=<N < ?5D5G6?46=5=<N F5DD<F>D<<. 

�<F4=<5 ?>475<=OE 6>4 6 >E=>6=>< 4F<>ED5D=>5. �5><>DD>?>7<G5E><5 >E>55==>EF< 

6OD464NFEO 6 D476<F<5 D5?L5D4 E> E?45O< EF>>><. 

$46=<==>EFL D5?L5D4, E?45O5 G>?>=O ?>65DE=>EF< > F5=FDG =<7<=O, 

?D5<<GM5EF65==> 7?<=<EFO= E4D4>F5D ?>65DE=>EF=OE >F?>65=<=, E?45> D476<F4O D5G=4O 

E5FL, <4?4O 7GEF>F4 MD>7<>==>7> D4EG?5=5=<O 3 6E5 MF< D4>F>DO EF<<G?<DGNF ?D>F5EEO 

<=F5=E<6=>7> 745>?4G<64=<O, 4 ?>475<=O5 6>4O E?<64NFEO E ?>65DE=>EF=O<< 6 

=55?47>?D<OF=O5 ?5D<>4O 6O?445=<O >5<?L=OE >E44>>6. 

�<F4=<5 7DG=F>6OE 6>4 ?D><EE>4<F 74 EG5F <=D<?LFD4F<< 4F<>ED5D=OE >E44>>6 < 

F4?OE 6>4, D477DG7>4 >EGM5EF6?O5FEO 6 ?>=<65==O5 D>D<O D5?L5D4. �> 7<4D46?<G5E><< 

?D<7=4>4< < GE?>6<O< 74?574=<O ?>475<=O5 6>4O ?D4>F<G5E>< 557=4?>D=O5. 

�D<=<<4O 6> 6=<<4=<5 E4D4>F5D D4E?D>EFD4=5=<O < ?<F4=<O 6E>DOFOE ?>475<=OE 

6>4 6 ?5D<>4O >5<?L=>7> 6O?445=<O 4F<>ED5D=OE >E44>>6 < <=F5=E<6=>7> E=57>F4O=<O, 4 

F4>65 ?D< F5E=>75==OE GF5G>4E <7 6>4>=5EGM<E >><<G=<>4F<=, 6>7<>6=> ?>O6?5=<5 

6D5<5==>7> 6>4>=>E=>7> 7>D<7>=F4 F<?4 «65DE>6>4>4» G 4=56=>= ?>65DE=>EF< < >4> 

E?54EF6<5 ?>4F>??5=<5 F5DD<F>D<<. �<??<FG44 E57>==OE >>?554=<= GD>6=O ?>475<=OE 

6>4 ?> 44==O< <=>7>?5F=<E =45?N45=<= E>EF46?O5F 1-2 <. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

6.3 �F5=>4 EGM5EF6GNM57> E>EF>O=<O ?4=4L4DF=OE GE?>6<= 

%>7?4E=> ��%& $ 70284-2022 ?4=4L4DF ?D54EF46?O5F E>5>= ?D<D>4=GN <?< 

?D<D>4=>-4=FD>?>75==GN 75>E<EF5<G E E4D4>F5D=>= >D74=<74F<5= E>EF46=OE G4EF5= <?< 

M?5<5=F>6 (D4F<=, GD>G<M < <5EF=>EF5=), >5>E>5?5==GN 6 ?D545?4E >?D545?5==>= 

<>DD>EFDG>FGDO D5?L5D4 6 GE?>6<OE <5EF=>7> >?<<4F4. 

%>7?4E=> ?4=4L4DF=><G D4=>=<D>64=<N GG4EF>> <7OE>4=<= >F=>E<FEO > %GE>=>-

�6<=E>>= ?4=4L4DF=>= >5?4EF< %D54=5F456=>= ?>4?D>6<=F<< �G?>=E>><G 

?4=4L4DF=><G D4=>=G. 

%GE>=>-�6<=E>4O ?4=4L4DF=4O >5?4EFL 74=<<45F F5=FD4?L=GN < E565D>-6>EF>G=GN 

G4EFL �>?>7>4E>>= >5?4EF< < 6OE>4<F 74 55 ?D545?O 6 �DE4=75?LE>GN >5?4EFL, >5N54<=OO 

D46=<==O5 ?4=4L4DFO >5?4EF< <>E>>6E>>7> >?545=5=<O 6 ?D545?4E 54EE5==4 <EF>>>6 < 

65DE=<E ?56OE ?D<F>>>6 %565D=>= �6<=O. 

%D54=5F456=4O ?>4?D>6<=F<O %565D>-�6<=E>>= >5?4EF< 6>?NG45F D46=<==O5 

?4=4L4DFO 54EE5==>6 ED54=57> < =<6=57> F5G5=<O %GE>=O, 54EE5==>6 �G55=O, �47< < 

�4?>= %565D=>= �6<=O.  

�G?>=E><= <>D5==O= D46=<==O= 6>76OL5==O= ED54=5F456=O= ?4=4L4DF 

=4E>4<FEO 6 ?D545?4E %O<65=E>>7>, &>F5<E>>7>, �5DE>646E>>7> < &4D=>7E>>7> D4=>=>6 

�>?>7>4E>>= >5?4EF<, 74=<<45F 5>?LLGN G4EFL �G?>=E>>= D46=<=O < �>654?LE>GN 

6>76OL5==>EFL.  

�>D5==O5 ?5D<E><5 ?>D>4O 74?574NF =4 7?G5<=5 10450 <5FD>6. �5D5>DO64NM<5 

<E G5F65DF<G=O5 >F?>65=<O ?D54EF46?5=O ?54=<>>6O<<, D565 >75D=>-?54=<>>6O<< 

EG?5EO<< < EG7?<=>4<<, 4 F4>65 4??N6<4?L=O<< < 5>?>F=O<< >E44>4<<. � ?4=4L4DF5 

?D5>5?444NF 6>?=<EFO5 ?54=<>>6O5 < >75D=>-?54=<>>6O5 D46=<=O D47?<G=>= EF5?5=< 

G6?46=5=<O, <5EF4<< D4E?D>EFD4=5= E>?<<EFO= D5?L5D. � 54EE5==4E D5> �G?>= < 

�>>L5=L74 >F<5G5=O >4DEF>6O5 6>D>=>< 4<4<5FD>< >F 10 4> 300 < 7?G5<=>= >F 1 4> 60 

<5FD>6. 

�?O ?4=4L4DF4 E4D4>F5D=4 4>6>?L=> 7GEF4O E5FL D5> (0,4040,56 ></><2), DGGL56 < 

<5?><E 54?>>. �45EL 55DGF =4G4?> < ?D>F5>4NF D5><, >F=>EOM<5EO > 54EE5==4< D5> �47< 

(�G?>=, �>>L5=L74) < %GE>=O (&4D564, �45=L74, �5?O?<4, �>G5=L74). �E 4>?<=O 

4>6>?L=> E>D>L> D47D45>F4=O < 7?G5>>> 6D574=O, G4EF> <<5NF L<D>><5 ?>>4FO5 

F5DD4E<D>64==O5 E>?>=O. 

�4 F5DD<F>D<< ?4=4L4DF4 D4E?D>EFD4=5=O 5?>6O5, E>E=>6O5 < <5?>>?<EF65==O5 

75?5=><>L=O5, 4>?7><>L=O5 < FD46O=>-5>?>F=O5 ?5E4, <5EF4<< E 6>D4??5=<O<< 

ED47=>6OE 5>?>F < 745>?>G5==OE ?>=< D5>. �>G65==O= ?>>D>6 E4D4>F5D<7G5FEO 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

?5EFD>F>=, => ?D5>5?444NF ?>47>?<EFO5 < 45D=>6>-?>47>?<EFO5 ?>G6O, =5D54>> 

>7?55==O5 < 74F>DD>64==O5. 

�><<=4=F=O5 < EG54><<=4=F=O5 GD>G<M4 4 ?54=<>>6O5 < >75D=>-?54=<>>6O5 

E>?<<EFO5 < 6>?=<EFO5 D46=<=O E E6>==O<< < <5?>>?<EF65==O<< ?5E4<<. $54>> 

6EFD5G4NFEO >75D=O5 >>F?>6<=O, 4>?<=O D5> < DGGL56, 65DE>6O5 < =<7<==O5 5>?>F4.  

$4EE<4FD<645<4O F5DD<F>D<O 6E>4<F 6 >4<= <7 75>?>7<G5E><E D57<>=>6 $GEE>>= 

??<FO 6 ?D545?4E �>EF>G=>-�6D>?5=E>>= 4D56=5= ??4FD>D<O 3 �>E>>6E>GN E<=5>?<7G, 

O4D> 6 >>F>D>= E?474NF >4==>7>=E><5 >F?>65=<O >>=F<=5=F4?L=>7> 75=57<E4 (?54=<>>6O5, 

>75D=O5, 5>?>F=O5, 4??N6<4?L=O5). �E=>6=O< D4>F>D>< D>D<<D>64=<O D5?L5D4 < 

E>EF464 ?D<?>65DE=>EF=>= F>?M< 7DG=F>6 �>E>>6E>>= E<=5>?<7O 6 G5F65DF<G=>5 6D5<O 

O6<?<EL ?>>D>6=O5 >?545=5=<O. 

$5?L5D =4 F5DD<F>D<< >5N5>F4 E?>>>==O=, ?5D5?44 6OE>F =57=4G<F5?L=O=, 

E4D4>F5D=> ?>=<65=<5 E E565D>-6>EF>>4 =4 N7>-74?44 GG4EF>4. 

6.4 �F5=>4 EGM5EF6GNM57> E>EF>O=<O ?>G65==>7> ?>>D>64 

�EE?54>64=<O< ?>G65==>7> ?>>D>64 7>=O 6?<O=<O >5N5>F4 G45?5=> =4<5>?LL55 

6=<<4=<5, F4> >4> ?>G64 O6?O5FEO =4<5>?55 GGF><< <=4<>4F>D>< 75>E<<<G5E>>= 

>5EF4=>6>< 6 ?4=4L4DF5, >=4 =4E>4<FEO =4 ?5D5E5G5=<< FD4=E?>DF=OE ?GF5= <<7D4F<< 

E<<<G5E><E M?5<5=F>6 < E>54<=5=<=. �?O F5E=>75==OE ?4=4L4DF>6 M?<75=5F<G5E>4O 

E>EF46?ONM4O ?>G6 D>D<<DG5FEO 6> <=>7>< 74 EG5F 6O?445=<O 747DO7=5=<O 4F<>ED5DO < 

E4D4>F5D<7G5F <=>7>?5F=NN 6=GFD5==NN EFDG>FGDG 747DO7=5=<O 6>74GL=>7> 54EE5==4. 

%>7?4E=> ?>G65==>-47D>E<<<G5E>><G D4=>=<D>64=<N �>?>7>4E>>= >5?4EF< 

D4EE<4FD<645<O= GG4EF>> >F=>E<FEO > �5DE>646E>>-%O<65=E>><G >>DG7G. 

�5DE>646E>>-%O<65=E><= >>DG7 74=<<45F ??>M44L �5DE>646E>>7>, %O<65=E>>7>, 

&>F5<E>>7>, 6>EF>G=GN G4EFL �>657>4E>>7>, X4D>6E>>7>, %>>>?LE>>7> 44<<=<EFD4F<6=OE 

D4=>=>6. �>D5==O5 ?>D>4O ?5D<E>>7> 6>7D4EF4 74?574NF =4 D47?<G=>= 7?G5<=5 < =5 

6OE>4OF = ?>65DE=>EFL. �>DG7 D4E?>?4745FEO 6 ?D545?4E �5DE>646E>>= 6>76OL5==>EF<, 

%4D>6E>>= 7DO4O < 74?44=>= G4EF< %GE>=E>>7> �46>?>GLO, 6 ?D545?4E >>F>DOE L<D>>> 

D476<FO =56OE>><5 E>?<O, 7DO4O, 4>?<=>>5D47=O5 ?>=<65=<O E >F45?L=O<< 

745>?>G5==O<< 6?44<=4<<. &5DD<F>D<O >F?<G45FEO 5>?LL5= ?5E<EF>EFLN < <5=LL5= 

D4E?4E4==>EFLN.  

�>G6>>5D47GNM<<< ?>D>44<< E?G64F <>D5=O, >5>74M5==O5 64?G==O< < 

>4D5>=4F=O< <4F5D<4?4<<, D565 D?N6<>7?OF<4?L=O5 >F?>65=<O. �4D5>=4F=O= <4F5D<4? 

=4 D46=<==OE GG4EF>4E <5EF=>EF< 74?5745F =4 7?G5<=5 100-130 E<, =4 E>?>=4E 



31 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

27 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

6>4>D4745?>6 - 60-100 E<. � ?>G65==>< ?>>D>65 >>DG74 ?>4 ?5E4<< ?D5>5?444NF 

E<?L=>?>47>?<EFO5, 4 ED54< ?4L=< - 45D=>6>-ED54=5- < E<?L=>?>47>?<EFO5, =4 E>?>=4E 

6>4>D4745?>6 - E?45>E<OFO5 < EG7?<=<EFO5, D565 ?5EG4=O5 < EG?5EG4=O5 ?>G6O.  

� F5?>< ?>G6O E5?LE>>E>7O=EF65==OE G7>4<= <<5NF =<7>>5 ??>4>D>4<5. &4>, 4>?O 

E<?L=>><E?OE ?>G6 E>EF46?O5F 20-50%. %>45D64=<5 7G<GE4 2-3%, >5M<= 74?4E 6 <5FD>6>< 

E?>5 110-120 F/74, 47>F4 7-9 F/74. 

�4 F5DD<F>D<< &>F5<E>>7> <G=<F<?4?L=>7> >>DG74 ?D5>5?444NF ?>47>?<EFO5 < 

45D=>6>-?>47>?<EFO5 ?>G6O. 

�4 F5DD<F>D<< >5E?54G5<>7> GG4EF>4 ?>G65==O= ?>>D>6 =4DGL5= 6 <5EF4E 

?D>>?44>< <=65=5D=OE >><<G=<>4F<= < 7464?5= >><<G=4?L=O<< >FE>44<<, 6 >E=>6=>< 3 

?>>DOF FD46O=<EF>=, >GEF4D=<>>6>= < 4D565E=>= D4EF<F5?L=>EFLN. 'G4EF>> EFD><F5?LEF64 

E??4=<D>64= 45OF5?L=>EFLN G5?>65>4. 

�5?>ED54EF65==> GG4EF>> <7OE>4=<= D4E?>?4745FEO 6 G5DF5 ?>?<7>=4 &��, ?>MF><G 

?>G65==O= ?>>D>6 ?D5F5D?5? EGM5EF65==GN FD4=ED>D<4F<N. �EF5EF65==O5 ?>G6O 

?>7D555=O ?>4 ?5EG4=<EFO< <?< 7?<=<EFO< <4F5D<4?>< =4EO?5= >FE>4>6. 

�4 =5 74EFD>5==>= G4EF< GG4EF>4 ?D<EGFEF6GNF 4=FD>?>75==>-?D5>5D47>64==O5 

?>G6O 3 47D>75<O, ?D54EF46?ONM<5 E>5>= >>G?LFGD5==O= =4EO?=>=, ?D5<<GM5EF65==> 

?57>>- < ED54=5EG7?<=<EFO= 7DG=F. 

�?O >F5=>< E>6D5<5==>7> E>EF>O=<O ?>G6 =4 GG4EF>5 <7OE>4=<= ?D>6545=O >F5>DO 

?D>5:  

- ?> E4=<F4D=>-E<<<G5E><E ?>>474F5?O< 3 1 ?D>54; 

- ?> <<>D>5<>?>7<G5E><E < ?4D47<F>?>7<G5E><< ?>>474F5?O< 3 10 ?D>5; 

- ?> D44<>?>7<G5E><< ?>>474F5?O< 3 1 ?D>54.    

�45>D4F>D=O5 <EE?54>64=<O ?D>5 6O?>?=O?<EL E?5F<4?<EF4<< �� ��� 

«�E?OF4F5?L=O= F5=FD «��$&�%&».  

�> D57G?LF4F4< ?45>D4F>D=OE <EE?54>64=<=, ?D>6545==OE 6 D4<>4E <=65=5D=>-

M>>?>7<G5E><E <7OE>4=<=, 65?<G<=4 ?>>474F5?O EG<<4D=>7> 747DO7=5=<O ?>G6 (Zc) 

D4EEG<F4=4 ?> 8 M?5<5=F4< ?5D6OE 46GE >?4EE>6 F>>E<G5E>>= >?4E=>EF<: DFGFL, E6<=5F, 

<OLLO>, >44<<=, F<=> (1 >?4EE F>>E<G5E>>= >?4E=>EF<); =<>5?L, <54L, (2 >?4EE 

F>>E<G5E>>= >?4E=>EF<). 

%>7?4E=> %4=�<� 2.1.3684-21 (?D<?. 9) 4?O >4F57>D<< 747DO7=5=<O ?>G6: 

- >4F57>D<O «G<EF4O» - <EE?54G5<O= 75<5?L=O= GG4EF>> <>6=> <E?>?L7>64FL 557 

>7D4=<G5=<=; 

- >4F57>D<O «4>?GEF<<4O» - <EE?54G5<O= 75<5?L=O= GG4EF>> <>6=> <E?>?L7>64FL 

557 >7D4=<G5=<=, <E>?NG4O >5N5>FO ?>6OL5==>7> D<E>4; 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

- >4F57>D<O «G<5D5==> >?4E=4O» - <EE?54G5<O= 75<5?L=O= GG4EF>> <>6=> 

<E?>?L7>64FL 6 E>45 EFD><F5?L=OE D45>F ?>4 >FEO?>< >>F?>64=>6 < 6O5<>>, =4 GG4EF>4E 

>75?5=5=<O E ?>4EO?>>= E?>O G<EF>7> 7DG=F4 =5 <5=55 0,2 <; 

- >4F57>D<O «>?4E=4O» - <EE?54G5<O= 75<5?L=O= GG4EF>> >7D4=<G5==> <E?>?L7>64FL 

?>4 >FEO?>< 6O5<>> < >>F?>64=>6 E ?5D5>DOF<5< E?>5< G<EF>7> 7DG=F4 =5 <5=55 0,5 <; 

- >4F57>D<O «GD576OG4==> >?4E=4O» - <EE?54G5<O= 75<5?L=O= GG4EF>> =G6=> 

6O6>7<FL < GF<?<7<D>64FL =4 E?5F<4?<7<D>64==OE ?>?<7>=4E.       

%G<<4D=O= ?>>474F5?L E<<<G5E>>7> (Zc) 747DO7=5=<O ?>G6>-7DG=F4 =4 GG4EF>5, 

D4EEG<F4==O= ?> 8 M?5<5=F4<, E>EF46<? 5, E?54>64F5?L=>, >F=>E<FEO > «4>?GEF<<>=» 

>4F57>D<< (EG<<4D=O= ?>>474F5?L Zc <5=55 16). %>7?4E=> %4=�<� 2.1.3684-21 4?O 

«4>?GEF<<>=» >4F57>D<< 747DO7=5=<O ?>G6 75<5?L=O= GG4EF>> <>6=> <E?>?L7>64FL 557 

>7D4=<G5=<=, <E>?NG4O >5N5>FO ?>6OL5==>7> D<E>4.  

�> 6E5E ?D>54E >>=F5=FD4F<< 55=7(4)?<D5=4 >F65G45F FD55>64=<O<. � E>>F65FEF6<< 

E %4=�<= 1.2.3685321 ?>G6O < 7DG=FO =4 7?G5<=G ?5DE?5>F<6=>7> <E?>?L7>64=<O 

E>>F65FEF6GNF «G<EF>=» >4F57>D<<, F> 5EFL 75<5?L=O= GG4EF>> <>6=> <E?>?L7>64FL 557 

>7D4=<G5=<=. 

�D< >F5=>5 >4G5EF64 ?>G6 ?> M?<45<<>?>7<G5E><< ?>>474F5?O< ?>G6O >F=>EOFEO > 

>4F57>D<< «G<EFO5» ?D< E>45D64=<< M=F5D>>>>>>6 </<?< 54>F5D<= 7DG??O ><L5G=OE 

?4?>G5> (�=45>E ����) 1-10, > >4F57>D<< «G<5D5==> >?4E=O5» 3 10-100, «>?4E=O5» 3 100-

1000, «GD576OG4==> >?4E=O5» 3 1000 < 6OL5. �?O >F=5E5=<O ?>G6O > «G<EF>=» >4F57>D<< 

6 =5= =5 4>?6=O ?D<EGFEF6>64FL ?4F>75==O5 54>F5D<< 3 ?DO<O5 ?D<7=4>< 

M?<45<<>?>7<G5E>>= >?4E=>EF<. 

�7 D57G?LF4F>6 M?<45<<>?>7<G5E>>7> 4=4?<74 ?>G65==OE ?D>5 E?54G5F, GF> ?> 

<<>D>5<>?>7<G5E><< ?>>474F5?O< =5 6OO6?5=> ?D56OL5=<5 ?> <=45>EG ����, GG4EF>> 

>F=>E<FEO > «G<EF>=» >4F57>D<<. 

�D< >F5=>5 ?>G6 ?> ?4D47<F>?>7<G5E><< ?>>474F5?O<, ?>G6O >F=>EOFEO > >4F57>D<< 

«G<EF4O» ?D< >FEGFEF6<< O<F 75?L<<=F>6, «G<5D5==> >?4E=4O» - ?D< <E E>45D64=<< >F 1 

4> 10, «>?4E=4O» - >F 10 4> 100, < «GD576OG4==> >?4E=4O» - >100. 'G4EF>> E>>F65FEF6G5F 

>4F57>D<< «G<EF>=» ?> ?4D47<F>?>7<G5E><< ?>>474F5?O< ?>G6O.  

'45?L=4O 4>F<6=>EFL 5EF5EF65==OE D44<>=G>?<4>6 6 ?>G65 =5 ?D56OL45F 

4>?GEF<<O5 GD>6=<. 

-DD5>F<6=4O G45?L=4O 4>F<6=>EFL 5EF5EF65==OE D44<>=G>?<4>6 (�MDD) 3 

EG<<4D=4O G45?L=4O 4>F<6=>EFL 5EF5EF65==OE D44<>=G>?<4>6 6 <4F5D<4?5, >?D545?O5<4O E 

GG5F>< <E 5<>?>7<G5E>>7> 6>745=EF6<O =4 >D74=<7< G5?>65>4 ?> D>D<G?5: 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�MDD=�Ra+1,31�Th+0,085�K, 

745 �Ra, �Th, �K - G45?L=O5 4>F<6=>EF< D44<O, F>D<O, >4?<O E>>F65FEF65==>, �>/>7. 

� <EE?54G5<OE ?D>54E ED54=OO MDD5>F<6=4O G45?L=4O 4>F<6=>EFL 5EF5EF65==OE 

D44<>=G>?<4>6 E>EF46<?4 �MDD=87,0 �>/>7. �4==O= 7DG=F, E>7?4E=> �$�-99, >F=>E<FEO > 

<4F5D<4?4< I >?4EE4 < <>65F <E?>?L7>64FLEO 4?O >5D4F=>= 74EO?>< ?D< EFD><F5?LEF65 

744=<O, E>7?4E=> ��%& 30108-94 (�D<?>65=<5 � - ��' =5 5>?55 370 �>/>7). 

� E>>F65FEF6<< E %� 47.13330.2016 < %� 11-105-97 G. III > E?5F<D<G5E><< 7DG=F4< 

=4 <EE?54G5<>< GG4EF>5 >F=>EOFEO =4EO?=O5 7DG=FO, >>F>DO5 E4D4>F5D<7GNFEO 

=5>4=>D>4=>EFLN ?> E>EF46G < =5D46=><5D=>= E6<<45<>EFLN, 4?O ?D>5>F<DG5<>7> 

E>>DG65=<O <E?>?L7>64FL =5 D5>><5=4G5FEO. �6<4G =5>4=>D>4=>EF< E6>57> 

?<F>?>7<G5E>>7> E>EF464, E4D4>F5D4 E?>65=<O, 4 F4>65 D<7<>>-<5E4=<G5E><E E6>=EF6, 

=4EO?=O5 7DG=FO =5 <>7GF E?G6<FL >E=>64=<5< DG=44<5=F>6 ?D>5>F<DG5<>7> 

E>>DG65=<O. % F5G5=<5< 6D5<5=< E?54G5F >6<44FL =5D46=><5D=O5 >E44>< 6 =4EO?=OE 

7DG=F4E ?> <5D5 D47?>65=<O >D74=<G5E><E 65M5EF6 < 7=<5=<O 4D565E=OE >EF4F>>6, 4 F4>65 

6 E?GG45 <7<5=5=<O 7<4D>75>?>7<G5E>>= >5EF4=>6>< (?>4F>??5=<5 <?< >EGL5=<5 7DG=F>6). 

&4><5 E?5F<D<G5E><5 7DG=FO, >4> <=>7>?5F=5<5D7?O5, ?D>E44>G=O5, =45GE4NM<5, 

74E>?5==O5, M?N6<4?L=O5 =4 F5DD<F>D<< <7OE>4=<= 6EFD5G5=O =5 5O?<. 

&4><< >5D47><, ?>G6O ?>4?564F <E?>?L7>64=<N 557 >7D4=<G5=<=, <E>?NG4O 

>5N5>FO ?>6OL5==>7> D<E>4. 

6.5 �F5=>4 EGM5EF6GNM57> E>EF>O=<O 75>?>7<G5E>>= ED54O 

�> GE?>6<O< 74?574=<O < D<7<>>-<5E4=<G5E><< E4D4>F5D<EF<>4< 6 D47D575 4> 

7?G5<=O 10,0 < 6O45?5= >4<= <=65=5D=>-75>?>7<G5E><= M?5<5=F (��-). �> >4F57>D<< 

E?>6=>EF< <=65=5D=>-75>?>7<G5E><E GE?>6<= ??>M44>4 (GG4EF>>) <7OE>4=<= >F=>E<FEO 

>> II >4F57>D<< (ED54=OO E?>6=>EFL). 

� 75>?>7<G5E>>< EFD>5=<< ??>M44>< EFD><F5?LEF64 4> 7?G5<=O 10,0 < ?D<=<<4NF 

GG4EF<5 =5D4EG?5=5==O5 E>6D5<5==O5 < 65DE=5G5F65DF<G=O5 >75D=>-?54=<>>6O5 

>F?>65=<O (lgIII), ?5D5>DOFO5 =4EO?=O< E?>5<. �5E>?NF=O5 >F<5F>< ?>65DE=>EF< ?> 

GEFLO< 5GD>6OE E>646<= E>EF46?ONF >F 133,22 < 4> 138,22 < �4?F<=E>>= E<EF5<O 6OE>F. 

�5>?>7<G5E><= D47D57 ?D54EF46?O5FEO E65DEG 6=<7 6 E?54GNM5< 6<45: 

1. &5E=>75==O5 >5D47>64=<O (tIV)  

%��� 7 14 - =4EO?=>= E?>= - E<5EL <GE>D4, F5?> ?>?<7>=4 &��. �4==O5 

F5E=>75==O5 7DG=FO E4D4>F5D<7GNFEO =5>4=>D>4=>EFLN ?> E>EF46G < =5D46=><5D=>= 

E6<<45<>EFLN, 4?O ?D>5>F<DG5<>7> E>>DG65=<O <E?>?L7>64FL =5 D5>><5=4G5FEO.  
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�5D4EG?5=5==O5 E>6D5<5==O5 < 65DE=5G5F65DF<G=O5 >75D=>-?54=<>>6O5 

>F?>65=<O (lg III)  

��- 71 3 %G7?<=>> E65F?>->>D<G=56O=, FG7>??4EF<G=O=, FO65?O=, ?5EG4=<EFO=, 

E 6>?NG5=<O<< >5?><>G=>7> <4F5D<4?4 6 6<45 74?L>< < 7D46<O 4> 15 %. �4 ?>?=GN 

<>M=>EFL ?D>=45= =5 5O?. �>M=>EFL E?>O 1,10-5,90 <, =4 6EN <>M=>EFL =5 ?D>=45= 

(45E>?NF=O5 >F<5F>< >D>6?< 133,22-138,13 <). 

'G4EF>> <7OE>4=<= 74E?4<?5= <GE>D><, >FE>44<< 6 >E=>6=>< 4 < 5 >?4EE>6 

>?4E=>EF<. &4><< >5D47><, 5EF5EF65==O= D5?L5D ??>M44>< G4EF<G=> <7<5=5= 

EFD><F5?L=>= 45OF5?L=>EFLN G5?>65>4. 

�4 <7GG45<>= ??>M44>5 EFD><F5?LEF64 D<7<>>-75>?>7<G5E><5 ?D>F5EEO 

?D54EF46?5=O E57>==O< ?D><5D74=<5< E 6>7<>6=O< <>D>7=O< ?GG5=<5< 7DG=F>6 

4>F<6=>= 7>=O (?4D4<5FD ?GG<=<EF>FL EG7?<=<EFOE 7DG=F>6 >?D545?5= >4> 

ED54=5?GG<=<EFO=), 4 F4>65 6>7<>6=O< 6OE>><< GD>6=5< 7DG=F>6OE 6>4, ?>4F>??5=<5< 

F5DD<F>D<<. �GG<=<EF>EFL EG7?<=<EFOE 7DG=F>6 >?D545?5=4 ?> D>D<G?5 6.34 ?. 6.8.3 %� 

22.13330.2016. �>D<4F<6=4O 7?G5<=4 E57>==>7> ?D><5D74=<O 4?O EG7?<=>>6 3 1,34 <. 

�> =4?<G<N ?D>F5EE4 ?>4F>??5=<O F5DD<F>D<O >F=>E<FEO > ?>4F>??5==>= I (%� 11-

105-97, G.2, ?D<?. �). �> GE?>6<O< D476<F<O ?D>F5EE4 ?>4F>??5=<O ??>M44>4 

?D>5>F<DG5<>7> E>>DG65=<O >F=>E<FEO > ?>4F>??5==O< 6 5EF5EF65==OE GE?>6<OE I-A (%� 

11-105-97, G.2, ?D<?. �). �> 6D5<5=< D476<F<O ?D>F5EE4 GG4EF>> >F=>E<FEO > E57>==> 

(5657>4=>) ?>4F4??<645<O< I-�-2 (%� 11-105-97, G.2, ?D<?. �).  

�4F57>D<O 7DG=F4 ?> E5=E<<G5E><< E6>=EF64< E>7?4E=> %� 14.13330.2018 3 III.  

�4F57>D<O GEF>=G<6>EF< F5DD<F>D<< >F=>E<F5?L=> <=F5=E<6=>EF< >5D47>64=<O 

>4DEF>6OE ?D>64?>6 E>7?4E=> %� 116.13330.2012 F45?<F4 �.1 3 VI (> L5EF>= >4F57>D<< 

GEF>=G<6>EF< >F=>EOFEO F5DD<F>D<<, =4 >>F>DOE 6>7=<>=>65=<5 >4DEF>6OE ?D>64?>6 

75<=>= ?>65DE=>EF< =56>7<>6=> <7-74 >FEGFEF6<O D4EF6>D<<OE 7>D=OE ?>D>4 <?< 66<4G 

=4?<G<O =4456=>= 74M<F=>= ?>>DO64NM5= F>?M< =5D4EF6>D<<OE 6>4>=5?D>=<F45<OE 

<?< E>4?L=OE ?>D>4). 

$4EG5F=4O E5=E<<G5E>4O <=F5=E<6=>EFL F5DD<F>D<< EFD><F5?LEF64, >?D545?5==4O =4 

>E=>65 >><??5>F4 >4DF �%$ (>5M57> E5=E<<G5E>>7> D4=>=<D>64=<O) 3 2015 E>EF46?O5F: 

- ?> >4DF5 � (10%) 3 5 54??>6; 

- ?> >4DF5 � (5%) 3 5 54??>6; 

- ?> >4DF5 % (1%) 3 5 54??>6. 

�DG7<5 >FD<F4F5?L=O5 <=65=5D=>-75>?>7<G5E><5 ?D>F5EEO =5 6OO6?5=O. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�4 <7GG45<>= F5DD<F>D<< >5N5>F4 D<7<>>-75>?>7<G5E><5 ?D>F5EEO ?D54EF46?5=O 

E57>==O< ?D><5D74=<5< E 6>7<>6=O< <>D>7=O< ?GG5=<5< 7DG=F>6 4>F<6=>= 7>=O, 4 

F4>65 6>7<>6=O< 6OE>><< GD>6=5< 7DG=F>6OE 6>4, ?>4F>??5=<5< F5DD<F>D<<. 

�D>O6?5=<O >4DEF4, E>?>=>6OE ?D>F5EE>6, E5?5=, ?5D5D45>F>< 55D57>6 =4 ??>M44< 

<7OE>4=<= =4 ?5D<>4 ?D>6545=<O D45>F =5 6EFD5G5=O. 

6.6 �F5=>4 EGM5EF6GNM57> E>EF>O=<O D4EF<F5?L=>7> <<D4 

$4EF<F5?L=>EFL �>?>7>4E>>= >5?4EF< >F?<G45FEO D47=>>5D47<5< 6<4>6 < F<?>6. 

�5?4EFL D4E?>?4745FEO F5?<>>< 6 ?D545?4E 7>=O F4=7<. �5E4 - ?D5>5?444NM<= F<? 

D4EF<F5?L=>EF< =4 F5DD<F>D<< >5?4EF< - 74=<<4NF 72 % MF>= F5DD<F>D<<. �D4=<F4 <564G 

ED54=5= < N6=>= ?>?>E4<< F4=7< ?D>E>4<F ?D<<5D=> >F 65DE>6<= %G4O ?> N6=><G 

?>55D56LN >7. �5?>5 =4 %4D>6E>, &>FL<G < 44?55 =4 6>EF>> G5D57 �<G<5=7E><= �>D>4>> > 

7D4=<F5 E �<D>6E>>= >5?4EFLN. �>?>E4 ED54=5= F4=7<, D4E?>?474OEL > E565DG >F MF>= 

?<=<<, E4D4>F5D<7G5FEO ?D5>5?444=<5< 5?5=, E>E5=; 4 6 6>EF>G=OE D4=>=4E - ?<EF < 

?<EF65==<F E =55>?LL>= ?D<<5ELN 55D57O, >E<=O < 4DG7<E <5?>>?<EF65==OE ?>D>4. 

,<D>>>, 7?46=O< >5D47>< =4 6>4>D4745?4E, D4E?D>EFD4=5=O 5?L=<><-G5D=<G=<><.  

� 746<E<<>EF< >F E4D4>F5D4 D4EF<F5?L=>7> ?>>D>64 5?L=<>< D4745?ONFEO =4 

75?5=><>L=O5, 4>?7><>L=O5, ED47=>6O5 < FD46O=<EFO5. �?L=<>< D4E?D>EFD4=5=O 

4>EF4F>G=> D46=><5D=> ?> 6E5= F5DD<F>D<<. %>E=>6O5 5>DO, 7=4G<F5?L=> GEFG?4NM<5 << 

?> EF5?5=< D4E?D>EFD4=5=<O, 6EFD5G4NFEO >F45?L=O<< GG4EF>4<< 6 �>?>7>-,5>E=<=E>>= 

=<7<=5, ?> ED54=5<G F5G5=<N %GE>=O, 6 65DE>6LOE .74, ?> �475, �OF57D5. %>E=>6O5 

5>DO, D4E?>?>65==O5 =4 5>?55 6OE>><E GG4EF>4E < E>>F65FEF65==> 5>?55 EGE<5 < E65F?O5, 

G5< 5?L=<><, =4<5>?55 ?>4E>4OF 4?O >F4OE4.  

,<D>>> D4E?D>EFD4=5=O 6 >5?4EF< < <5?>>?<EF65==>-E6>==O5 ?5E4. � N6=>= 

?>?>E5 F4=7<, >F?<G4NM5=EO >F ED54=5= 55 ?>?>EO 5>?55 F5??O< >?<<4F><, E 5?LN 

E>E54EF6GNF L<D>>>?<EF65==O5 ?>D>4O 45D56L56 - 4G5, 6O7, >?5=; >GEF4D=<>< - 55D5E>?5F, 

6<<>?>EFL, >DGL<=4, 6>?GL5 ?O>>, >D4E=4O 5G7<=4; FD46O - ><E?<F4, ?4=4OL, <4==<> 

46G?<EF=O=, >>?OF5=L 56D>?5=E><=, 6>D>=<= 7?47.  

�=FD47>=4?L=O< F<?>< D4EF<F5?L=>EF< O6?O5FEO D4EF<F5?L=>EFL 5>?>F. �<7<==O5 

5>?>F4, D4E?>?>65==O5 6 ?>=<4E D5> < =4 6>4>D4745?4E 6 ?>=<65==OE <5EF4E, - MF> 

?5E=O5 5>?>F4 (>?LL4F=<><, 55D57=O><), FD46O=O5 (>E>>>6O5, FD>EF=<>>6O5) < <>E>6O5 

(7<?=>6O5 <E<). �5DE>6O5 5>?>F4 D4E?>?>65=O =4 6>4>D4745?4E <?< =4 6OE>><E F5DD4E4E 

D5>, E??>LL ?>>DOFO <E4<<, 4 F4>65 65D5E>><, 547G?L=<>>< < �4EE4=4D>=. �4 =5D>6=>= 

?>65DE=>EF< ED47=>6>7> 5>?>F4 E 5G7D4<< < ?>=<65=<O<< 6EFD5G4NFEO L5=EF5D<O 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

5>?>F=4O, ?GL<F4, >E>>4. �4 5G7D4E D4EFGF >GEF4D=<G>< < ?>?G>GEF4D=<G>< (>?N>64, 

7>?G5<>4, G5D=<>4, 5DGE=<>4). �5DE>6O5 5>?>F4 ?D54EF46?ONF =4<5>?LL<= <=F5D5E 4?O 

FGD<EF>6 6 >4G5EF65 >5L<D=OE O7>4=OE G7>4<=. 

�7>=4?L=O5 F<?O D4EF<F5?L=>EF< ?D54EF46?5=O D4EF<F5?L=>EFLN ?G7>6. 

�>=<5==O5 ?G74 L<D>>> D4E?D>EFD4=5=O ?> 55D574< ,5>E=O, �G55=O, %GE>=O, .74, >7. 

�G55=E>>5. &D46O=<EFO= ?>>D>6 >5D47>64= 7?4>4<<, 4 F4>65 D47=>FD46L5< - >E>>>=, 

>6EO=<F5=, ?>?56<F5=, ?OD55<, >4=4D55G=<>><, <OF?<>><, 55?>GE><, >?565D><, 

<4=65F>>=, F46>?7>=, >>L4GL5= ?4?>>=, MGG>>= 45D=<EF>=. �4 >D4N 74?<6=>= ?>=<O - 

>E>>>6O5 ?G74, ?D54EF46?5==O5 D47=O<< 6<44<< >E>> < E6>M4. 'G<FO64O G=<>4?L=>5 

<=>7>>5D47<5 6<4>6 ?G7>6OE D4EF5=<= �>?>7>4G<=O, F5?5E>>5D47=> <E?>?L7>64FL <E >4> 

G7>4LO ?5>4DEF65==OE D4EF5=<= 4?O E>744=<O ?D<D>4=OE D5>D54F<>==OE ?4D>>6. 

$4EF<F5?L=>EFL �>?>7>4E>>= >5?4EF< ?D54EF46?5=4 F4><<< 7DG??4<< D4EF5=<=, >4> 

?D><OE?>6O5, M=45<<><, D54><5. �4<5>?LL55 D4E?D>EFD4=5=<5 <<5NF ?D><OE?>6O5 

D4EF5=<O, ?D5645 6E57> <=>7>G<E?5==O5 6<4O 7D<5>6 < O7>4. �4?<G<5 5>74FOE 7D<5=OE < 

O7>4=OE G7>4<= - 646=O= D4>F>D ?D<6?5G5=<O FGD<EF>6.  

� 7DG??5 D54><E D4EF5=<=, 74=5E5==OE 6 �D4E=GN >=<7G $$, >F=>EOFEO 54L<4G>> 

=4EF>OM<=, =445>D>4=<> 557?<EF=O=, ?>?GL=<> >75D=O=, ?D>EFD5? 65E5==<=, 

?4?LG4F>>>D5==<> 54?F<=E><=, ?4?LG4F>>>D5==<> $GEE>64. �=>65EF6> D54><E D4EF5=<=, 

>>F>DO5 <>6=> G6<45FL =4 =5>>F>DOE >E>5> >ED4=O5<OE ?D<D>4=OE F5DD<F>D<OE >5?4EF<, 

- ?>F5=F<4? D476<F<O 745EL ?D<D>4=>-M>>?>7<G5E>>7> FGD<7<4. 

�> 44==O<, ?>?GG5==O< >F �5?4DF4<5=F4 ?5E=>7> >><??5>E4 �>?>7>4E>>= 

>5?4EF<, GG4EF>> <7OE>4=<= 6E>4<F 6 E>EF46 75<5?L ?5E=>7> D>=44 < <<55F E?54GNM55 

<5EF>?>?>65=<5: �>?>7>4E>4O >5?4EFL, &>F5<E><= D4=>=, &>F5<E>>5 GG4EF>>6>5 

?5E=<G5EF6>, >64DF4? (6O45?) 7106 (4, 5, 11, 13, 16, 48). �4 F5DD<F>D<< &>F5<E>>7> 

?5E=<G5EF64 >FEGFEF6G5F ?5E>?4D>>6O= 75?5=O= ?>OE. 

$4EF<F5?L=>EFL &>F5<E>>7> D4=>=4 ?D54EF46?5=4 ED54=5 - < N6=>-F456=O<< 

?5E4<<, >>F>DO5 74=<<4NF 50-60% F5DD<F>D<< D57<>=4. �>?>F=4O D4EF<F5?L=>EFL 

74=<<45F 7% ??>M44<.  

� &>F5<E>>< D4=>=5 ?D><7D4EF4NF E?54GNM<5 D4EF5=<O, 74=5E5==O5 6 �D4E=GN 

>=<7G $$ 3 54L<4G>> =4EF>OM<=, =445>D>4=<> 557?<EF=O=, ?4?LG4F>>>D5==<> 

54?F<=E><=, ?4?LG4F>>>D5==<> &D4G=LF5==5D4. � �D4E=GN >=<7G D4EF5=<= �>?>7>4E>>= 

>5?4EF< 6E>4OF F4><5 D4EF5=<O, >4> 7<DG>6=<> F4F4DE><=, ><7<?L=<> G5D=>??>4=O=, 

D>EO=>4 4=7?<=E>4O, F<<= ?5EG4=O=, G5<5D<F4 �>55?O, N=75D<4=<O L4D>??>4=4O < 

4DG7<5. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

$4EF<F5?L=O= ?>>D>6 >5N5>F4 ?D>5>F<D>64=<O ?D54EF46?5= >F45?L=> EF>OM<<< 

>GEF4D=<>4<< 6OE>F>= 4> 5 < < E>D=O< D47=>FD46L5<, F5==O5 ?>D>4O 45D56L56 

>FEGFEF6GNF. %4< GG4EF>> D4E?>?>65= =4 <56E5?5==>= F5DD<F>D<< 6 ?5E=>< <4EE<65 6 12 

>< >F 7. &>FL<4. 

�> D57G?LF4F4< <EE?54>64=<O, ?D>6545==>7> =4 6E5= F5DD<F>D<< GG4EF>4 6 <N=5 

2022 7>44, D54><E, <EG574NM<E < GO76<<OE 6<4>6 D4EF5=<=, 74=5E5==OE 6 �D4E=GN >=<7G, 

=5 >5=4DG65=>. 

6.7 �F5=>4 EGM5EF6GNM57> E>EF>O=<O 6<6>F=>7> <<D4 

$4G=4 �>?>7>4E>>= >5?4EF< ?D54EF46?5=4 D47=>>5D47=O<< F<?4<< < 6<44<< 

6<6>F=OE. �4<5>?55 D4E?D>EFD4=5=O ?D><OE?>6O5. � E>>F65FEF6<< E 7>E?>4EF6GNM<< 

?4=4L4DF>< >E=>6=O<< 7DG??4<< 6<6>F=OE O6?ONFEO ?5E=O5, 6>4=O5 < >>>?>6>4=O5. 

�D54EF46<F5?< E<M=OE <?5>>?<F4NM<E - ?<E<F4 (55D57>6>4, >7=56>4, D54>> G5D=>5GD4O), 

7>D=>EF4=, 6O4D4, =>D>4, D>E><4E4, 54DEG>, >G=<F4. $4E?D>EFD4=5=O 7DO7G=O - 55?>4, 

74OF-55?O>. �=>7>G<E?5==O F4>65 >>?OF=O5 <?5>>?<F4NM<5, F<?<G=O< ?D54EF46<F5?5< 

>>F>DOE O6?O5FEO ?>EL.  

� D57G?LF4F5 4=FD>?>75==>7> 6>745=EF6<O =4 6<6>F=O= <<D 44==>= >5?4EF< 

E<?L=55 6E57> ?>EFD444?< ?GL=O5 765D< < >>?OF=O5 6<6>F=O5. &5< =5 <5=55, 

G<E?5==>EFL ?>?G?OF<= =5>>F>DOE 6<4>6 6<6>F=OE 6 =4EF>OM55 6D5<O 6>EEF4=>6<?4EL, 

G4EFL 6<4>6 <=FD>4GF<D>64=4 < D54>>?<<4F<7<D>64=4: D5G=>= 5>5D, >=44FD4, 

4<5D<>4=E>4O 5=>F>6<4=4O E>54>4, >454=, 7G5D. � &>F5<E>><, %4D>6E>><, �<D<??>6E>>< 

<<5NFEO 5>5D>6O5 74>47=<><. � E6O7< E <=F5=E<6=>= E>7O=EF65==>= 45OF5?L=>EFLN 

G5?>65>4 6 F4=7G ?> ?>?O< < 6ODG5>4< ?D>=<>?< N6=O5 6<4O: 56, 74OF-DGE4>, G5D=O= 

E>DL, ?>?56>4 >5O>=>65==4O, ?5E=4O < ?>?564O <OL<. � F5?>< 6<6>F=O= <<D F<?<G5= 4?O 

F4=7<, E>FO 7=4G<F5?L=> <7<5=5= 6<5L4F5?LEF6>< G5?>65>4. 

�>?>7>4E>4O >5?4EFL - <5EF> >5<F4=<O <=>7<E 6<4>6 < 7<<GNM<E, < ?5D5?5F=OE 

?F<F. �7 E<M=OE ?F<F 6 ?5E4E 6EFD5G4NFEO E565D=O= <>E=>=>7<= >4=N>, E4DOG, OEFD55O 

?5D5?5?OF=<> < F5F5D56OF=<>, G5D=O= >>DLG=. %4D4>F5D=O 4OF?>6O5 - ?5EFDO= 5>?LL>=, 

?5EFDO= <4?O=, E54>= 4OF?O. �>?LL>5 >>?<G5EF6> ?56G<E ?D<?5F45F E N74 65E=>= - 

6LND>>6O5, 646>D>=>>6O5, <6>?74, >?5EFO. $O5G<>, 7?GE4DL, F5F5D56 - 5>D>64O 4<GL - 

E5?OFEO ?> >?GL>4< ?5E>6 < 74D4EF4NM<< 74DO<. �5?4O >GD>?4F>4, >>F>D4O 6 ?D545?4E 

>5?4EF< D4E?D>EFD4=5=4 7?46=O< >5D47>< 6 E565D=OE D4=>=4E, >5<F45F =4 >5L<D=OE 

<>E>6OE 5>?>F4E < 74DOE. �GE<, GF>< (>DO>64, E6<O7L, L<?>E6>EFL), ?OEGE< - 

6>4>??464NM4O 4<GL - 6EFD5G4NFEO ?D5<<GM5EF65==> =4 5>?>F4E, EF4D<F4E, >75D4E. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�GEF4O 7<4D>7D4D<G5E>4O E5FL >5?4EF< >5GE?>6?<645F D47=>>5D47=O= 6<4>6>= 

E>EF46 DO5. �E=>6=O5 ?D><OE?>6O5 6<4O: ?GF<==O5 - >>DNL>4, E=5F>>; 

>DG?=>G4EF<>>6O5 - ?5M, MG>4, EG44>, =4?<<; <5?>>G4EF<>>6O5 - ??>F64, >>G=L, 5DL, 

E<=5F, G5E>=L, O7L. � F5==O< ?D><OE?>6O< 6<44< >F=>EOFEO E<7, DO?GL>4. �E>5> F5==O5 

>ED4=O5<O5 6<4O - EF5D?O4L, =5?L<4, ?>E>EL, D>D5?L, ?4?<O. 

�><<<> 7DG??O ?D><OE?>6OE 6<6>F=OE =4 F5DD<F>D<< �>?>7>4E>>= >5?4EF< 

?D54EF46?5=4 7DG??4 D54><E 6<6>F=OE, 74=5E5==OE 6 �D4E=GN >=<7G $>EE<=E>>= 

$545D4F<<: 7G5D, 6OEGE>?L, 55D>GF, >D?4=-55?>E6>EF, E>>?4, G5D=>7>54O 7474D4, >474D>4 

>D4E=>7>54O, E>E>FG= G5D=>7>?>6O=, D<?<=, 5>?LL>= < <4?O= ?>4>D?<><, 55?4O 

>GD>?4F>4, E5DO= E>D>>>?GF. 

�4 F5DD<F>D<< &>F5<E>>7> <G=<F<?4?L=>7> >>DG74 6EFD5G4NFEO F4><5 6<6>F=O5, 

>4> >GD>?4F>4 55?4O, >D>=L=5? 5>?LL>=, ?>4>4<5=M<> >5O>=>65==O=, E>>?4, D<?<=, 

>>F>DO5 74=5E5=O 6 �D4E=GN >=<7G $$. 

&4>65 6 ?D545?4E D4=>=4 >5<F4NF 6<6>F=O5, 74=5E5==O5 6 �D4E=GN >=<7G 

�>?>7>4E>>=  >5?4EF<: EF5D?O4L, >?5=L E565D=O=, 7<<>D>4>> >5O>=>65==O=, L<5?56<4>4 

6<<>?>EF=4O < 4DG7<5. 

�5D5G5=L 6<4>6 6<6>F=OE, 74D57<EFD<D>64==OE =4 F5DD<F>D<< &>F5<E>>7> D4=>=4, 

< 44==O5 > ??>F=>EF< >E>F=<GL<E D5EGDE>6 D47<5M5=O 6 ?D<?>65=<< 3. 

�> 44==O< >D<F<4?L=>7> E4=F4 %>N74 >ED4=O ?F<F $>EE<< 

http://www.rbcu.ru/kotr/vologda.php, F5DD<F>D<O <7OE>4=<= =4E>4<FEO 6=5 7D4=<F 

>?NG56OE >D=<F>?>7<G5E><E F5DD<F>D<= $>EE<<. 

�=>7>>5D47<5 6<4>6 ?D><OE?>6OE 6<6>F=OE 7=4G<F5?L=> G65?<G<645F 

?D>4>?6<F5?L=>EFL ?D><OE?4 ?D< GG5F5 D47?<G=OE E57>=>6 DO54?>< < >E>FO =4 

>?D545?5==O5 6<4O 6<6>F=OE. $47=>>5D47<5 D54><E 6<6>F=OE, >5<F4NM<E =4 >E>5> 

>ED4=O5<OE ?D<D>4=OE F5DD<F>D<OE >5?4EF<, E>7445F GE?>6<O 4?O D476<F<O ?D<D>4=>-

M>>?>7<G5E>>7> FGD<7<4, 6 >E>55==>EF< >D=<F>?>7<G5E>>= =4?D46?5==>EF<.  

�> D57G?LF4F4< <EE?54>64=<O, ?D>6545==>7> =4 6E5= F5DD<F>D<< GG4EF>4 6 <N=5 

2022 7>44, D54><E, <EG574NM<E < GO76<<OE 6<4>6 6<6>F=OE, 74=5E5==OE 6 �D4E=GN 

>=<7G, =5 >5=4DG65=>. 

6.8 %6545=<O > 7>=4E >E>5>= GG6EF6<F5?L=>EF< F5DD<F>D<= > ?D54?>?4745<O< 

6>745=EF6<O<  

%>7?4E=> ?. 3.9 %� 11-102-97 7D4=<FO F5DD<F>D<< <7OE>4=<= 4>?6=O 

E>>F65FEF6>64FL 7D4=<F4< 7>=O 6>745=EF6<O ?D>5>F<DG5<>7> >5N5>F4. �D4=<FO 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

?D54?>?4745<>= 7>=O 6>745=EF6<O ?D<=OFO E>7?4E=> 7444=<N =4 <7OE>4=<O < 

FD55>64=<O< =>D<4F<6=OE 4>>G<5=F>6. 

�> ?>G65==>-D4EF<F5?L=><G E?>N 3 6 ?>?>E5 >F6>44.  

�> 6<6>F=><G <<DG 3 E GG5F>< D4>F>D4 55E?>>>=EF64. 

�>=O E >E>5O<< GE?>6<O<< <E?>?L7>64=<O F5DD<F>D<= - >ED4==O5, E4=<F4D=>-

74M<F=O5 7>=O, 7>=O >ED4=O >5N5>F>6 >G?LFGD=>7> =4E?54<O (?4<OF=<>>6 <EF>D<< < 

>G?LFGDO) =4D>4>6 $>EE<=E>>= $545D4F<< (44?55 - >5N5>FO >G?LFGD=>7> =4E?54<O), 

74M<F=O5 7>=O >5N5>F>6 >G?LFGD=>7> =4E?54<O, 6>4>>ED4==O5 7>=O, 7>=O 74F>??5=<O, 

?>4F>??5=<O, 7>=O E4=<F4D=>= >ED4=O <EF>G=<>>6 ?<FL56>7> < E>7O=EF65==>-5OF>6>7> 

6>4>E=4565=<O, 7>=O >ED4=O5<OE >5N5>F>6, ?D<4MD>4D><=4O F5DD<F>D<O, <=O5 7>=O, 

GEF4=46?<645<O5 6 E>>F65FEF6<< E 74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<< 

(�D44>EFD><F5?L=O= >>45>E $$). 

%>7?4E=> �<EL<G �<=?D<D>4O $>EE<< >F 30.04.2020 7>44 715-47/10213 «� 

?D54>EF46?5=<< <=D>D<4F<< 4?O <=65=5D=>-M>>?>7<G5E><E <7OE>4=<=», 6 >>F>D>< 

E>45D6<FEO ?5D5G5=L <G=<F<?4?L=OE >5D47>64=<=, EG5N5>F>6 $>EE<=E>>= $545D4F<<, 6 

7D4=<F4E >>F>DOE <<5NFEO ���& D545D4?L=>7> 7=4G5=<O, =4 F5DD<F>D<< �>?>7>4E>>= 

>5?4EF< D4E?>?>65=O 2 ���& D545D4?L=>7> 7=4G5=<O:  

- ��� «�4D6<=E><=», D4E?>?>65==O= =4 F5DD<F>D<< '5D5?>65F>>7> < 

�D5=F>6E>>7> D4=>=>6;  

- =4F<>=4?L=O= ?4D> «$GEE><= %565D», D4E?>?>65==O= =4 F5DD<F>D<< 

�<D<??>6E>>7> D4=>=4.  

&4><< >5D47><, D5>G?LF<6<DG5<O= GG4EF>> =5 74FD47<645F >E>5> >ED4=O5<O5 

?D<D>4=O5 F5DD<F>D<< D545D4?L=>7> 7=4G5=<O, F4> >4> D4E?>?4745FEO 6 ?D545?4E 

&>F5<E>>7> <G=<F<?4?L=>7> >>DG74.  

�> E6545=<O< �5?4DF4<5=F4 ?D<D>4=OE D5EGDE>6 < >ED4=O >>DG64NM5= ED54O 

�>?>7>4E>>= >5?4EF< F5DD<F>D<O D47<5M5=<O >5N5>F4 =5 6E>4<F 6 7D4=<FO >E>5> 

>ED4=O5<OE ?D<D>4=OE F5DD<F>D<= D57<>=4?L=>7> 7=4G5=<O, 44==O5 >5 >5N5>F4E 

D4EF<F5?L=>7> < 6<6>F=>7> <<D4, 74=5E5==O5 6 �D4E=GN >=<7G $>EE<= $545D4F<< < 

�D4E=GN �=<7G �>?>7>4E>>= >5?4EF<, =4 GG4EF>5 <7OE>4=<= >FEGFEF6GNF. 

�> 44==O< 44<<=<EFD4F<< &>F5<E>>7> <G=<F<?4?L=>7> >>DG74 75<5?L=O= 

GG4EF>>, 74=OFO= =5E4=>F<>=<D>64==>= E64?>>= >FE>4>6, =5 D4E?>?>65= 6 7D4=<F4E >E>5> 

>ED4=O5<OE ?D<D>4=OE F5DD<F>D<= <5EF=>7> 7=4G5=<O < F5DD<F>D<= FD44<F<>==>7> 

?D<D>4>?>?L7>64=<O >>D5==OE <4?>G<E?5==OE =4D>4>6 %565D4, %<5<D< < �4?L=57> 

�>EF>>4. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

� 7D4=<F4E ?D>5>F=OE D45>F ?>65DE=>EF=O5 < ?>475<=O5 <EF>G=<>< ?<FL56>7> < 

E>7O=EF65==>-5OF>6>7> 6>4>E=4565=<O >FEGFEF6GNF, 7>=O E4=<F4D=>= >ED4=O 

?>65DE=>EF=OE < ?>475<=OE <EF>G=<>>6 ?<FL56>7> < E>7O=EF65==>-5OF>6>7> 

6>4>E=4565=<O =5 GEF4=>6?5=O. 

%>7?4E=> �<EL<G '?D46?5=<O 65F5D<=4D<< E 7>EG44DEF65==>= 65F5D<=4D=>= 

<=E?5>F<5= �>?>7>4E>>= >5?4EF< 6 7>=5 6O?>?=5=<O D45>F < 6 D44<GE5 1000 < >F 

75<5?L=>7> GG4EF>4, 74=OF>7> =5E4=>F<>=<D>64==>= E64?>>= >FE>4>6, >5N5>F>6 4?O 

G=<GF>65=<O 5<>?>7<G5E><E >FE>4>6 (E>>F><>7<?L=<>>6, 5<>F5D<<G5E><E O<), 6 F>< 

G<E?5 E<5<D5O765==OE, =5 74D57<EFD<D>64=>. 'G4EF>> ?D>6545=<O D45>F =5 6E>4<F 6 

E4=<F4D=>-74M<F=O5 7>=O E>>F><>7<?L=<>>6. 

�> E6545=<O< &5DD<F>D<4?L=>7> >F45?4 '?D46?5=<O $>E?D<D>4=447>D4 ?> 

�>?>7>4E>>= >5?4EF< 6 &>F5<E>><, �45GL><=E>><, �N>E5=E>>, &4D=>7E>>< D4=>=4E 6 

?D>5>F<DG5<>= 7>=5 D45>F 6 D44<GE5 3 >< >FEGFEF6GNF 45=EF6GNM<5 >5N5>FO E 

GEF4=>6?5==O<< E4=<F4D=>-74M<F=O<< 7>=4<<. %>>F><>7<?L=<><, 5<>F5D<<G5E><5 O<O < 

4DG7<5 74E>D>=5=<O, =55?47>?>?GG=O5 ?> >E>5> >?4E=O< <=D5>F<>==O< 745>?564=<O< 6 

D44<GE5 3 >< =4 GG5F5 =5 E>EF>OF. �EF>G=<>< ?<FL56>7> 6>4>E=4565=<O E GF65D645==O<< 

7D4=<F4<< 7>= E4=<F4D=>= >ED4=O >FEGFEF6GNF.   

�> E6545=<O< $545D4?L=>7> 7>EG44DEF65==>7> 5N465F=>7> GGD5645=<O 

«'?D46?5=<5 <5?<>D4F<< 75<5?L < E5?LE>>E>7O=EF65==>7> 6>4>E=4565=<O ?> 

�>?>7>4E>>= >5?4EF<» 6 E>>F65FEF6<< E 44==O<< ?4E?>DF<74F<< <5?<>D4F<6=OE E<EF5< 

=4 F5DD<F>D<< >5N5>F4 D5>G?LF<64F<< >FEGFEF6GNF <5?<>D<D>64==O5 75<?< < 

E>>F65FEF65==> E>>DG65=<O <5?<>D4F<6=OE E<EF5<.  

�> 44==O< �5?4DF4<5=F4 ?5E=>7> >><??5>E4 �>?>7>4E>>= >5?4EF< GG4EF>> <<55F 

E?54GNM55 <5EF>?>?>65=<5 =4 75<?OE ?5E=>7> D>=44: �>?>7>4E>4O >5?4EFL, &>F5<E><= 

D4=>=, &>F5<E>>5 ?5E=<G5EF6>, &>F5<E>>5 GG4EF>>6>5 ?5E=<G5EF6>, >64DF4? (6O45?) 7106 

(4, 5, 11, 13, 16, 48). �4 F5DD<F>D<< &>F5<E>>7> ?5E=<G5EF64 ?5E>?4D>>6>7> 75?5=>7> ?>OE4 

=5F. 

%>7?4E=> �<EL<G �5?4DF4<5=F4 ?> =54D>?>?L7>64=<N ?> %565D>-�4?44=><G 

D545D4?L=><G >>DG7G, =4 >>=F<=5=F4?L=>< L5?LD5 < 6 �<D>6>< >>54=5 (%5674?=54D4) =4 

GG4EF>5 ?D><76>4EF64 D45>F, D4E?>?>65==>< 6 &>F5<E>>< <G=<F<?4?L=>< >>DG75, 

<5EF>D>645=<O ?>?57=OE <E>>?45<OE, G<E?OM<EEO =4 �>EG44DEF65==>< < 

F5DD<F>D<4?L=>< 54?4=E5 74?4E>6 ?>?57=OE <E>>?45<OE �>?>7>4E>>= >5?4EF< < 

GG<FO645<OE �>EG44DEF65==O< >444EFD>< <5EF>D>645=<O < ?D>O6?5=<= ?>?57=OE 

<E>>?45<OE (���) �>?>7>4E>>= >5?4EF<, >FEGFEF6GNF. 



41 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

37 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

%>7?4E=> E6545=<O< &5DD<F>D<4?L=>7> >F45?4 '?D46?5=<O $>E?>FD55=447>D4 ?> 

�>?>7>4E>>= >5?4EF< 6 &>F5<E>><, �45GL><=E>><, �N>E5=E>><, &4D=>7E>>< D4=>=4E 6 

?D>5>F<DG5<>= 7>=5 D45>F 6 D44<GE5 3 >< >FEGFEF6GNF 45=EF6GNM<5 >5N5>FO E 

GEF4=>6?5==O<< E4=<F4D=>-74M<F=O<< 7>=4<<.  

�4 F5DD<F>D<< ?D><76>4EF64 D45>F >5N5>F>6 >G?LFGD=>7> =4E?54<O, 6>?NG5==OE 6 

�4<=O= 7>EG44DEF65==O= D55EFD >5N5>F>6 >G?LFGD=>7> =4E?54<O =4D>4>6 $$, =5 <<55FEO, 

<EE>4O <7 %?D46>< >F �><<F5F4 ?> >ED4=5 >5N5>F>6 >G?LFGD=>7> =4E?54<O �>?>7>4E>>= 

>5?4EF<. 

6.9 %>F<4?L=>-M>>=><<G5E><5 GE?>6<O 

&>F5<E><= <G=<F<?4?L=O= >>DG7 - 44<<=<EFD4F<6=>-F5DD<F>D<4?L=4O 54<=<F4 < 

<G=<F<?4?L=>5 >5D47>64=<5 6 E>EF465 �>?>7>4E>>= >5?4EF< $>EE<=E>>= $545D4F<<. 

�4<<=<EFD4F<6=O= F5=FD - 7>D>4 &>FL<4. 

&>F5<E><= <G=<F<?4?L=O= >>DG7 6E>4<F 6 6>EF>G=GN G4EFL �>?>7>4E>>= >5?4EF<. 

�> 74=<<45<>= F5DD<F>D<< - 8,2 FOE. ><2 <?< 5,6% 6E5= ??>M44< �>?>7>4E>>= 

>5?4EF< - D4=>= O6?O5FEO FD5FL<< ED54< D4=>=>6 >5?4EF<. 

�D4=<G<F E �564GD5G5=E><<, %>>>?LE><<, %O<65=E><<, �5DE>646E><<, 

&4D=>7E><<, �N>E5=E><<, �DO7>65F><<, �45GL><=E><< >>DG74<<, 4 F4>65 E 

%>?<74?<GE><< D4=>=>< �>EFD><E>>= >5?4EF<. � E>EF46 &>F5<E>>7> <G=<F<?4?L=>7> 

>>DG74 6E>4<F 220 =4E5?U==OE ?G=>F>6, 6 F>< G<E?5 1 7>D>4E>>= < 6 E5?LE><E.  

�4<5>?LL55 7=4G5=<5 6 E6O7OE &>F5<E>>7> >>DG74 E >>DG64NM<<< F5DD<F>D<O<< 

<<5NF 2 46F>4>D>7< D57<>=4?L=>7> 7=4G5=<O: '5>L<=>4&>FL<44�<>>?LE>. 

�D>FO65==>EFL FD4EEO 4 345 ><. &>FL<4-�N>E5=<F4-�5?<><= 'EFN7. �D>FO65==>EFL 

E>EF46?O5F 240 ><. 

�> GD>6=N D476<F<O E5?LE>>E>7O=EF65==>= >FD4E?< &>F5<E><= >>DG7 74=<<45F 

?<4<DGNM<5 ?>7<F<< 6 �>?>7>4E>>= >5?4EF<. 

�E=>6=O<< >FD4E?O<< ?D><OL?5==>EF< >>DG74 O6?ONFEO ?D><76>4EF6> < 

D4E?D545?5=<5 M?5>FD>M=5D7<<, 7474 < 6>4O; ?<M564O; ?5E>747>F>6<F5?L=4O < 

45D56>?5D5D454FO64NM4O. 

�><<=<DGNM55 ?>?>65=<5 6 EFDG>FGD5 ?D><OL?5==>7> ?D><76>4EF64 &>F5<E>>7> 

>>DG74 74=<<45F ?D><76>4EF6> < D4E?D545?5=<< M?5>FD>M=5D7<<, 7474 < 6>4O. �E 4>?O 6 

>5M5< >5N5<5 >F7DG65==>= ?D>4G>F<< E>EF46?O5F 5>?55 57 %. �4==4O >FD4E?L 6 >>DG75 

?D54EF46?5=4 14 ?D54?D<OF<O<<. 

�>?O ?<M56>= ?D><OL?5==>EF< E>EF46?O5F 34,68 %. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

&>F5<E><= >>DG7 74=<<45F 7=4G<<>5 <5EF> ED54< >>DG7>6 >5?4EF< ?> =4?<G<N 

?5E>EODL56OE D5EGDE>6. �5E>747>F>6<F5?L=>= < 45D56>?5D5D454FO64NM5= 45OF5?L=>EFLN 

=4 F5DD<F>D<< >>DG74 74=<<4NFEO 80 E>7O=EF6GNM<E EG5N5>F>6, <7 =<E L5EFL 74=<<4NFEO 

?D><76>4EF6>< ?D>4G>F<< 45D56O==>7> 4><>EFD>5=<O < >><??5>FGNM<E. 

'<E?5==>EFL =4E5?5=<O D4=>=4 =4 01.01.2022 7>44 E>EF46?O5F 21667 G5?>65>4. 

�5M4O G<E?5==>EFL =4E5?5=<O 7>D>44 &>FL<4 ?> 44==O< �>?>744EF4F ?> E>EF>O=<N =4 

01.01.2020 7>44 E>EF46?O5F 9721 G5?>65>. 

�>D>4 &>FL<4 < >>DG7 <<5NF 5>74F>5 >G?LFGD=>-<EF>D<G5E>>5 =4E?54<5, 

G=<>4?L=GN 4DE<F5>FGD=GN L>>?G ED4<>6>7> 7>4G5EF64. &>FL<4 74=<<45F 6F>D>5 <5EF> 6 

$>EE<< ?> >>?<G5EF6G <G7556 =4 4GLG =4E5?5=<O. 

� &>F5<E>>< <G=<F<?4?L=>< >>DG75 FGD<7< O6?O5FEO >4=<< <7 =4?D46?5=<= 

D476<F<O M>>=><<><. �4 F5DD<F>D<< >>DG74 =4E>4<FEO 44 ?4<OF=<>4, 6>?NG5==OE 6 

54<=O= D55EFD >G?LFGD=>7> =4E?54<O (?4<OF=<>>6 <EF>D<< < >G?LFGDO) =4D>4>6 

$>EE<=E>>= $545D4F<<. � F>< G<E?5 12 <7 =<E <<5NF EF4FGE D545D4?L=>7> 7=4G5=<O. 

�=>7>>5D47<5 >G?LFGD=OE D5EGDE>6 >?D545?O5F ?D<6?5>4F5?L=>EFL F5DD<F>D<< 4?O 

?>E5M5=<O 55 FGD<EF4<<. 

6.10 �F5=>4 EGM5EF6GNM57> E>EF>O=<O D<7<G5E><E D4>F>D>6 

�?4E=O<< 4?O G5?>65>4 <>7GF 5OFL F4><5 D<7<G5E><5 475=FO, >4> GD>65=L LG<4, 

6<5D4F<O, M?5>FD><47=<F=O5 >>?554=<O, <>=<7<DGNM55 <7GG5=<5 < 4DG7<5. �<5==> 

?>MF><G ?D< D47D45>F>5 ?D>5>F>6 =4 >E6>5==OE F5DD<F>D<OE ?D>6>4OFEO <EE?54>64=<O 

D<7<G5E><E ?>?5=, 6 E>45 >>F>DOE D<>E<DGNFEO >E=>6=O5 <EF>G=<>< 6D54=OE 

D<7<G5E><E 6>745=EF6<=, <E <=F5=E<6=>EFL < 7>=O 4<E>><D>DF4. 

�E?OF4=<O ?> <7<5D5=<N GD>6=5= =4?DO65==>EF< M?5>FD<G5E>>7> < <47=<F=>7> 

?>?5= ?D><OL?5==>= G4EF>FO 50 �F, GD>6=5= 76G>4 < 6<5D4F<= ?D>6>4<?<EL 

<E?OF4F5?L=>= ?45>D4F>D<5= ��� «�?7>D<F<». 

�D>F>>>? <E?OF4=<= GD>6=5= =4?DO65==>EF< M?5>FD<G5E>>7> < <47=<F=>7> ?>?5= E 

G4EF>F>= 50 �F F5DD<F>D<< EFD><F5?LEF64 ?D<6545= 6 F45?<F5 6.10.  

&45?<F4 6.10 3 �D>F>>>? GD>6=5= =4?DO65==>EF< M?5>FD<G5E>>7> < <47=<F=>7> ?>?5= 

7 
?/? 

�5EF> ?D>6545=<O 
<7<5D5=<= 

$
4E

EF
>O

=<
5 

>F
 

<E
F>

G=
<>

4,
 <

 

�
O

E>
F4

 >
F 

?>
65

DE
=>

EF
< 

75
<

?<
, <

 

�4?DO65==>EFL M?5>FD<G5E>>7> < <47=<F=>7> 
?>?5= E G4EF>F>= 50 �F, �/< 

�7<5D5=<5 
(ED54=55 7=4G5=<5) 

��' 

1 �>=FD>?L=4O F>G>4 71 - 1,8 <50* 1000 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

1,5 <50 1000 
0,5 <50 1000 

�4>E<<4?L=>5 7=4G5=<5 E D4EL<D5==>= 
=5>?D545?5==>EFL D=0,95, ?D< >=2 

<50 1000 

2 �>=FD>?L=4O F>G>4 7 2 - 1,8 <50* 1000 
1,5 <50 1000 
0,5 <50 1000 

�4>E<<4?L=>5 7=4G5=<5 E D4EL<D5==>= 
=5>?D545?5==>EFL D=0,95, ?D< >=2 

<50 1000 

3 �>=FD>?L=4O F>G>4 7 3 - 1,8 <50* 1000 
1,5 <50 1000 
0,5 <50 1000 

�4>E<<4?L=>5 7=4G5=<5 E D4EL<D5==>= 
=5>?D545?5==>EFL D=0,95, ?D< >=2 

<50 1000 

* - =<6=<= ?D545? GG6EF6<F5?L=>EF< <7<5D<F5?O ?4D4<5FD>6 M?5>FD<G5E>>7> < 
<47=<F=>7> ?>?5= FD5E>><?>=5=F=O= «�/� <5FD». �>4<D<>4F<O «50 �F» 

&4><< >5D47><, ?> D57G?LF4F4< =4FGD=OE 74<5D>6 GEF4=>6?5=>, GF> <7<5D5==O5 

GD>6=< =4?DO65==>EF< M?5>FD<G5E>>7> < <47=<F=>7> ?>?5= =4 F5DD<F>D<< >5N5>F4 =5 

?D56OL4NF ?D545?L=>-4>?GEF<<O5 7=4G5=<O ?> %4=�<= 1.2.3685321 «�<7<5=<G5E><5 

=>D<4F<6O < FD55>64=<O > >55E?5G5=<N 557>?4E=>EF< < (<?<) 5576D54=>EF< 4?O G5?>65>4 

D4>F>D>6 ED54O >5<F4=<O». 

$57G?LF4FO <7<5D5=<= GD>6=5= 76G>4 < 6<5D4F<= ?D54EF46?5=O 6 F45?<F4E 6.11 < 

6.12. 

&45?<F4 6.11 3 $57G?LF4FO <7<5D5=<= GD>6=5= 76G>4 
7 
?/? 

�5EF> ?D>6545=<O 
<7<5D5=<= 

->6<64?5=F=O= GD>65=L 
76G>4, 4�� 

�4>E<<4?L=O= GD>65=L 
76G>4, 4�� 

�7<5D5=<5 E 
GG5F>< 

?>7D5L=>EF< 

��' �7<5D5=<5 E 
GG5F>< 

?>7D5L=>EF< 

��' 

1 �>=FD>?L=4O F>G>4 7 1 43,0±0,7 - 50,3±0,7 - 
2 �>=FD>?L=4O F>G>4 7 2 40,7±0,7 - 56,2±0,7 - 
3 �>=FD>?L=4O F>G>4 7 3 49,4±0,7 - 55,8±0,7 - 
4 �>=FD>?L=4O F>G>4 7 4 45,5±0,7 - 51,1±0,7 - 
5 �>=FD>?L=4O F>G>4 7 5 49,8±0,7 - 55,3±0,7 - 

&45?<F4 6.12 3 $57G?LF4FO <7<5D5=<= GD>6=5= 6<5D4F<= 
7 

 ?/? 
�5EF> ?D>6545=<O <7<5D5=<= �EL <7<5D5=<O %D54=5>644D4F<G=>5 7=4G5=<5 

>>DD5>F<D>64==>7> 6<5D>GE>>D5=<O, 
4� 

�7<5D5=<5 E GG5F>< 
?>7D5L=>EF< 

��' 

1 �>=FD>?L=4O F>G>4 71. �EL X <62,0* 72 

�EL Y <62,0 72 

�EL Z <62,0 72 

2 �>=FD>?L=4O F>G>4 72. �EL X <62,0 72 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

 
 

�EL Y <62,0 72 

�EL Z <62,0 72 

3 
 
 

�>=FD>?L=4O F>G>4 73. �EL X <62,0 72 

�EL Y <62,0 72 

�EL Z <62,0 72 

4 
 
 

�>=FD>?L=4O F>G>4 74. �EL X <62,0 72 

�EL Y <62,0 72 

�EL Z <62,0 72 

5 
 
 

�>=FD>?L=4O F>G>4 75. �EL X <62,0 72 

�EL Y <62,0 72 

�EL Z <62,0 72 

*- =>D<<D>64=<5 ?D><76545=> 4?O 6<?OE ?><5M5=<= E>7?4E=> ?. 4.76 %� 11-102-97 
«�=65=5D=>-M>>?>7<G5E><5 <7OE>4=<O 4?O EFD><F5?LEF64». 

�7<5D5==O5 M>6<64?5=F=O5 GD>6=< LG<4 =4 F5DD<F>D<< 6<?>= 74EFD>=><, =5 

?D56OL4NF 4>?GEF<<O5 GD>6=<. �7<5D5==O5 <4>E<<4?L=O5 GD>6=< LG<4 =4 F5DD<F>D<< 

6<?>= 74EFD>=>< =5 ?D56OL4NF 4>?GEF<<O5 GD>6=<. �7<5D5==O5 M>6<64?5=F=O5 

>>DD5>F<D>64==O5 GD>6=< 6<5D>GE>>D5=<O =5 ?D56OL4NF 4>?GEF<<O5 GD>6=<. 

� D57G?LF4F5 ?D>6545==OE <EE?54>64=<= < 74<5D>6 <>6=> E45?4FL E?54GNM<5 

6O6>4O: 

- <7<5D5==O5 M>6<64?5=F=O5 GD>6=< LG<4 =4 F5DD<F>D<< 75<5?L=>7> GG4EF>4 =5 

?D56OL4NF 4>?GEF<<O5 GD>6=<. 

-   <7<5D5==O5 <4>E<<4?L=O5 GD>6=< LG<4 =4 F5DD<F>D<< 75<5?L=>7> GG4EF>4 =5 

?D56OL4NF 4>?GEF<<O5 GD>6=<. 

- <7<5D5==O5 M>6<64?5=F=O5 >>DD5>F<D>64==O5 GD>6=< 6<5D>GE>>D5=<O =5 

?D56OL4NF 4>?GEF<<O5 GD>6=<.  

- <7<5D5==O5 GD>6=< =4?DO65==>EF< M?5>FD<G5E>>7> < <47=<F=>7> ?>?5= =4 

F5DD<F>D<< >5N5>F4 =5 ?D56OL4NF ?D545?L=>-4>?GEF<<O5 7=4G5=<O. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

7 �&���� ������%&��/ �� ��$'��.-'. %$��' ����'����� 

%��/�%&������ � ���� ��/&��,��%&�, � &�� '�%�� �&���� 

��%&���$��%&� �$������$'��/% ��%���%&��� ����'����� 

��/&��,��%&� 

7.1 �F5=>4 6>745=EF6<O =4 4F<>ED5D=O= 6>74GE 

�>4 747DO7=5=<5< 4F<>ED5D=>7> 6>74GE4 ?>4D47G<5645FEO <7<5=5=<5 57> E>EF464 

?D< ?>EFG??5=<< >FD45>F4==OE 747>6 6=GFD5==57> E7>D4=<O: >>E<44 (NO) < 4<>>E<44 47>F4 

(NO2), E5DO 4<>>E<44 (SO2), G7?5D>44 >>E<44 (%�), E46<, E6<=F4, 55=7(4)?<D5=4 < 

G7?56>4>D>4>6.   

� ?D>F5EE5 ?D>6545=<O F5E=<G5E>>7> < 5<>?>7<G5E>>7> MF4?>6 D5>G?LF<64F<< 

>5N5>F4 =4 4F<>ED5DG >>47O64NFEO E?54GNM<5 6<4O 6>745=EF6<O:  

÷ E<<<G5E>>5 747DO7=5=<5 4F<>ED5DO - <EF>G=<><: 6OE?>?=O5 FDG5O 4>D>6=>= 

F5E=<><, ?5D5EO?>4 EO?GG<E <4F5D<4?>6;  

÷ 4>GEF<G5E>>5 747DO7=5=<5 4F<>ED5DO - >5D47>64=<5 LG<4 6 ?5D<>4O 

EFD><F5?LEF64 >5N5>F4 D47<5M5=<O >FE>4>6 < 57> M>E??G4F4F<<;  

÷ F5??>6>5 747DO7=5=<5 4F<>ED5DO - 6O5D>E4 6OE>>>F5<?5D4FGD=OE 747>-6>74GL=OE 

E<5E5= (��%) 6 ?5D<>4O D5>G?LF<64F<< >5N5>F4.  �4=4>> GG5F 44==>7> 6<44 6>745=EF6<O =5 

?D><76>4<FEO 6 E6O7< E >F=>E<F5?L=> <4?O<< >5N5<4<< 6O45?5=<O ��% =5 E?>E>5=O<< 

>>474FL >4G5EF65==>7> < >MGF<<>7> <7<5=5=<O F5??>6>7> E>EF>O=<O ?D<75<=>7> E?>O 6>74GE4 

6 D4=>=5 D4E?>?>65=<O >5N5>F4, 4 F4>65 66<4G >FEGFEF6<O =>D<4F<6=> 3 <5F>4<G5E>>= 547O 

?> D4EG5FG &��. 

�EF>G=<>4<< 747DO7=5=<O 4F<>ED5D=>7> 6>74GE4 (44?55 3 ���) O6?ONFEO: 

&�%��'�%��� -&�� $��'�,&���&��  

$5>G?LF<6<DG5<O= >5N5>F D47<5M5=<O >FE>4>6:  

1. �FE>4O D47<5M5=O =4 75<5?L=>< GG4EF>5 E >444EFD>6O< =><5D>< 

35:14:0106018:3.  �5M4O ??>M44L >5N5>F4, 74=OF>7> >FE>44<< ?D><76>4EF64 < 

?>FD55?5=<O, E>EF46?O5F 4,5 74. 'G4EF>>, =4 >>F>D>< D4E?>?474NFEO >FE>4O (E64?L=>5 

F5?>), ?D54EF46?O5F E>5>= =5?D46<?L=GN 75><5FD<G5E>GN D<7GDG 6 6<45 5G>6O «�». � 

?D>F5EE5 5<>F5D<<G5E>>7> D47?>65=<O >D74=<G5E>>= E>EF46?ONM5= >FE>4>6, ?D< MF>< 6 

4F<>ED5D=O= 6>74GE 6O45?ONFEO F4><5 747DO7=ONM<5 65M5EF64, >4> 4<>>E<4 47>F4, >>E<4 

G7?5D>44, D5=>?, 4<<<4>, E5D>6>4>D>4, F>?G>?, >E<?>?, MF<?55=7>?, D>D<4?L457<4 < <5F4= 

3 <EF>G=<> 6O5D>E4 7 6501. 

2. �<75?L=4O 75=5D4F>D=4O GEF4=>6>4. �?O M?5>FD>E=4565=<O 5OF>6OE ?><5M5=<= 

<E?>?L7G5FEO <>5<?L=O= <EF>G=<> ?<F4=<O 3 75=5D4F>D, <4>E<<4?L=>= <>M=>EFLN 25 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

>�F. �D< 57> D45>F5 6 4F<>ED5D=O= 6>74GE 6O45?ONFEO 65M5EF64: 4<>>E<4 47>F4, >>E<4 

47>F4, G7?5D>4 (E464), E5D4 4<>>E<4, G7?5D>44 >>E<4, 55=7(4)?<D5=, D>D<4?L457<4, >5D>E<= 

3 <EF>G=<> 6O5D>E4 75501. 

3. �5<?O=O5 D45>FO (D47D45>F>4 7DG=F4, FD4=E?>DF<D>6>4 7DG=F4, ??4=<D>6>4 

?>65DE=>EF< GG4EF>4, G>?44>4 75><5<5D4=O). �D< ?D>7D565, 46<65=<< < E>?>EF>< E>45 

46F>FD4=E?>DF4, D45>F4NM57> =4 4<75?L=>< F>??<65, 6 4F<>ED5DG 6O45?ONFEO E?54GNM<5 

65M5EF64: 4<>>E<4 47>F4, >>E<4 47>F4, G7?5D>4 (E464), E5D4 4<>>E<4, G7?5D>44 >>E<4, 

55=7<=, >5D>E<= - <EF>G=<> 6O5D>E4 7 6502. 

4. %64D>G=O5 D45>FO ?> EL<6>5 75><5<5D4=O. �D< E64D>5 L6>6 6 4F<>ED5DG 

6O45?ONFEO E?54GNM<5 65M5EF64: G7?5D>44 >>E<4 < E?>DMF5= 3 <EF>G=<> 6O5D>E4 

76503. 

5. �5D5EO?>4 EO?GG<E <4F5D<4?>6 ?D< 6O5<>5, ?5D5<5M5=<<, ED4=5=<< < 

??4=<D>6>5 ?>65DE=>EF< F5DD<>>=4. �D< D477DG7>5 < ?5D5<5M5=<< ?5E>4 ED54=5= 

>DG?=>EF<, ��% < M55=O 6 4F<>ED5D=O= 6>74GE 6O45?ONFEO ?O?L =5>D74=<G5E>4O >70% 

SiO2 < 70-20% SiO2 3 <EF>G=<> 6O5D>E4 76504. 

6. �=GFD5==<= ?D>574. �D< D45>F5 F5E=<>< =4 F5DD<F>D<< ?>?<7>=4, 4 F4>65 ?D< 

6N5745 < 6O5745 E> EF>O=>< 6 4F<>ED5D=O= 6>74GE 6O45?ONFEO 4<>>E<4 47>F4, >>E<4 47>F4, 

G7?5D>4 (E464), E5D4 4<>>E<4, G7?5D>44 >>E<4, >5D>E<= - <EF>G=<> 6O5D>E4 76505. 

�������'�%��� -&�� $��'�,&���&��  

1. $5>G?LF<6<DG5<O= >5N5>F D47<5M5=<O >FE>4>6 - <EF>G=<> 6O5D>E4 76501. 

2. $45>F4 E?5F.F5E=<><. �E=>6=O<< <EF>G=<>4<< 6>745=EF6<O O6?ONFEO 

EFD><F5?L=O5 <4L<=O < <5E4=<7<O (?>?<6><>5G=4O <4L<=4, FD4>F>D E =465E=O< 

>5>DG4>64=<5<) 3 <EF>G=<> 6O5D>E4 76506. 

��%&$��'�,&���&����/� ��$��� 

1. $5>G?LF<6<DG5<O= >5N5>F D47<5M5=<O >FE>4>6 - <EF>G=<> 6O5D>E4 76501. 

�F5=>4 6>745=EF6<O =4 4F<>ED5D=O= 6>74GE 6 ?5D<>4 D5>G?LF<64F<< 

�D>4>?6<F5?L=>EFL ?5D<>44 %�$ E>7?4E=> D4745?G «�D>5>F >D74=<74F<< 

EFD><F5?LEF64» E>EF46?O5F 90 E<5=, D45>F4 6545FEO 6 >4=G E<5=G (8 G4E>6 6 45=L).  

'>474==>5 6OL5 6>745=EF6<5 =>E<F ?DO<>= E4D4>F5D < ?D>O6?O5FEO 

=5?>ED54EF65==> 6 <><5=F 6>745=EF6<O =4 >>DG64NMGN ED54G.  

�64D<==O5 < 74??>6O5 6O5D>EO. �D< D57?4<5=F=>= D45>F5 6>745=EF6<5 =4 

E>EF46?ONM<5 >>DG64NM5= ED54O =5 ?D56OL45F 4>?GEF<<>7> 7=4G5=<O. $57?4<5=F=4O 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

D45>F4 >5N5>F4 D5>G?LF<64F<< =5 ?D54GE<4FD<645F =4?<G<5 464D<==OE < 74??>6OE 

6O5D>E>6. 

� ?D>F5EE5 ?D>6545=<O D45>F ?5D<>4<G5E>< 5G4GF 7445=EF6>64=O D47?<G=O5 

<4L<=O < <5E4=<7<O, F<?O < <4D>< >>F>DOE <>7GF <7<5=OFLEO 6 746<E<<>EF< >F =4?<G<O 

<E G EFD><F5?L=>= >D74=<74F<<. �5D5G5=L 46F>FD4=E?>DF=OE ED54EF6 < EFD><F5?L=>= 

F5E=<><, <E?>?L7G5<>= ?D< 6O?>?=5=<< EFD><F5?L=>-<>=F46=OE, ?D<6545= 6 F45?<F5 7.1. 

&45?<F4 7.1 3 �5D5G5=L EFD><F5?L=OE <4L<= < <5E4=<7<>6 
7 
?/? 

�4<<5=>64=<5 �4D>4 
�>?-

6> 
�D<<5G4=<5 

1 ->E>464F>D �&-14 1 $47D45>F>4 >>F?>64=>6 
�>7DG7>4 7DG=F4 

2 �G?L4>75D &-130 1 �5DF<>4?L=4O ??4=<D>6>4 
3 %4<>E64? ����� 65115 2 �>EF46>4 EO?GG<E 

<=5DF=OE <4F5D<4?>6 < 
7DG=F4 

4 �DG=F>6O= >4F>> BOMAG BW 219 PD-4 2 '??>F=5=<5 &�� < 7DG=F4 
5 �4EF>6O= 46F>5GE ��� 33088 2 �>EF46>4 D45>G<E 
6 �<75?L 75=5D4F>D=4O 

GEF4=>6>4 
��-25%-230-1$�11 1 -?5>FD>E=4565=<5 

 

'G<FO64O 6<4O ?D>6>4<<OE D45>F =4 F5E=<G5E>>< MF4?5, =4 >E=>64=<< 

45=EF6GNM<E GF65D645==OE <5F>4<> ?> >?D545?5=<N 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 

4F<>ED5DG, 5O?< ?D>6545=O D4EG5FO ?> >?D545?5=<N >>?<G5EF65==OE ?>>474F5?5= 

6O5D>E>6 747DO7=ONM<E 65M5EF6 =4 ?5D<>4 D45>F. 

�=F5=E<6=>EF< < GD>6=< >464>7> 6<44 6>745=EF6<O >F5=5=O 4?O =4<5>?55 

=55?47>?D<OF=OE GE?>6<=, F> 5EFL ?> <4>E<<G<G. 

�EF>G=<>>< 747DO7=5=<O 4F<>ED5D=>7> 6>74GE4 >F >5N5>F4 D5>G?LF<64F<< 

(<EF>G=<> 6O5D>E4 7 6501) O6?O5FEO 5<>747, >>F>DO= 6O45?O5FEO <7 E64?>G=>7> F5?4 < 

>5D47G5FEO 6 F>?M5 >FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O, 74E>D>=5==OE =4 44==>< 

GG4EF>5.  

�>4 6>745=EF6<5< <<>D>D?>DO ?D><EE>4<F 5<>F5D<<G5E><= 4=4MD>5=O= ?D>F5EE 

D4E?444 >D74=<G5E>>= E>EF46?ONM5= >FE>4>6. �>=5G=O< ?D>4G>F>< MF>7> ?D>F5EE4 

E?G6<F 5<>747, >E=>6=GN >5NU<=GN <4EEG >>F>D>7> E>EF46?ONF <5F4= < 4<>>E<4 

G7?5D>44. �><<<> MF>7>, =4DO4G E =4764==O<< >><?>=5=F4<< 5<>747 E>45D6<F ?4DO 6>4O, 

>>E<4 G7?5D>44, >>E<4O 47>F4, 4<<<4>, G7?56>4>D>4O, E5D>6>4>D>4, D5=>? < 6 

=57=4G<F5?L=OE >>?<G5EF64E 4DG7<5 ?D<<5E<, >5?444NM<5 6D54=O< 4?O 74>D>6LO 

G5?>65>4, 4 F4>65 >>DG64NM5= ED54O 6>745=EF6<5<.  

&4>, >>?<G5EF65==O= < >4G5EF65==O= E>EF46 5<>7474 746<E<F >F <=>7<E D4>F>D>6, 6 

F>< G<E?5, >F >?<<4F<G5E><E < 75>?>7<G5E><E GE?>6<= <5EF4 D4E?>?>65=<O >5N5>F4, 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

<>DD>?>7<G5E>>7> < E<<<G5E>>7> E>EF464 746575==OE >FE>4>6, GE?>6<= E>?44<D>64=<O, 

6?46=>EF< >FE>4>6 < 4D. D4>F>D>6.  

� =4G4?L=O= ?5D<>4 (>>>?> 7>44) ?D>F5EE D47?>65=<O >FE>4>6 =>E<F E4D4>F5D <E 

>><E?5=<O, ?D><EE>4OM57> 6 65DE=<E E?>OE >FE>4>6, 74 EG5F ><E?>D>44 6>74GE4, 

E>45D64M57>EO 6 ?GEF>F4E < ?D>=<>4NM57> <7 4F<>ED5DO. �4?55 ?> <5D5 5EF5EF65==>7> < 

<5E4=<G5E>>7> G??>F=5=<O >FE>4>6 < <7>?<D>64=<O <E 7DG=F>< GE<?<64NFEO 4=4MD>5=O5 

?D>F5EEO E >5D47>64=<5< 5<>7474, O6?ONM57>EO >>=5G=O< ?D>4G>F>< 5<>F5D<<G5E>>7> 

4=4MD>5=>7> D4E?444 >D74=<G5E>>= E>EF46?ONM5= >FE>4>6 ?>4 6>745=EF6<5< <<>D>D?>DO. 

�<>747 G5D57 F>?MG >FE>4>6 < <7>?<DGNM<E E?>56 6O45?O5FEO 6 4F<>ED5DG, 747DO7=OO 55. 

�E?< GE?>6<O E>?44<D>64=<O =5 <7<5=ONFEO, ?D>F5EE 4=4MD>5=>7> D47?>65=<O 

EF45<?<7<DG5FEO E ?>EF>O==O< ?> G45?L=><G >5N5<G 6O45?5=<5< 5<>7474 ?D4>F<G5E>< 

>4=>7> 747>6>7> E>EF464 (?D< EF45<?L=>EF< <>DD>?>7<G5E>>7> E>EF464 >FE>4>6).  

%>>D>EFL 75=5D<D>64=<O E64?>G=>7> 7474 <5=O5FEO =4 ?D>FO65=<< ?5D<>44 

M>E??G4F4F<< ?>?<7>=4 < 746<E<F >F F<?4 >FE>4>6, G4EF>FO <E ?>EFG??5=<O, 7?G5<=O 

?>?<7>=4, E>45D64=<O 6?47<, E?56<64=<O/??>F=>EF<, pH, F5<?5D4FGDO < ED>>4 E <><5=F4 

?>EFG??5=<O.  

$47?<G4NF ?OFL D47 ?D>F5EE4 D4E?444 >D74=<G5E>>= E>EF46?ONM5= F6UD4OE 

>FE>4>6 =4 ?>?<7>=4E:  

1-O D474 3 4MD>5=>5 D47?>65=<5;  

2-O D474 3 4=4MD>5=>5 D47?>65=<5 557 6O45?5=<O <5F4=4 (><E?>5 5D>65=<5);  

3-O D474 3 4=4MD>5=>5 D47?>65=<5 E =5?>EF>O==O< 6O45?5=<5< <5F4=4 (E<5L4==>5 

5D>65=<5);  

4-O D474 3 4=4MD>5=>5 D47?>65=<5 E ?>EF>O==O< 6O45?5=<5< <5F4=4;  

5-O D474 3 74FGE4=<5 4=4MD>5=OE ?D>F5EE>6.  

�5D64O < 6F>D4O D47O <<5NF <5EF> 6 ?5D6O5 20 3 40 4=5= E <><5=F4 G>?44>< 

>FE>4>6, ?D>4>?6<F5?L=>EFL ?D>F5>4=<O FD5FL5= D47O >>>?> 700 4=5=. �?<F5?L=>EFL 

FD5FL5= <  G5F65DF>= D47O >?D545?O5FEO <5EF=O<< >?<<4F<G5E><<< GE?>6<O<< < 4?O 

D47?<G=OE D57<>=>6 $$ >>?55?5FEO 6 <=F5D64?5 >F 10 (=4 N75) 4> 50 ?5F (=4 E565D5), 5E?< 

GE?>6<O E>?44<D>64=<O =5 <7<5=ONFEO.  

�4 ?5D<>4 4=4MD>5=>7> D47?>65=<O >FE>4>6 E ?>EF>O==O< 6O45?5=<5< <5F4=4 < 

<4>E<<4?L=O< 6OE>4>< 5<>7474 75=5D<DG5FEO >>>?> 80 % >F >5M57> >>?<G5EF64 5<>7474. 

�EF4?L=O5 20 % ?D<E>4OFEO =4 ?5D6O5 FD< < >>=5G=GN D47O, 6 ?5D<>4O >>F>DOE 6 

>5D47>64=<< ?D>4G>F>6 D47?>65=<O ?D<=<<4NF GG4EF<5 F>?L>> G4EFL =4E>4OM<EEO =4 

?>?<7>=5 >FE>4>6 (65DE=<5 E?>< >FE>4>6 < <54?5==> D47?4745<4O <<>D>>D74=<7<4<< 

G4EFL >D74=<><).  
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�>?<G5EF65==O= < >4G5EF65==O= E>EF46 6O5D>E>6, ?D<E>4OM<EEO =4 MF< D47O, 

746<E<F >F E>EF464 >FE>4>6, >?D545?O5<>7> ?D< >5E?54>64=<< F>7> <?< <=>7> >>=>D5F=>7> 

?>?<7>=4.  

�>MF><G D4EGUF 6O5D>E>6 5<>7474 F5?5E>>5D47=> ?D>6>4<FL 4?O GE?>6<= 

EF45<?<7<D>64==>7> ?D>F5EE4 D47?>65=<O >FE>4>6 ?D< <4>E<<4?L=>< 6OE>45 5<>7474 

(G5F65DF4O D474) E GG5F>< F>7>, GF> EF45<?<74F<O ?D>F5EE4 747>6O45?5=<O =4EFG?45F 6 

ED54=5< G5D57 464 7>44 ?>E?5 74E>D>=5=<O >FE>4>6.  

�D< 4=4?<74E >F>5D4==OE ?D>5 5<>7474 =5 ?D54EF46?O5FEO 6>7<>6=O< 

4<DD5D5=F<D>64FL, >4>4O G4EFL <7 >5M5= >?D545?O5<>= >>=F5=FD4F<< F>7> <?< <=>7> 

>><?>=5=F4 E>7445FEO ?D< E<5L4==>< 5D>65=<<, 4 >4>4O 3 ?D< 4=4MD>5=>< D47?>65=<< E 

?>EF>O==O< 6O45?5=<5< <5F4=4. �<>747 >5D47G5FEO =5D46=><5D=> 6 746<E<<>EF< >F 

6D5<5=< 7>44. 

�4 >>?<G5EF65==GN < >4G5EF65==GN E4D4>F5D<EF<>G 6O5D>E>6 747DO7=ONM<E 

65M5EF6 E ?>?<7>=4 6?<O5F 5>?LL>5 >>?<G5EF6> D4>F>D>6, ED54< >>F>DOE: 

- >?<<4F<G5E><5 GE?>6<O;  

- D45>G4O (4>F<6=4O) ??>M44L >5N5>F4;  

- ED>>< M>E??G4F4F<< >5N5>F4;  

- >>?<G5EF6> 74E>D>=5==OE >FE>4>6;  

- <>M=>EFL E?>O E>?44<D>64==OE >FE>4>6;  

- <>DD>?>7<G5E><= E>EF46 746575==OE >FE>4>6;  

- 6?46=>EFL >FE>4>6;  

- E>45D64=<5 >D74=<G5E>>= E>EF46?ONM5= 6 >FE>44E;  

- E>45D64=<5 6<D>?>4>5=OE, G7?56>4>?>4>5=OE < 55?>>6OE 65M5EF6 6 >D74=<>5 

>FE>4>6;  

- F5E=>?>7<O 74E>D>=5=<O >FE>4>6;  

%?54>64F5?L=>, >?D545?<FL E>EF46 < >>?<G5EF6> 6O45?O5<>7> 5<>7474 6>7<>6=> 

F>?L>> ?GF5< ?D>6545=<O 6E5E =5>5E>4<<OE <7OE>4=<= < <EE?54>64=<= G65 

ED>D<<D>64==>7> F5?4 ?>?<7>=4.  

�4 D4EE<4FD<645<>< >5N5>F5 E64?>G=>5 F5?> ?D54EF46?5=> >FE>44<<, 

=4>4??<645<O<< 6 F5G5=<5 1984 - 2019 7>4>6. � >E=>6=>= <4EE5 =4 >5N5>F5 74E>D>=5=O 

>FE>4O IV < V  >?4EE>6 >?4E=>EF<. 

&45?<F4 7.2 - �5N5<O <4>E<<4?L=>-D47>6OE < 64?>6OE 6O5D>E>6 >F E64?>< &�� 

�>4 
6-64 

�4764=<5 
65M5EF64 

�4>E. 6O5D>E 
(Mi, 7/E) 

�4?>6O= 6O5D>E 
(Gi, F/7>4) 

0301 �7>F4 4<>>E<4 (�7>F (IV) >>E<4) 0.0133020968 0.25546165 
0303 �<<<4> 0.0795426208 1.52758544 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

0304 �7>F (II) >>E<4 (�7>F4 >>E<4) 0.0021615907 0.04151252 
0330 %5D4 4<>>E<4-�=7<4D<4 E5D=<EFO= 0.0104878242 0.20141463 
0333 �<7<4D>EG?LD<4 (%5D>6>4>D>4) 0.0038941124 0.07478493 
0337 '7?5D>4 >>E<4 0.0376032693 0.72215632 
0410 �5F4= 7.8946319894 151.61337096 
0616 �<<5F<?55=7>? (�E<?>?) 0.0660565690 1.26859100 
0621 �5F<?55=7>? (&>?G>?) 0.1078525789 2.07126730 
0627 -F<?55=7>? 0.0142266499 0.27321734 
1325 $>D<4?L457<4 0.0143819365 0.27619956 

� ?5D<>4 D5>G?LF<64F<< <E?>?L7G5FEO 4<75?L 75=5D4F>D=4O GEF4=>6>4 ��-25%-230-

1$�11 (<EF>G=<> 6O5D>E4 75501) <>M=>EFLN 25 >�F. �E=>6=O< <EF>G=<>>< 

747DO7=5=<O 4F<>ED5D=>7> 6>74GE4 O6?O5FEO 4O<>64O FDG54 4<75?L=>7> 75=5D4F>D4.  

$4EG5F 6O45?5=<= 747DO7=ONM<E 65M5EF6 6O?>?=5= 6 ?D>7D4<<5 «%F4F<>=4D=O5 

4<75?L=O5 GEF4=>6><» (>><?4=<O «-�� F5=FD») E>>F65FEF6<< E «�5F>4<>>= D4EG5F4 

6O45?5=<= 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG >F EF4F<>=4D=OE 4<75?L=OE GEF4=>6>>. 

%�5, 2001». $57G?LF4FO D4EG5F4 ?D<6545=O 6 F45?<F5 7.3. 

&45?<F4 7.3 - %4D4>F5D<EF<>4 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG >F D45>FO 
4<75?L=>= 75=5D4F>D=>= GEF4=>6>< 

�47DO7=ONM55 65M5EF6> �4>E<<4?L=> 
D47>6O= 6O5D>E, 7/E 

�>4>6>= 6O5D>E, 
F/7>4 >>4 �4<<5=>64=<5 

301 �7>F4 4<>>E<4 (�7>F (IV) >>E<4) 0,0572222 0,0002133 
304 �7>F (II) >>E<4 (�7>F4 >>E<4) 0,0092986 0,0000347 
328 '7?5D>4 (%464) 0,0048611 0,0000186 
330 %5D4 4<>>E<4 (�=7<4D<4 E5D=<EFO=) 0,0076389 0,0000279 
337 '7?5D>4 >>E<4 0,05 0,000186 
703 �5=7/4/?<D5= (3,4-�5=7?<D5=) 0,0000001 3,41·10-10 

1325 $>D<4?L457<4 0,0010417 0,0000037 
2732 �5D>E<= 0,025 0,000093 

� ?5D<>4 D5>G?LF<64F<>==OE D45>F ?D><EE>4<F 6D5<5==>5 747DO7=5=<5 

4F<>ED5D=>7> 6>74GE4 74 EG5F D45>FO 46F>FD4=E?>DF4, EFD><F5?L=>= F5E=<><. 

$45>F4 46F>FD4=E?>DF4, EFD><F5?L=>= 6> 6D5<O 75<?O=OE D45>F (<EF>G=<> 

6O5D>E4 7 6502) =>E<F =5EF4F<>=4D=O= E4D4>F5D (<7<5=5=<5 <5EF>?>?>65=<O, D56<<4 

D45>FO 46<74F5?5= < F.?.), ?>MF><G < GD>65=L 747DO7=5=<O ?>EF>O==> <5=O5FEO. 

�?O D4EG5F4 <4>E<<4?L=> D47>6OE 6O5D>E>6 ?D<=OF4 >4=>6D5<5==4O D45>F4 

EFD><F5?L=>= F5E=<>< < 46F>FD4=E?>DF4 (F.5. ?D<=OF MF4? D45>F, E <E?>?L7>64=<5< 

>><5<=4F<< =4<5>?55 <>M=>= EFD><F5?L=>-<>=F46=>= F5E=<>< < 46F>FD4=E?>DF4. $4EG5F 

<4>E<<4?L=OE D47>6OE < 64?>6OE 6O5D>E>6 6> ?5D<>4 ?D>6545=<O 75<?O=OE D45>F 

6O?>?=5= 6 ?D>7D4<<5 «�&�-->>?>7» D<D<O «�=F57D4?» =4 >E=>64=<< E?54GNM<E 

<5F>4<G5E><E 4>>G<5=F>6: 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

1. «�5F>4<>4 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 

4F<>ED5DG 4?O 46F>FD4=E?>DF=OE ?D54?D<OF<= (D4EG5F=O< <5F>4><)», �>E>64, 1998 7., E 

4>?>?=5=<O<< < <7<5=5=<O<< > �5F>4<>5 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 

747DO7=ONM<E 65M5EF6 6 4F<>ED5DG 46F>FD4=E?>DF=OE ?D54?D<OF<= (D4EG5F=O< 

<5F>4><), �>E>64, 1999 7. 

2. «�5F>4<>4 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 

4F<>ED5DG 4?O 46F>D5<>=F=OE ?D54?D<OF<= (D4EG5F=O< <5F>4><)», �>E>64, 1998 7. 

3. «�5F>4<>4 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 

4F<>ED5DG 4?O 547 4>D>6=>= F5E=<>< (D4EG5F=O< <5F>4><)», �>E>64, 1998 7. 

$57G?LF4FO D4EG5F4 ?D<6545=O 6 F45?<F5 7.4. 

&45?<F4 7.4 - %4D4>F5D<EF<>4 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG >F 75<?O=OE 
D45>F 
�>4 �4<<5=>64=<5 65M5EF64 �4>E<<4?L=O= 

6O5D>E, 7/E 
�4?>6O= 
6O5D>E, 

F/7>4 
0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,0127819 0,022220 
0304 �7>F (II) >>E<4 (�7>F <>=>>>E<4) 0,0020771 0,003611 
0328 '7?5D>4 (�<7<5=F G5D=O=) 0,0057161 0,007009 
0330 %5D4 4<>>E<4 0,0018985 0,003064 
0337 '7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; 

G74D=O= 747) 
0,1350947 0,229797 

2704 �5=7<= (=5DFO=>=, <4?>E5D=<EFO=) (6 ?5D5EG5F5 =4 
G7?5D>4) 

0,0052222 0,010605 

2732 �5D>E<= (�5D>E<= ?DO<>= ?5D57>=><; >5D>E<= 
457>4>D<D>64==O=) 

0,0116112 0,015847 

 

$4EG5F <4>E<<4?L=OE D47>6OE < 64?>6OE 6O5D>E>6 6> 6D5<O 6=GFD5==57> ?D>5744 

(<EF>G=<> 6O5D>E4 7 6505) 6O?>?=5= 6 ?D>7D4<<5 «�&�-->>?>7» D<D<O «�=F57D4?» =4 

>E=>64=<< E?54GNM<E <5F>4<G5E><E 4>>G<5=F>6: 

1. «�5F>4<>4 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 

4F<>ED5DG 4?O 46F>FD4=E?>DF=OE ?D54?D<OF<= (D4EG5F=O< <5F>4><)», �>E>64, 1998 7., E 

4>?>?=5=<O<< < <7<5=5=<O<< > �5F>4<>5 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 

747DO7=ONM<E 65M5EF6 6 4F<>ED5DG 46F>FD4=E?>DF=OE ?D54?D<OF<= (D4EG5F=O< 

<5F>4><), �>E>64, 1999 7. 

2. «�5F>4<>4 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 

4F<>ED5DG 4?O 46F>D5<>=F=OE ?D54?D<OF<= (D4EG5F=O< <5F>4><)», �>E>64, 1998 7. 

3. «�5F>4<>4 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 

4F<>ED5DG 4?O 547 4>D>6=>= F5E=<>< (D4EG5F=O< <5F>4><)», �>E>64, 1998 7. 

$57G?LF4FO D4EG5F4 ?D<6545=O 6 F45?<F5 7.5. 



52 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

48 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

&45?<F4 7.5 - %4D4>F5D<EF<>4 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG >F 
6=GFD5==57> ?D>5744  
�>4 �4<<5=>64=<5 65M5EF64 �4>E<<4?L=O= 

6O5D>E, 7/E 
�4?>6O= 
6O5D>E, 

F/7>4 
0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,0001422 0,000426 
0304 �7>F (II) >>E<4 (�7>F <>=>>>E<4) 0,0000231 0,000069 
0328 '7?5D>4 (�<7<5=F G5D=O=) 0,0000178 0,000048 
0330 %5D4 4<>>E<4 0,0000298 0,000083 
0337 '7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; 

G74D=O= 747) 
0,0003289 0,000841 

2732 �5D>E<= (�5D>E<= ?DO<>= ?5D57>=><; >5D>E<= 
457>4>D<D>64==O=) 

0,0000533 0,000146 

 

� E>45 6O?>?=5=<O E64D>G=OE D45>F (<EF>G=<> 6O5D>E4 7 6503) 6 6>74GE 

?>EFG?OF (>>4 0337) G7?5D>44 >>E<4 < E?>DMF5= (>>4 0827). $4EG5F ?D><76545= ?D>7D4<<>= 

«%64D>4» (D<D<4 «�=F57D4?») 6 E>>F65FEF6<< E 4>>G<5=F><  «�5F>4<>4 D4EG5F4 

6O45?5=<= (6O5D>E>6) 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG ?D< E64D>G=OE D45>F4E (=4 

>E=>65 G45?L=OE ?>>474F5?5=)», ��� �F<>ED5D4, %4=>F-�5F5D5GD7, 1997. $4EG5F 

?D54EF46?5= 6 F45?<F5 7.6. 

&45?<F4 7.6 3%4D4>F5D<EF<>4 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG >F E64D>G=OE 
D45>F  

�47DO7=ONM55 65M5EF6> �4>E<<4?L=O= 
6O5D>E 

�4?>6O= 6O5D>E 

�>4 �4<<5=>64=<5 7/E F/7>4 
0337 '7?5D>44 >>E<4 ('7?5D>4 >><EL; 

G7?5D>4 <>=>>><EL; G74D=O= 747) 
0.00000063 0.00000022 

0827 %?>DMF5= (%?>DMF<?5=; MF5=<?E?>D<4; 
E?>D<EFO= 6<=<?; E?>D<EFO= MF<?5=; 
<>=>E?>DMF5=) 

0.00000027 0.00000009 

 

� ?D>F5EE5 ?5D5EO?>< EO?GG<E <4F5D<4?>6 (<EF>G=<> 6O5D>E4 7 6504) 6 

4F<>ED5DG 5G4GF 6O45?OFLEO E?54GNM<5 747DO7=ONM<5 65M5EF64: ?O?L =5>D74=<G5E>4O, 

E>45D64M4O 46G>><EL >D5<=<O 5>?55 70% (>>4 2907), < ?O?L =5>D74=<G5E>4O, E>45D64M4O 

70-20% 46G>><E< >D5<=<O (>>4 2908). $4EG5F 6O45?5=<O ?O?< ?D< 6545=<< ?>7DG7>G=>-

D477DG7>G=OE D45>F 6O?>?=5= 6 E>>F65FEF6<< E «�5F>4<G5E><< ?>E>5<5< ?> D4EG5FG 

6O5D>E>6 >F =5>D74=<7>64==OE <EF>G=<>>6 6 ?D><OL?5==>EF< EFD><F5?L=OE 

<4F5D<4?>6» (�>6>D>EE<=E>, 2001) < «�5F>4<G5E><< ?>E>5<5< ?> D4EG5FG, =>D<<D>64=<N 

< >>=FD>?N 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE» (%4=>F-�5F5D5GD7, 

2005) 6 ?D>7D4<<5 «%>?44<D>64=<5 < ?5D57DG7>4 <4F5D<4?>6» (>><?4=<O «-�� F5=FD). 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

&45?<F4 7.7 - %4D4>F5D<EF<>4 6O45?5=<= 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG 6> 6D5<O 
?5D5EO?>< EO?GG<E <4F5D<4?>6 

�47DO7=ONM55 65M5EF6> �4>E<<4?L=> 
D47>6O= 6O5D>E, 7/E 

�>4>6>= 6O5D>E, 
F/7>4 >>4 =4<<5=>64=<5 

2907 �O?L =5>D74=<G5E>4O, E>45D64M4O 
46G>><EL >D5<=<O 5>?55 70% 

0,054264 1,409281 

2908 �O?L =5>D74=<G5E>4O, E>45D64M4O 70-
20% 46G>><E< >D5<=<O 

0,126617 3,288347 

 

�>?GG5==O5 >>?<G5EF65==O5 E4D4>F5D<EF<>< 6O5D>E>6 747DO7=ONM<E 65M5EF6 

O6<?<EL <EE>4=O<< 44==O<< 4?O D4EG5F>6 D4EE5<64=<O. 

&45?<F4 7.8 3 �5D5G5=L 6O5D>E>6 747DO7=ONM<E 65M5EF6, 6O5D4EO645<OE 6 4F<>ED5DG, 6 
?5D<>4 F5E=<G5E>>7> MF4?4 D5>G?LF<64F<< 

�47DO7=ONM55 65M5EF6> 
�<4 ��� 

�=4G5=<5 
��� 

(��'�) 
<7/<3 

�?4EE 
>?4E=>

EF< 

%G<<4D=O= 6O5D>E 747DO7=ONM<E 
65M5EF6 

>>4 =4<<5=>64=<5 
7/E F/7 

1 2 3 4 5 6 7 
0301 �7>F4 4<>>E<4 

(�6G>><EL 47>F4; 
?5D>>E<4 47>F4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,20000 
0,10000 
0,04000 

3 0,083448396800 0,278320950000 

0303 �<<<4> (�7>F4 
7<4D<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,20000 
0,10000 
0,04000 

4 0,079542620800 1,527585440000 

0304 �7>F (II) >>E<4 
(�7>F <>=>>>E<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,40000 
-- 

0,06000 

3 0,013560390700 0,045227220000 

0328 '7?5D>4 (�<7<5=F 
G5D=O=) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,15000 
0,05000 
0,02500 

3 0,010595000000 0,007075600000 

0330 %5D4 4<>>E<4   ��� </D 
  ��� E/E 
  ��� E/7 

0,50000 
0,05000 

-- 

3 0,020055024200 0,204589530000 

0333 �<7<4D>EG?LD<4 
(�>4>D>4 
E5D=<EFO=, 
4<7<4D>EG?LD<4, 
7<4D>EG?LD<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,00800 
-- 

0,00200 

2 0,003894112400 0,074784930000 

0337 '7?5D>44 >>E<4 
('7?5D>4 >><EL; 
G7?5D>4 
<>=>>><EL; 
G74D=O= 747) 

  ��� </D 
  ��� E/E 
  ��� E/7 

5,00000 
3,00000 
3,00000 

4 0,223027499300 0,952980540000 

0410 �5F4=   ��'� 50,00000   7,894631989400 151,61337096000
0 

0616 �<<5F<?55=7>? 
(E<5EL >-, <-, ?- 
<7><5D>6) 
(�5F<?F>?G>?) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,20000 
-- 

0,10000 

3 0,066056569000 1,268591000000 

0621 �5F<?55=7>? 
($5=<?<5F4=) 

  ��� </D 
  ��� E/E 

0,60000 
-- 

3 0,107852578900 2,071267300000 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

  ��� E/7 0,40000 

0627 -F<?55=7>? 
($5=<?MF4=) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,02000 
-- 

0,04000 

3 0,014226649900 0,273217340000 

0703 �5=7/4/?<D5=   ��� </D 
  ��� E/E 
  ��� E/7 

-- 
1,00e-06 
1,00e-06 

1 0,000000100000 0,000000000341 

0827 �<=<?E?>D<4   ��� </D 
  ��� E/E 
  ��� E/7 

-- 
0,04000 
0,01000 

1 0,000000270000 0,000000090000 

1325 $>D<4?L457<4 
(�GD46L<=O= 
4?L457<4, 
>>E><5F4=, 
<5F<?5=>>E<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,05000 
0,01000 
0,00300 

2 0,015423636500 0,276203260000 

2704 �5=7<= (=5DFO=>=, 
<4?>E5D=<EFO=) (6 
?5D5EG5F5 =4 
G7?5D>4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

5,00000 
1,50000 

-- 

4 0,005222200000 0,010605000000 

2732 �5D>E<= (�5D>E<= 
?DO<>= ?5D57>=><; 
>5D>E<= 
457>4>D<D>64==O=
) 

  ��'� 1,20000   0,036664500000 0,016086000000 

2907 �O?L 
=5>D74=<G5E>4O 
>70% SiO2 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,15000 
0,05000 

-- 

3 0,054264000000 1,409281000000 

2908 �O?L 
=5>D74=<G5E>4O: 
70-20% SiO2 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,30000 
0,10000 

-- 

3 0,126617000000 3,288347000000 

  �E57> 65M5EF6        :           18  8,755082537900 163,31753316034
1 

  6 F>< G<E?5 F65D4OE  :     4    0,191476100000 4,704703600341 
  6<4><E/747>>5D47=OE  :   14    8,563606437900 158,61282956000

0 
 

� ?5D<>4 5<>?>7<G5E>>7> MF4?4 D5>G?LF<64F<< <EF>G=<>4<< 6O5D>E>6 6 4F<>ED5DG 

5G4GF O6?OFLEO F5?> ?>?<7>=4, >5N5<O 6O5D>E>6 >>F>D>7> ?D54EF46?5=O 6 F45?<F5 7.2, < 

D45>F4 E?5F.F5E=<><. 

$4EG5F <4>E<<4?L=OE D47>6OE < 64?>6OE 6O5D>E>6 6> D45>FO E?5F.F5E=<>< 

(<EF>G=<> 6O5D>E4 7 6506) 6O?>?=5= 6 ?D>7D4<<5 «�&�-->>?>7» D<D<O «�=F57D4?» =4 

>E=>64=<< E?54GNM<E <5F>4<G5E><E 4>>G<5=F>6: 

1. «�5F>4<>4 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 

4F<>ED5DG 4?O 46F>FD4=E?>DF=OE ?D54?D<OF<= (D4EG5F=O< <5F>4><)», �>E>64, 1998 7., E 

4>?>?=5=<O<< < <7<5=5=<O<< > �5F>4<>5 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 

747DO7=ONM<E 65M5EF6 6 4F<>ED5DG 46F>FD4=E?>DF=OE ?D54?D<OF<= (D4EG5F=O< 

<5F>4><), �>E>64, 1999 7. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

2. «�5F>4<>4 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 

4F<>ED5DG 4?O 46F>D5<>=F=OE ?D54?D<OF<= (D4EG5F=O< <5F>4><)», �>E>64, 1998 7. 

3. «�5F>4<>4 ?D>6545=<O <=65=F4D<74F<< 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 

4F<>ED5DG 4?O 547 4>D>6=>= F5E=<>< (D4EG5F=O< <5F>4><)», �>E>64, 1998 7. 

$4EG5F 6O5D>E>6 ?D54EF46?5= 6 F45?<F5 7.9. 

&45?<F4 7.9 - %4D4>F5D<EF<>4 6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG >F D45>FO 
E?5F.F5E=<>< 
�>4 �4<<5=>64=<5 65M5EF64 �4>E<<4?L=O= 

6O5D>E, 7/E 
�4?>6O= 

6O5D>E, F/7>4 
0301 �7>F4 4<>>E<4 (�6G>><EL 47>F4; ?5D>>E<4 47>F4) 0,0012822 0,000452 
0304 �7>F (II) >>E<4 (�7>F <>=>>>E<4) 0,0002084 0,000073 
0328 '7?5D>4 (�<7<5=F G5D=O=) 0,0000843 0,000036 
0330 %5D4 4<>>E<4 0,0001501 0,000061 
0337 '7?5D>44 >>E<4 ('7?5D>4 >><EL; G7?5D>4 <>=>>><EL; G74D=O= 

747) 
0,0129794 0,005018 

2704 �5=7<= (=5DFO=>=, <4?>E5D=<EFO=) (6 ?5D5EG5F5 =4 G7?5D>4) 0,0016111 0,000548 
2732 �5D>E<= (�5D>E<= ?DO<>= ?5D57>=><; >5D>E<= 

457>4>D<D>64==O=) 
0,0004098 0,000170 

%6>4=O= ?5D5G5=L 747DO7=ONM<E 65M5EF6, 6O5D4EO645<OE 6 4F<>ED5DG =4 

5<>?>7<G5E>>< MF4?5 6 ?5D<>4 D5>G?LF<64F<<, ?D<6545= 6 F45?<F5 7.10. 

&45?<F4 7.10 3 �5D5G5=L 6O5D>E>6 747DO7=ONM<E 65M5EF6, 6O5D4EO645<OE 6 4F<>ED5DG, 6 
?5D<>4 5<>?>7<G5E>>7> MF4?4 D5>G?LF<64F<< 

�47DO7=ONM55 65M5EF6> 

�<4 ��� 

�=4G5=
<5 ��� 
(��'�) 

<7/<3 

�?4EE 
>?4E=
>EF< 

%G<<4D=O= 6O5D>E 747DO7=ONM<E 
65M5EF6 

>>4 =4<<5=>64=<5 
7/E F/7 

1 2 3 4 5 6 7 
0301 �7>F4 4<>>E<4 

(�6G>><EL 47>F4; 
?5D>>E<4 47>F4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,20000 
0,10000 
0,04000 

3 0,021704296800 0,260076650000 

0303 �<<<4> (�7>F4 
7<4D<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,20000 
0,10000 
0,04000 

4 0,079542620800 1,527585440000 

0304 �7>F (II) >>E<4 (�7>F 
<>=>>>E<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,40000 
-- 

0,06000 

3 0,003526990700 0,042262520000 

0328 '7?5D>4 (�<7<5=F 
G5D=O=) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,15000 
0,05000 
0,02500 

3 0,003362500000 0,001401000000 

0330 %5D4 4<>>E<4   ��� </D 
  ��� E/E 
  ��� E/7 

0,50000 
0,05000 

-- 

3 0,011708624200 0,202038630000 

0333 �<7<4D>EG?LD<4 
(�>4>D>4 E5D=<EFO=, 
4<7<4D>EG?LD<4, 
7<4D>EG?LD<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,00800 
-- 

0,00200 

2 0,003894112400 0,074784930000 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

0337 '7?5D>44 >>E<4 
('7?5D>4 >><EL; 
G7?5D>4 <>=>>><EL; 
G74D=O= 747) 

  ��� </D 
  ��� E/E 
  ��� E/7 

5,00000 
3,00000 
3,00000 

4 0,120916869300 0,772968320000 

0410 �5F4=   ��'� 50,0000
0 

  7,894631989400 151,61337096000
0 

0616 �<<5F<?55=7>? 
(E<5EL >-, <-, ?- 
<7><5D>6) 
(�5F<?F>?G>?) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,20000 
-- 

0,10000 

3 0,066056569000 1,268591000000 

0621 �5F<?55=7>? 
($5=<?<5F4=) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,60000 
-- 

0,40000 

3 0,107852578900 2,071267300000 

0627 -F<?55=7>? 
($5=<?MF4=) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,02000 
-- 

0,04000 

3 0,014226649900 0,273217340000 

1325 $>D<4?L457<4 
(�GD46L<=O= 
4?L457<4, >>E><5F4=, 
<5F<?5=>>E<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,05000 
0,01000 
0,00300 

2 0,014381936500 0,276199560000 

2704 �5=7<= (=5DFO=>=, 
<4?>E5D=<EFO=) (6 
?5D5EG5F5 =4 G7?5D>4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

5,00000 
1,50000 

-- 

4 0,006444400000 0,004568000000 

2732 �5D>E<= (�5D>E<= 
?DO<>= ?5D57>=><; 
>5D>E<= 
457>4>D<D>64==O=) 

  ��'� 1,20000   0,007193400000 0,003172000000 

  �E57> 65M5EF6        :           14  8,355443537900 158,39150365000
0 

  6 F>< G<E?5 F65D4OE  :     1    0,003362500000 0,001401000000 
  6<4><E/747>>5D47=OE  :   13    8,352081037900 158,39010265000

0 
 

% F5?LN =>D<<D>64=<O 747DO7=ONM<E 65M5EF6 GG<FO64?<EL <EF>G=<><, 6 6O5D>E4E 

>>F>DOE ?D<EGFEF6GNF 6E5 65M5EF64, >5D47GNM<5EO 6 ?5D<>4 ?D>6545=<O EFD><F5?L=>-

<>=F46=OE D45>F. 

$4EG5FO D4EE5<64=<O 6 4F<>ED5D5 6O?>?=5=O 4?O ?5F=57> ?5D<>44, >4> EG4L57> 

4?O D4EE5<64=<O ��. 

�?O >F5=>< 6>745=EF6<O �� =4 4F<>ED5D=O= 6>74GE 6 ?5D<>4 6O?>?=5=<O %�$ 

D4EE<4FD<64?EO =4<EG4L<= 64D<4=F - >4=>6D5<5==> 6 D45>F5 =4E>4<FEO 6EO 4>D>6=>-

EFD><F5?L=4O F5E=<>4 < 46F>FD4=E?>DF, D45>F45F 4<75?L-75=5D4F>D, >EGM5EF6?ONFEO 

E64D>G=O5 < 75<?O=O5 D45>FO, 4 F4>65 6O?>?=O5FEO ?5D5EO?>4 EO?GG<E <4F5D<4?>6. 

�6F>FD4=E?>DF, 4>D>6=>-EFD><F5?L=4O F5E=<>4, 4<75?L=4O 75=5D4F>D=4O GEF4=>6>4, 

E64D>G=>5 >5>DG4>64=<5 < <5EF4 ?5D5EO?>< ?D<=OFO 6 >4G5EF65 <EF>G=<>>6 6O5D>E>6 

747DO7=ONM<E 65M5EF6.  

�?O >?D545?5=<O EF5?5=< 6?<O=<O D4EE<4FD<645<>7> >5N5>F4 =4 ?D<?574NMGN 

7>=G 6 D4EGUF D4EE5<64=<O 66545=O D4EGUF=O5 F>G>< =4 7D4=<F5 >D<5=F<D>6>G=>= 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

E4=<F4D=>-74M<F=>= 7>=O. %>7?4E=> %4=�<� 2.2.1/2.1.1.1200-03 «%4=<F4D=>-74M<F=O5 

7>=O < E4=<F4D=4O >?4EE<D<>4F<O ?D54?D<OF<=, E>>DG65=<= < <=OE >5N5>F>6»  (=>64O 

D544>F<O) ?.7.1.12 ??.2 «GG4EF>< >><?>EF<D>64=<O F65D4OE 5OF>6OE >FE>4>6» 4?O 

>5N5>F4 D5>G?LF<64F<< 6 D4EG5F4E ?D<=OF4 E4=<F4D=>-74M<F=4O 7>=4 500 <. 

�?<64=L4O 6<?4O 7>=4 D4E?>?>65=4 =4 7=4G<F5?L=> G44?5==>< D4EEF>O=<< >F 

>5N5>F4 D5>G?LF<64F<< (5>?55 1000 <), ?>MF><G 6 D4EG5F4E D4EE5<64=<O F>G>< 6 6<?>= 

7>=5 =5 ?D<=OFO. � D4=>=5 D4E?>?>65=<O >5N5>F4 D5>G?LF<64F<< >FEGFEF6GNF ?4D>>6O5 

7>=O, 7>=O >F4OE4, ?5G5=<O.  

�?O >?D545?5=<O 7=4G5=<= ?D<75<=OE >>=F5=FD4F<= 6D54=OE 65M5EF6 =4 7D4=<F5 

%�� 6O5D4=> 8 D4EG5F=OE F>G5>, =4 7D4=<F5 ?D><76>4EF65==>= 7>=O 3 4 F>G><.  

$4EG5F=O5 F>G><, ?D<=OFO5 4?O ?D>6545=<O D4EG5F>6 D4EE5<64=<O 747DO7=ONM<E 

65M5EF6, ?D54EF46?5=O 6 F45?<F5 7.11. 

&45?<F4 7.11 3 $4EG5F=O5 F>G>< 

�>4 
�>>D4<=4FO (<) 

�OE>F4 (<) &<? F>G>< 
X Y 

1 3311451,46 436422,42 2,00 =4 7D4=<F5 %�� 
2 3311892,81 436170,56 2,00 =4 7D4=<F5 %�� 
3 3312006,72 435764,85 2,00 =4 7D4=<F5 %�� 
4 3311899,95 435397,37 2,00 =4 7D4=<F5 %�� 
5 3311418,80 435112,32 2,00 =4 7D4=<F5 %�� 
6 3310865,37 435378,28 2,00 =4 7D4=<F5 %�� 
7 3310762,85 435765,41 2,00 =4 7D4=<F5 %�� 
8 3311052,03 436213,56 2,00 =4 7D4=<F5 %�� 
9 3311468,10 435926,40 2,00 =4 7D4=<F5 ?D><76>4EF65==>= 7>=O 
10 3311501,50 435793,70 2,00 =4 7D4=<F5 ?D><76>4EF65==>= 7>=O 
11 3311375,50 435570,10 2,00 =4 7D4=<F5 ?D><76>4EF65==>= 7>=O 
12 3311261,50 435729,50 2,00 =4 7D4=<F5 ?D><76>4EF65==>= 7>=O 

�F5=>4 6>745=EF6<O =4 4F<>ED5D=O= 6>74GE 6 ?>EFD5>G?LF<64F<>==O= ?5D<>4 

�O5D>E 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=O= 6>74GE 6 ?>EFD5>G?LF<64F<>==O= 

?5D<>4 D465= 6O5D>E4< 747DO7=ONM<E 65M5EF6 >F F5?4 E64?>< 6 ?5D<>4 ?D>6545=<O 

F5E=<G5E>>7> < 5<>?>7<G5E>>7> MF4?>6 D5>G?LF<64F<< (E<. F45?. 7.3). 

%6>4=O= ?5D5G5=L 747DO7=ONM<E 65M5EF6, 6O5D4EO645<OE 6 4F<>ED5DG 6 

?>EFD5>G?LF<64F<>==O= ?5D<>4, ?D<6545= 6 F45?<F5 7.12. 

&45?<F4 7.12 3 �5D5G5=L 6O5D>E>6 747DO7=ONM<E 65M5EF6, 6O5D4EO645<OE 6 4F<>ED5DG, 6 
?>EFD5>G?LF<64F<>==O= ?5D<>4  

�47DO7=ONM55 65M5EF6> 
�<4 ��� 

�=4G5=<5 
��� 

(��'�) 

�?4EE 
>?4E=>

EF< 

%G<<4D=O= 6O5D>E 747DO7=ONM<E 
65M5EF6 

>>4 =4<<5=>64=<5 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

<7/<3 7/E F/7 

1 2 3 4 5 6 7 
0301 �7>F4 4<>>E<4 

(�6G>><EL 47>F4; 
?5D>>E<4 47>F4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,20000 
0,10000 
0,04000 

3 0,013302096800 0,255461650000 

0303 �<<<4> (�7>F4 
7<4D<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,20000 
0,10000 
0,04000 

4 0,079542620800 1,527585440000 

0304 �7>F (II) >>E<4 
(�7>F <>=>>>E<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,40000 
-- 

0,06000 

3 0,002161590700 0,041512520000 

0330 %5D4 4<>>E<4   ��� </D 
  ��� E/E 
  ��� E/7 

0,50000 
0,05000 

-- 

3 0,010487824200 0,201414630000 

0333 �<7<4D>EG?LD<4 
(�>4>D>4 
E5D=<EFO=, 
4<7<4D>EG?LD<4, 
7<4D>EG?LD<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,00800 
-- 

0,00200 

2 0,003894112400 0,074784930000 

0337 '7?5D>44 >>E<4 
('7?5D>4 >><EL; 
G7?5D>4 
<>=>>><EL; 
G74D=O= 747) 

  ��� </D 
  ��� E/E 
  ��� E/7 

5,00000 
3,00000 
3,00000 

4 0,037603269300 0,722156320000 

0410 �5F4=   ��'� 50,00000   7,894631989400 151,61337096000
0 

0616 �<<5F<?55=7>? 
(E<5EL >-, <-, ?- 
<7><5D>6) 
(�5F<?F>?G>?) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,20000 
-- 

0,10000 

3 0,066056569000 1,268591000000 

0621 �5F<?55=7>? 
($5=<?<5F4=) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,60000 
-- 

0,40000 

3 0,107852578900 2,071267300000 

0627 -F<?55=7>? 
($5=<?MF4=) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,02000 
-- 

0,04000 

3 0,014226649900 0,273217340000 

1325 $>D<4?L457<4 
(�GD46L<=O= 
4?L457<4, 
>>E><5F4=, 
<5F<?5=>>E<4) 

  ��� </D 
  ��� E/E 
  ��� E/7 

0,05000 
0,01000 
0,00300 

2 0,014381936500 0,276199560000 

  �E57> 65M5EF6        :           11  8,244141237900 158,32556165000
0 

  6 F>< G<E?5 F65D4OE  :     0    0,000000000000 0,000000000000 
  6<4><E/747>>5D47=OE  :   11    8,244141237900 158,32556165000

0 
 

� E>>F65FEF6<< E «�5F>4<>>= D4EG5F4 >>?<G5EF65==OE E4D4>F5D<EF<> 6O5D>E>6 

747DO7=ONM<E 65M5EF6 6 4F<>ED5DG >F ?>?<7>=>6 F65D4OE 5OF>6OE < ?D><OL?5==OE 

>FE>4>6 (<744=<5 4>?>?=5==>5 < ?5D5D45>F4==>5)» ?5D<>4 4=4MD>5=>7> D47?>65=<O E 

?>EF>O==O< 6O45?5=<5< <5F4=4 E>EF46?O5F >F 10 ?5F (=4 N75) 4> 50 ?5F (=4 E565D5), 5E?< 

GE?>6<O E>?44<D>64=<O =5 <7<5=ONFEO, GF> 6E>4<F 6 ?>EFD5>G?LF<64F<>==O= ?5D<>4. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

7.2 �F5=>4 6>745=EF6<O =4 ?>65DE=>EF=O5 < ?>475<=O5 6>4O  

�?<64=L<= > GG4EF>G <7OE>4=<= 6>4>F>> 3 D5>4 ,>D5=L74, ?D>F5>4NM4O =4 N75 >F 

F5DD<F>D<< ?D><76>4EF64. �D>5>F<DG5<O= >5N5>F =4E>4<FEO =4 D4EEF>O=<< >>>?> 900 

<5FD>6 >F 6>4>>ED4==>= 7>=O D5><. �5N5>F D5>G?LF<64F<< =5 ?>?4445F 6 7D4=<FO 

6>4>>ED4==>= 7>=O < ?D<5D56=>= 74M<F=>= ?>?>EO 6>4=OE >5N5>F>6. %>>F65FEF65==>, 

>4>>5-?<5> =574F<6=>5 6>745=EF6<5 =4 D5>< < 6>4=O5 5<>?>7<G5E><5 D5EGDEO ?D< 

D54?<74F<< ?D>5>F=OE D5L5=<= <E>?NG45FEO. 

�F5=>4 6>745=EF6<O =4 ?>65DE=>EF=O5 6>4O 6 ?5D<>4 D5>G?LF<64F<< 

�>745=EF6<5 =4 ?>65DE=>EF=O5 6>4O =5 ?D>7=>7<DG5FEO, ?D< EFD>7>< E>5?N45=<< 

?D46<? ?D><76>4EF64 D5>G?LF<64F<>==OE D45>F. 

�?O ?<FL56OE, E>7O=EF65==>-5OF>6OE =G64 < ?>?<64 D4EF5=<= <E?>?L7G5FEO 

?D<6>7=4O 6>44. �?O ?<FL56OE =G64 <E?>?L7G5FEO 5GF<?<D>64==4O 6>44. 

%5D>E EF>G=OE 6>4 6 6>4=O5 >5N5>FO ?D>5>F=O<< D5L5=<O<< =5 

?D54GE<4FD<645FEO.  

'EFD>=EF64 6D5<5==OE >4=4?<74F<>==OE E5F5= =4 ?5D<>4 EFD><F5?LEF64 =5 

?D54GE<>FD5=>. �4=4?<74F<>==O5 EF>>< E>5<D4NFEO 6 =4>>?<F5?L=>= 5<>>EF< 

<>4G?L=>7> 5<>FG4?5F4. �> <5D5 74?>?=5=<O 5<>>EF< 5<>FG4?5F 6O6>7OFEO =4 >G<EF=O5 

E>>DG65=<O. �O6>7 6<4><E >FE>4>6 6O?>?=O5F E?5F<4?<7<D>64==4O >D74=<74F<O =4 

4>7>6>D=>= >E=>65. 

$4EG5F ?>FD55=>EF< 6 6>45  

�D5<5==>5 6>4>E=4565=<5 EFD><F5?L=>= ??>M44>< >EGM5EF6?O5FEO ?D<6>7=>= 

6>4>=, =5>5E>4<<>= 4?O E>7O=EF65==>-5OF>6OE < ?D><76>4EF65==OE =G64, 4 F4>65 6 

E?GG45 6>7=<>=>65=<O ?>64D4, E <E?>?L7>64=<5< =4>>?<F5?L=>= 5<>>EF< 4?O ED4=5=<O 

6>4O. 

�>FD55=>EFL 6 6>45 >?D545?O5FEO EG<<>= D4EE>44 6>4O =4 ?D><76>4EF65==O5 Q�$ < 

E>7O=EF65==>-5OF>6O5 =G64O Q%��: 

Q&$ = Q�$ + Q%�� 

%>7?4E=> D4745?G «�D>5>F >D74=<74F<< EFD><F5?LEF64» (E<. 02-$-&7-��%) 6 

?5D<>4 ?D>6545=<O D45>F ?> D5>G?LF<64F<< EGF>G=O= D4EE>4 6>4O =4 E>7O=EF65==>-

5OF>6O5 =G64O E>EF46<F 0,0063 ?/E, =4 ?D><76>4EF65==O5 =G64O 3 0,03125 ?/E.  

&4><< >5D47><, ?>FD55=>EFL 6 6>45 E>EF46?O5F: 

Q&$ = 0,03125 + 0,0063 = 0,03385 ?/E 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�>FD55=>EFL 6 6>45 =4 ?D><76>4EF65==O5 < E>7O=EF65==>-5OF>6O5 =G64O 

=5>5E>4<<> >55E?5G<FL ?D<6>7=>= 6>4>= E<?4<< ?>4DO4G<>4. �<FL56GN 6>4G 

D5>><5=4G5FEO ?>EF46?OFL 5GF<?<D>64==>=. 

'G<FO64O ?D>6<64=<5 D45>G<E 6 >5M56<F<OE (?D< 64EF>6>< <5F>45 >D74=<74F<< 

D45>F) E 5654=56=>= 4>EF46>>= =4 >5N5>F, >E=4M5=<5 EFD>=??>M44>< 4GL56>= =5 

?D54GE<>FD5=>, E?54>64F5?L=>, D4EE>4 6>4O =4 4GL56GN >FEGFEF6G5F. 

$4EE>4 6>4O 4?O ?>64D>FGL5=<O =4 ?5D<>4 EFD><F5?LEF64 ?D<=OF 5 ?/E. 

�?O E5>D4 E>7O=EF65==>-5OF>6OE EF>>>6 =4 ?5D<>4 EFD><F5?LEF64 

?D54GE<4FD<64NFEO 5<>FG4?5FO. �4==O5 EF>G=O5 6>4O >F>4G<64NFEO ?5D546<6=>= 

E?5F<4?<7<D>64==>= F5E=<>>= < =4?D46?ONFEO =4 >G<EF=O5 E>>DG65=<O. 

�D< ?D>6545=<< D45>F ?> D5>G?LF<64F<< =4 GG4EF>5 =5 ?D54GE<4FD<645FEO E5D>E 

EF>G=OE 6>4 =4 D5?L5D. �D>5>F=O<< D5L5=<O<< ?D54GE<>FD5= E5>D E>7O=EF65==>-

5OF>6OE EF>>>6 6> 6D5<5==O5 75D<5F<G=O5 5<>>EF<, =5 <<5NM<5 >>=F4>F4 E ?>G6>=. 

%F>G=O5 6>4O ?> <5D5 =4?>?=5=<O 5<>>EF5= 6O6>7OFEO E?5F<4?<7<D>64==>= >D74=<74F<5= 

?> 4>7>6>DG =4 >G<EF=O5 E>>DG65=<O. 

�574F<6=>5 6>745=EF6<5 D4EE<4FD<645<>7> >5N5>F4 =4 6>4=O5 D5EGDEO 5G45F 

E>47O64FLEO ?>4 6?<O=<5< 747DO7=ONM57> 45=EF6<O D<?LFD4F4. 

$<?LFD4F >5D47G5FEO 6 F5?5 E64?>< 74 EGUF ?>EFG??5=<O 4F<>ED5D=OE >E44>>6, 4 

F4>65 5<>E<<<G5E><E D54>F<=, ?D>F5>4NM<E 6=GFD< F5?4 ?>?<7>=4. �= O6?O5FEO 7?46=O< 

D4>F>D>< >FD<F4F5?L=>7> 6>745=EF6<O =4 6>4=O5 D5EGDEO. 

�F<>ED5D=O5 >E44>< 6 F5?> E64?>< ?>?444NF 6 6<45 ?>65DE=>EF=>7> EF>>4, 

EF5>4NM57> E 6>4>E5>D=>= ??>M44<, < >E44>>6, 6O?444NM<E =5?>ED54EF65==> =4 

??>M44L E64?><. �?G5<=4 ?D>E4G<64=<O < >>?<G5EF6> ?D>E>4OM5= 6 F>?MG 6?47< 746<E<F 

>F EF5?5=< G??>F=5=<O <7>?<DGNM57> E?>O < >FE>4>6, < >F 6?47>5<>>EF< E>?44<DG5<>= 

<4EEO. '??>F=5=<5 >FE>4>6, O6?ONM55EO E4D4>F5D=>= >E>55==>EFLN ?D46<?L=> 

M>E??G4F<DG5<OE ?>?<7>=>6, E=<645F >>MDD<F<5=F D<?LFD4F<<, G<5=LL4O, F4><< 

>5D47><, >>?<G5EF6> >5D47GNM57>EO D<?LFD4F4. 

�D< 74E>D>=5=<< >FE>4>6 ?D><EE>4<F <7<5=5=<5 <E ??>F=>EF<. �D< 6O7DG7>5 <E =4 

>5N5>F D47<5M5=<O >FE>4>6 ?5D6>=4G4?L=O= >5NU< >FE>4>6 7=4G<F5?L=> G<5=LL45FEO ?> 

<EF5G5=<< 6D5<5=< 74 EGUF E4<>G??>F=5=<O. �D< MF>< >FE>4O F5DONF EO?GG5EFL, 

G65?<G<645FEO <E ??>F=>EFL. �D< 6OE>>>= <EE>4=>= 6?46=>EF< >5OG=> 6O45?O5FEO 

D<?LFD4F. 

�D< G65?<G5=<< ??>F=>EF< >FE>4>6 G<5=LL45FEO >5N5< ?>D, 74?>?=5==OE 

6>74GE><, GF> >>47O645F 6?<O=<5 =4 6>74GL=O= D56<<. �D< 6OD465==>= E?56<645<>EF< 6 

F>?M5 >FE>4>6 6>7<>65= ?5D5E>4 >F 4MD>5=OE GE?>6<= > 4=4MD>5=O<. �5=O5FEO 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

6?46=>EF=O= D56<<. $<?LFD4F E>45D6<F 6 E555 D4EF6>DO E>?5=, 6 F>< G<E?5 < M>7>75==OE 

E<<<G5E><E 65M5EF6, <<>D>5<4?L=> 747DO7=5=, <<55F >>D4E>G < =5?D<OF=O= 74?4E. � 

D<?LFD4F5 >5OG=> E>45D6<FEO <=>7> E?>D<4>6, EG?LD4F>6, 5<>4D5>=4F>6, >D74=<G5E><E < 

6765L5==OE 65M5EF6. � 746<E<<>EF< >F E<<<G5E>>7> E>EF464 >FE>4>6 6 D<?LFD4F <>7GF 

?>?4EFL E>?< FO65?OE <5F4??>6, F>>E<G=O5 65M5EF64. $<?LFD4F <7-74 6OE>>>= 

>>=F5=FD4F<< >D74=<G5E><E 747DO7=ONM<E 65M5EF6 FDG4=> ?>444UFEO >G<EF>5 =4 >5OG=OE 

<5E4=<G5E><E < 5<>?>7<G5E><E E>>DG65=<OE >G<EF>< EF>G=OE 6>4. �D< ?>?444=<< 6 

?>G6G < 7DG=F>6O5 6>4O >= <>65F 6O764FL <E E<<<G5E>>5 < 5<>?>7<G5E>>5 747DO7=5=<5. 

$<?LFD4F >?4E5= 6 M?<45<<>?>7<G5E>>< >F=>L5=<<. %?5646L<5EO >FE>4O >5?444NF 

5>?LL>= 6?46=>EFLN, 6OE>><< E>?5E>45D64=<5< < ?D< >>=F4>F5 E =574M<M5==O< 

<5F4??>< <>7GF 6O7O64FL 57> >>DD>7<N. 

%>EF46 D<?LFD4F4 746<E<F >F MF4?4 6<7=5==>7> F<>?4 E>?444 >FE>4>6: 4>F<6=>= 

M>E??G4F4F<<, D5>G?LF<64F<<, ?>EFM>E??G4F4F<< < 4EE<<<?OF<<. � 7465DL4NM<< MF4?4< 

6<7=5==>7> F<>?4 >5N5>F4 D47<5M5=<O >FE>4>6 <>6=> >F=5EF< ?5D<>4 57> M>E??G4F4F<<, 

?D56OL4NM<= ?D>5>F=O= ED>> (?>E?5 20 ?5F 45?>=<D>64=<O >FE>4>6), D5>G?LF<64F<N < 

MF4?O ?>EFM>E??G4F4F<<. 

�4 EF44<< EF45<?L=>7> <5F4=>75=574, E>>F65FEF6GNM5= 7465DL4NM<< MF4?4< 

6<7=5==>7> F<>?4 >5N5>F4 D47<5M5=<O >FE>4>6, D<?LFD4F E4D4>F5D<7GNFEO 65?<G<=4<< 

%�� 3 500-1000 <7�2/?, ��� 3 100-500 <7�2/?, 6OE>><< E>45D64=<5< 5<>D57<EF5=F=OE 

>><?>=5=F>6, ?>?<D5=>?>6, 6OE>>>-<>?5>G?OD=OE >>D4L5==OE ?D<<5E5= 7G<GE>6>= 

?D<D>4O, >><??5>E=OE <>=>6 <5F4??>6 E >D74=<G5E><<< ?<74=44<<, GF> =5>5E>4<<> 

GG<FO64FL ?D< D47D45>F>5 F5E=>?>7<G5E><E D5L5=<= ?> >5576D56<64=<N D<?LFD4F4. 

�4EF>OM<< ?D>5>F>< 4?O G<5=LL5=<O >>?<G5EF64 D<?LFD4F4 ?D54GE<4FD<645FEO 

EFD><F5?LEF6> GEFD>=EF64 ?> ?>65DE=>EF< E64?>G=>7> F5?4 6>4>=5?D>=<F45<>7> M>D4=4, 

?D5?OFEF6GNM57> <=D<?LFD4F<< 4F<>ED5D=OE >E44>>6 6 F5?> E64?><. 

�D>5>F>< ?> D5>G?LF<64F<< =5E4=>F<>=<D>64==>= E64?>< ?D54GE<4FD<645FEO 

G>?44>4 4D5=46=>= E5F< ?> ?5D<<5FDG F5DD<>>=4 =4 D4EEF>O=<< 2,0 < >F ?>4>L6O >F>>E4 

4?O E5>D4 4F<>ED5D=OE >E44>>6. �4?55 E>5D4==O5 4D5=46=O5 6>4O ?>EFG?4NF 6 

=4>>?<F5?L=O= ?DG4. �7 ?DG44 6>44 6O6>7<FEO E?5FFD4=E?>DF>< =4 F5DD<F>D<N >G<EF=OE 

E>>DG65=<= 4?O ?D>6545=<O >><??5>E=>= >G<EF><. 

&4><< >5D47><, ?D<=OFO5 6 ?D>5>F5 F5E=<G5E><5 D5L5=<O =4?D46?5=O =4 

<4>E<<4?L=>5 G<5=LL5=<5 =574F<6=>7> 6>745=EF6<O ?>?<7>=4 &�� =4 E>EF>O=<5 6>4=>7> 

54EE5==4. 

�F5=>4 6>745=EF6<O =4 ?>65DE=>EF=O5 6>4O 6 ?>EFD5>G?LF<64F<>==O= ?5D<>4 



62 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

58 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�574F<6=>5 45=EF6<5, D4EE<4FD<645<>7> >5N5>F4, =4 6>4=O5 D5EGDEO <>65F 

E>47O64FLEO ?>4 6?<O=<5< 747DO7=ONM57> 45=EF6<O D<?LFD4F4.  

�EE?54>64=<O<< DO44 ?45>D4F>D<= =4 >E=>64=<< ?D>F5EE>6 45EFDG>F<< D47?<G=OE 

DD4>F<= &�� GEF4=>6?5= E<<<G5E><= E>EF46 D<?LFD4F4 =4 >464>< MF4?5 6<7=5==>7> 

F<>?4 E64?><.  

�4 EF44<< 4>F<6=>= M>E??G4F4F<< ?>?<7>=4 (10-30 ?5F) 6O45?ONF E?54GNM<5 D47O 

5<>45EFDG>F<< &��: 4MD>5=GN, 4=4MD>5=GN - 7<4D>?<7, 4F5F>75=57 < 4>F<6=O= 

<5F4=>75=57.  

� 4F5F>75==>= D475 (D�=4,5-6,5), 4?OM5=EO >F 1 7>44 4> 4 ?5F, ?D><EE>4<F 

44?L=5=L<= D4E?44 5OEFD> < ED54=5 D47?4745<OE DD4>F<= &��, >E=>6=O<< ?D>4G>F4<< 

>>F>D>7> O6?ONFEO G>EGE=4O < ?D>?<>=>64O ><E?>FO, G7?5><E?O= 747 < 6>44.  

�4 EF44<< 4>F<6=>7> <5F4=>75=574 (4> 30 ?5F E <><5=F4 45?>=<D>64=<O) ?D>F5>45F 

D5D<5=F4F<6=>5 D47?>65=<5 >5D47>64==OE 6 4F5F>75==>=D475 ><E?>F, >>F>D>5 

E>?D>6>6445FEO 7=4G<F5?L=O< 6O45?5=<5< 747>6 (<5F4=, G7?5><E?O= 747, <5D>4?F4=O, 

4<<<4> < 4D.) < ?>6OL5=<5< pH ED54O (7,2-8,6). �4 MF>= EF44<< ?D><EE>4<F D47?>65=<5 

50-70 % F5??N?>7O < 75<<F5??N?>7O E >5D47>64=<5< 5<>7474 < E>54<=5=<= 7G<GE>6>= 

?D<D>4O, ?>?<D5=>?>6 < 4D.  

� EF45<?L=>= D475 <5F4=>75=574 (4> 100 ?5F) E=<64NFEO E>>D>EFL < 65?<G<=4 

M<<EE<< <5F4=4, ?D< MF>< >E=>6=O< <EF>G=<>>< 747DO7=5=<O >>DG64NM5= ED54O 

EF4=>6OFEO $�. �4 MF>= EF44<< 6 M5?>G=>= ED545 ?D>F5>4NF D5D<5=F4F<6=O= 7<4D>?<7 

?<7=<=4 E >5D47>64=<5< 4D><4F<G5E><E < 6<D=OE ><E?>F, 44?L=5=L4O 5<>457D444F<O 

F5??N?>7O < E<<<G5E>4O 45EFDG>F<O FDG4=> D47?4745<OE DD4>F<= &�� (?>?<<5D=OE 

<4F5D<4?>6).  

�EE>4O <7 6OL5<7?>65==>7>, <>6=> EG<F4FL, GF> =4 EF44<< 4>F<6=>7> 

<5F4=>75=574 < 6 EF45<?L=>= D475 <5F4=>75=574, =4 ?D>5>F<DG5<>< «E>?445» &�� 

6O45?5=<5 6>4O ?D< 5<>E<<<G5E><E D54>F<OE (��%) D46=> ?>7?>M5=<N 6>4O ?D< 

5<>E<<<G5E><E D54>F<OE (��%), F.5. D47=<FG <564G 5<>E<<<G5E>< >5D47G5<>= < 

?>FD55?O5<>= 6>4>= <>6=> EG<F4FL D46=>= =G?N.  

�F<>ED5D=O5 >E44><, 6O?444NM<5 =5?>ED54EF65==> =4 ??>M44L E64?><, 

?D>E4G<64OEL E>6>7L F>?MG 5OF>6OE >FE>4>6, >5D47GNF D<?LFD4F. �?G5<=4 ?D>E4G<64=<O 

< >>?<G5EF6> ?D>E>4OM5= 6 F>?MG 6?47< 746<E<F >F EF5?5=< G??>F=5=<O >FE>4>6 < >F 

6?47>5<>>EF< E>?44<DG5<>= <4EEO. 

'EFD>=EF6> ?> ?>65DE=>EF< G??>F=5==OE >FE>4>6 6>4>=5?D>=<F45<>7> M>D4=4 

?D5?OFEF6G5F <=D<?LFD4F<< 4F<>ED5D=OE >E44>>6 6 F5?> E64?><, F5< E4<O< ?D5>D4M4O 

>5D47>64=<5 EF>G=OE 6>4 =4 D5>G?LF<6<DG5<>= E64?>5.  



63 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

59 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�D>5>F>< ?D54GE<4FD<645FEO GEFD>=EF6> <7>?<DGNM57> ?>>DOF<O <7 

?D>D<?<D>64==>= 75><5<5D4=O, >>F>D4O <<55F E?54GNM<5 E6>=EF64: 

- 6OE>>4O ?D>G=>EFL 75><4F5D<4?4;  

- EF>=>>EFL > D47?<G=O< F5<?5D4FGD=O<, E<<<G5E><< < 5<>?>7<G5E><< 

6>745=EF6<O<;  

- 4>?7<= ED>> M>E??G4F4F<<;  

- ?D>EF>F4 >5D45>F>< < <>=F464 75><5<5D4=O;  

- 4>EFG?=4O EF><<>EFL 44==>7> ?D>4G>F4.  

�F5=>4 6>745=EF6<O =4 ?>475<=O5 6>4O 

� D57G?LF4F5 ?D>6545=<O D5>G?LF<64F<>==OE D45>F < 6 ?5D<>4 ?>EFD5>G?LF<64F<< 

>5N5>F4 6>745=EF6<5 =4 ?>475<=O5 6>4O =5 5G45F ?D< GE?>6<< 6O?>?=5=<O E?54GNM<E 

FD55>64=<=:  

- ?> >5GEFD>=EF6G D45>G<E <5EF EF>O=>> <4L<= < <5E4=<7<>6 E F65D4O< 

>E=>64=<5<, 4?O <E>?NG5=<O ?D>F5G5> <4E5? =4 7DG=F;  

- 74?D46>4 ?5D546<6=>= F5E=<>< (M>E>464F>DO, 5G?L4>75DO < F.?.) >EGM5EF6?O5FEO 

=4 5?<64=L<E ��% E E>5?N45=<5< <5D ?> ?D54>F6D4M5=<N D4EF5>4=<O �%� ?> 75<?5 < 

?D46<? ?>64D=>= 557>?4E=>EF< ?D< D45>F5 E 7>DNG5-E<47>G=O<< <4F5D<4?4<<;  

- ??4=<D>6>G=O5 D45>FO (>G<EF>4 GG4EF>>6 ?D><76>4EF64 D45>F >F >FE>4>6, 

>5D47GNM<EEO =4 MF4?5 D5>G?LF<64F<<, 6OD46=<64=<5 F5DD<F>D<<) ?>E?5 7465DL5=<O 

D5>G?LF<64F<<; 

- >FE>4O < <GE>D (5OF>6O5) E>?44<DGNFEO 6 E?5F<4?L=>< <5F4??<G5E>>< 

>>=F5==5D5 < ?>4?564F ?5D544G5 =4 E?5F<4?<7<D>64==O= E64?><, ?<5> ?>4?564F ?5D544G5 

=4 >5576D56<64=<5 E?5F<4?<7<D>64==>= >D74=<74F<<, <<5NM5= E>>F65FEF6GNMGN 

?<F5=7<N =4 44==O= 6<4 45OF5?L=>EF<:  

- >D74=<74F<< =44?564M5= E<EF5<O >F6>44 ?>65DE=>EF=>7> EF>>4 E F5DD<F>D<< 

E64?><;  

&4><< >5D47><, 6 ?5D<>4 D5>G?LF<64F<< < ?>EFD5>G?LF<64F<< 

=5E4=>F<>=<D>64==>= E64?>< =5 ?D54GE<4FD<645FEO 74??>6OE 6O5D>E>6 6 ?>65DE=>EF=O5 

< ?>475<=O5 6>4O. 

7.3 �F5=>4 6>745=EF6<O =4 75<5?L=O5 D5EGDEO, ?>G65==O= ?>>D>6 

�5<5?L=O= GG4EF>> E >444EFD>6O< =><5D>< 35:14:0106018:3 <E?>?L7>64?EO 6 F5?OE 

D47<5M5=<O >FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O IV-V >?4EE>6 >?4E=>EF<, ?D54EF46?O5F 

E>5>= =4DGL5==O5 75<?<. �4F57>D<O 75<5?L - 75<?< ?D><OL?5==>EF<, M=5D75F<><, 



64 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

60 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

FD4=E?>DF4, E6O7<, D44<>65M4=<O, F5?56<45=<O, <=D>D<4F<><, 75<?< 4?O >55E?5G5=<O 

>>E<<G5E>>= 45OF5?L=>EF<, 75<?< >5>D>=O, 557>?4E=>EF< < 75<?< <=>7> E?5F<4?L=>7> 

=47=4G5=<O. $47D5L5==O= 6<4 <E?>?L7>64=<O - 4?O D47<5M5=<O >F>DOF>= ??>M44>< E 

7DG=F>6O< ?>>DOF<5<. 

� E>45 ?D>6545=<O D5>G?LF<64F<< 75<5?L=>7> GG4EF>4, 74=OF>7> 

=5E4=>F<>=<D>64==>= E64?>>=, 4 F4>65 >5GEFD>=EF64 F5DD<F>D<< <7<5=5=<O 6 ?>G65==>-

D4EF<F5?L=>< ?>>D>65 >5GE?>6?5=O <5E4=<G5E><< 6>745=EF6<5< F5E=<><, F5E=>75==O< 

747DO7=5=<5< < EF4F<G5E>>= =47DG7>>= F5?4 ?>?<7>=4. 

� ?D>F5EE5 ?D>6>4<<OE D45>F ?> D5>G?LF<64F<< >5N5>F4 ?D>5>F<D>64=<O 

>E=>6=O<< 6<44<< 6>745=EF6<O =4 75<5?L=O5 D5EGDEO O6?ONFEO: 

- <5E4=<G5E>>5 =4DGL5=<5 ?>65DE=>EF< 75<?< ?D< 46<65=<< F5E=<>< < ?D< 

?5D5<5M5=<< 75<?O=OE <4EE, ??4=<D>6>G=OE D45>F4E;  

- 4>?>?=<F5?L=4O =47DG7>4 6 <5EF4E ?D>6545=<O D45>F;  

- ?D>=<>=>65=<5 747DO7=ONM<E 65M5EF6 6 ?>G65==O5 E?><, >5GE?>6?5==>5 

>E544NM<<< (E<O645<O<<) 4F<>ED5D=O<< 6O5D>E4<< <EF>G=<>>6 747DO7=5=<O 

4F<>ED5DO;  

- 6<5D4F<>==>5 6>745=EF6<5 >F D45>FO EFD><F5?L=>= F5E=<>< < 46F>FD4=E?>DF4;  

- 6D5<5==4O 4>?>?=<F5?L=4O =47DG7>4 =4 ?>G6G 74 EG5F >FEO?>< < G??>F=5=<O 

7DG=F4. 

�47DO7=5=<5 < <7<5=5=<5 D<7<>>-E<<<G5E><E E6>=EF6 7DG=F4 <>65F 5OFL E6O74=> 

E> E?54GNM<<< 6<44<< D45>F: ?>47>F>6>4 < ??4=<D>6>4 D5>G?LF<6<DG5<>= ??>M44>< 4?O 

?D>6545=<O D45>F, 4?O EF>O=>< <4L<= < <5E4=<7<>6, 6D5<5==O5 ??>M44><, 

FD4=E?>DF<D>6>4 >5>DG4>64=<O < ?N45=, ?5D5<5M5=<5 7DG=F4 6> 6D5<5==O= >F64?. 

&4> >4> 6>7<>6=>5 =574F<6=>5 6?<O=<5 =4 ?D<D>4=GN ED54G 5G45F ?>>4?<7>64=> =4 

=55>?LL>< GG4EF>5, < <<5FL 6D5<5==O= E4D4>F5D, 4 F4>65 ?D< =5G>>E=<F5?L=>< 

E>5?N45=<< ?D<D>4>>ED4==OE <5D>?D<OF<= < ED>>>6 ?D>6545=<O EFD><F5?L=OE D45>F, 6E5 

?D54?>?4745<O5 6>745=EF6<O ?D>7=>7<DGNFEO >4> <<=<<4?L=O5. 

�D< D54?<74F<< ?D>5>F4 =54D4 <E?>?L7>64FLEO =5 5G4GF. 

� ?D>F5EE5 D5>G?LF<64F<< =4DGL5==OE 75<5?L =4 5<>?>7<G5E>>< MF4?5 

?D54GE<>FD5=> E>744=<5 D4EF<F5?L=>7> E?>O ?> >D>6?5 < >F>>E4< F5DD<>>=4 E ?>E56>< 

<=>7>?5F=<E FD46. 

� ?>EFD5>G?LF<64F<>==O= ?5D<>4 ?D>7=>7<DG5FEO 6>745=EF6<5 =4 75<5?L=O5 

D5EGDEO, 74>?NG4NM<5EO 6 <7<5=5=<< D5?L5D4 < 6 G?GGL5=<< 7<4D>75>?>7<G5E><E 

E4D4>F5D<EF<> < GE?>6<= ?>65DE=>EF=>7> EF>>4. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�4 EG5F 6O?>?=5=<O >><??5>E4 F5E=<G5E><E <5D>?D<OF<= 747DO7=5=<5 

?>G6>7DG=F>6 5G45F <E>?NG5=> 66<4G >D74=<74F<< =44?564M5= E<EF5<O >F6>44 

?>65DE=>EF=>7> EF>>4 E F5DD<F>D<< E??4=<D>64==>7> F5?4 E64?><. 

&4><< >5D47><, 6> 6D5<O ?>EFD5>G?LF<64F<>==>7> ?5D<>44 6>745=EF6<5 =4 

75<5?L=O5 D5EGDEO <<=<<4?L=>5. 

7.4 �F5=>4 6>745=EF6<O =4 >>DG64NMGN ED54G ?D< >5D4M5=<< E >FE>44<< 

&5?L D47D45>F>< =4EF>OM57> ?>4D4745?4: 

- >?D545?<FL ?5D5G5=L < >6<445<>5 >>?<G5EF6> EFD><F5?L=OE >FE>4>6, 

>5D47GNM<EEO 6 ?D>F5EE5 ?D>6545=<O D45>F ?> D5>G?LF<64F<< >5N5>F4 D47<5M5=<O 

>FE>4>6; 

- >F5=<FL 6>7<>6=>5 6>745=EF6<5 >5D47GNM<EEO >FE>4>6 =4 E>EF>O=<5 

>>DG64NM5= ED54O. 

�6<445<O5 >5N5<O >5D47>64=<O >FE>4>6 >?D545?5=O D4EG5F=O< ?GF5< E GG5F>< 

FD55>64=<= 45=EF6GNM<E < <5F>4<G5E><E 4>>G<5=F>6, ?D<=OFOE ?D>5>F=OE D5L5=<=. 

� E>>F65FEF6<< E ?D<=OFO<< <5D>?D<OF<O<< ?> >ED4=5 (E<. ??. 8.2, 8.3, 8.5) 

?>65DE=>EF=OE < ?>475<=OE 6>4, ?>G65==>7> ?>>D>64, D4EF<F5?L=>7> < 6<6>F=>7> <<D4 

74?D46>4, F5E=<G5E>>5 >5E?G6<64=<5 < D5<>=F 46F>FD4=E?>DF=OE ED54EF6 < 4>D>6=>-

EFD><F5?L=>= F5E=<>< =4 F5DD<F>D<< EFD>=??>M44>< 74?D5M5=O. �4==O5 6<4O D45>F 

4>?6=O 6O?>?=OFLEO =4 EF4F<>=4D=OE ��%, 46F><>=>4E < EF4=F<OE F5E>5E?G6<64=<O, 

D4E?>?>65==OE 65?<7< >5N5>F4. �>MF><G >FE>4O, >5D47GNM<5EO 6 D57G?LF4F5 

F5E=<G5E>>7> >5E?G6<64=<O < F5>GM57> D5<>=F4 46F>FD4=E?>DF=OE ED54EF6 < 

EFD><F5?L=>= F5E=<><, 7445=EF6>64==OE 6 ?5D<>4 ?D>6545=<O D45>F ?> D5>G?LF<64F<<, 6 

F>< G<E?5 >FE>4>6 >5E?G6<64=<O M?5>FD>75=5D4F>D=OE GEF4=>6>>, =5 >5D47GNFEO.  

'G<FO64O, GF> =4>>??5=<5 >FE>4>6 5G45F >EGM5EF6?OFLEO 6 E?5F<4?L=OE 

>>=F5==5D4E < =4 ??>M44>4E, <<5NM<E F65D4>5 ?>>DOF<5, 4 F4>65 F>, GF> 5G45F 

>EGM5EF6?OFLEO <E D57G?OD=O= 6O6>7, E<<<G5E>>5 747DO7=5=<5 4F<>ED5DO, ?>G6O < 

?>65DE=>EF=>7> EF>>4 <<=<<4?L=>, 74E?4<?5=<5 F5DD<F>D<< >FEGFEF6G5F.  

�D< ?D>6545=<< D45>F ?> D5>G?LF<64F<< >5N5>F4 5G45F ?D><EE>4<FL >5D47>64=<5 

>FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O. %>7?4E=> 44==O< F><4 «�D>5>F >D74=<74F<< 

EFD><F5?LEF64» >>?<G5EF6> D45>G<E E>EF46?O5F 8 G5?>65>. �D>4>?6<F5?L=>EFL 

EFD><F5?LEF64 3 4 <5EOF4 (90 E<5=). 

�D< 6O?>?=5=<< D45>F ?> D5>G?LF<64F<< >5N5>F4 D47<5M5=<O >FE>4>6 >5D47GNFEO 

E?54GNM<5 6<4O >FE>4>6: 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

1. �GE>D <7 >D<E=OE < 5OF>6OE ?><5M5=<= >D74=<74F<= =5E>DF<D>64==O= 

(<E>?NG4O >DG?=>7454D<F=O=) (�>4 7 33 100 01 72 4) 

�5D47G5FEO =4 6E5< ?D>FO65=<< %�$ 6 D57G?LF4F5 6<7=545OF5?L=>EF< D45>G<E. 

%>5<D45FEO 6> 6D5<5==O5 <GE>D>E5>D>G=O5 >>=F5==5DO, GEF4=>6?5==O5 =4 ??>M44>5  E 

F65D4O< ?>>DOF<5<, < ?> <5D5 =4>>??5=<O 6O6>7OFEO =4 ?>?<7>= &�� 46F>FD4=E?>DF><.  

%>7?4E=> «%5>D=<>G G45?L=OE ?>>474F5?5= >FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O», 

1999 7. =>D<4F<6 >5D47>64=<O >FE>4>6 >F 5OF>6OE ?><5M5=<= >D74=<74F<= 

=5E>DF<D>64==OE E>EF46?O5F 0,22 <3/7>4 =4 >4=>7> D45>G57>. 

$4EGUFO <4EEO < >5NU<4 >FE>44 ?D><76545=O ?> D>D<G?4<: 

M=V x n , F/7>4 

V=p x g , <3/7>4, 

745 D - >>?<G5EF6> <EF>G=<>>6 >5D47>64=<O >FE>4>6 (G<E?5==>EFL D45>G<E 3 8 

G5?>65>);  

g- G45?L=4O =>D<4 >5D47>64=<O F6UD4OE >FE>4>6, 4?O D45>G<E 3 0,22 <3/7>4; 

n- ??>F=>EFL >FE>44, ?D<=<<45< 0,2 F/<3. 

�4<<5=>64=<5 
>5N5>F>6 

>5D47>64=<O 
>FE>4>6 

D- 
>>?<G5EF6> 
<EF>G=<>>6 
>5D47>64=<O 

>FE>4>6 

g 
G4. 

?>>474F5?L, 
<3 /7>4 

n 
??>F=>EFL 
>FE>44 F/<3 

�FE>4 
V 

>5NU<
, <3 
/7>4 

� 
<4EE4, 

F/EFD><F5?L
=O= ?5D<>4 

(4 <5E.) 

� <4EE4 
F/7>4 

 
 
 

 

%FD><F5?L=4O 
5D<7444 

8 0,22 0,2 1,76 0,12 0,35 

�>?<G5EF6> <GE>D4 5OF>6>7>, >5D47GNM57>EO ?D< 6<7=545OF5?L=>EF< D45>G<E, 

E>EF46<F 0,12 F/?5D<>4 EFD><F5?LEF64 < 0,35 F/7>4.  

2. �<4><5 >FE>4O >G<EF>< =4>>?<F5?L=OE 54>>6 <>5<?L=OE FG4?5F=OE >45<=     

(�>4 7 32 221 01 30 4) 

�D< ?D><76>4EF65 EFD><F5?L=>-<>=F46=OE D45>F >4=>6D5<5==> 5G45F 

7445=EF6>64=> =5 5>?55 8 G5?>65>. �D>4>?6<F5?L=>EFL EFD><F5?LEF64 4 4 <5EOF4. 

�4==O= 6<4 >FE>44 >5D47G5FEO >F M>E??G4F4F<< D47<5M5==OE =4 EFD><F5?L=>= 

??>M44>5 5<>FG4?5F>6. 

$4EG5F >>?<G5EF64 >5D47GNM57>EO >FE>44 >?D545?O5FEO E>7?4E=> «$5>><5=44F<= ?> 

>?D545?5=<N =>D< =4>>??5=<O F65D4OE 5OF>6OE >FE>4>6 4?O 7>D>4>6 $%$%$» ?> 

D>D<G?5:  

� = t E k E N E Ã E 1023, F, 

745  t 3 6D5<O D45>FO ?5DE>=4?4 EGF>> 6 ?5D<>4 EFD><F5?LEF64 (90 E<5=.);  
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

k 3 G45?L=O= ?>>474F5?L >5D47>64=<O 6<4><E 5OF>6OE >FE>4>6 =4 G5?>65>4, ?/EGF., 

E>7?4E=> %� 42.13330.2016 «�D44>EFD><F5?LEF6>. �?4=<D>6>4 < 74EFD>=>4 7>D>4E><E < 

E5?LE><E ?>E5?5=<=. �>FG4?<7<D>64==4O D544>F<O %�<� 2.07.01-89*» (6<4><E <7 

6O7D55>6 (?D< >FEGFEF6<< >4=4?<74F<<) 2000-3500 ? G5?/7>4 (ED. 2750 ? G5?/7>4); 

N 3 G<E?> D45>F4NM<E, G5?. (8 G5?>65>);  

Ã 3 ??>F=>EFL 6<4><E >FE>4>6, >7/<3 (?D<=<<45FEO Ã=1), G6>7<<OE =4 

>4=4?<74F<>==O5 E?<6=O5 EF4=F<<.  

�>?<G5EF6> 6<4><E 5OF>6OE >FE>4>6 ?D< D5>G?LF<64F<< >5N5>F4 D47<5M5=<O 

>FE>4>6 E>EF46<F:  

� = (4 <5E. E 2750 ? /12 <5E. E 8 E 1 E 1023) =7,3 <3/?5D<>4 D5>G?LF<64F<< 

� = 7,3 F/?5D<>4 D5>G?LF<64F<<, ?D< ??>F=>EF< E>7O=EF65==>-5OF>6OE EF>>>6 1000 

>7/<3; 

� = 22 F/7>4, ?D< ??>F=>EF< E>7O=EF65==>-5OF>6OE EF>>>6 1000 >7/<3.  

3. �5F<D>G=O= <4F5D<4?, 747DO7=5==O= =5DFLN <?< =5DF5?D>4G>F4<< 

(E>45D64=<5 =5DF< <?< =5DF5?D>4G>F>6 <5=55 15%) (�>4 9 19 204 02 60 4)  

$4EG5F >5F<D>G=>7> <4F5D<4?4 >F >5E?G6<64=<O 7DG7>6OE <4L<= < 46F>5GE>6 

6O?>?=5= =4 >E=>64=<< «%5>D=<>4 G45?L=OE ?>>474F5?5= >5D47>64=<O >FE>4>6 

?D><76>4EF64 < ?>FD55?5=<O», �>E>64, 1999 7. (D4745? 3.4) < 44==OE F45?<FO 3.6.1 

«�5F>4<G5E><E D5>><5=44F<= ?> >F5=>5 >5N5<>6 >5D47>64=<O >FE>4>6 ?D><76>4EF64 < 

?>FD55?5=<O» ��&�'$�, �>E>64, 2003 7. ?> D>D<G?5: 

� 65F = �i E Li E � 747D E n E 10-3, F/7>4,  

745 � 65F - >5M55 >>?-6> ?D><4E?5==>= 65F>L<, F/7>4; 

� - G45?L=4O =>D<4 D4EE>44 >5F<D>G=OE <4F5D<4?>6 =4 10000 >< ?D>5574 i-F>= 

<>45?< FD4=E?>DF4, >7. � 7DG7>6O5 <4L<=O = 2,18 >7; � 46F>5GEO = 3,0 >7; 

L - 7>4>6>= ?D>557 46F>FD4=E?>DF4 i -F>= <>45?<, >D4F=O= 10 FOE. ><; 

�>4>6>= ?D>557 46F>FD4=E?>DF4 D465=: 8 ></45=L E 365 4=5= = 2920 ><. L = 0,292. 

� 747D 4 >>MDD<F<5=F, GG<FO64NM<= 747DO7=5==>EFL 65F>L<, 4>?< >F 1. � =1,2. 

n = >>?<G5EF6> 7DG7>6OE <4L<= < 46F>5GE>6 ?> MF4?4< ?D<=OF> 6 E>>F65FEF6<< E 

F45?<F5= 7.1 =4EF>OM57> F><4: n 7DG7>6O5 = 6, n 46F>5GEO = 2. 

�>?<G5EF6> >5F<D>G=>7> <4F5D<4?4, >5D47GNM57> >F >5E?G6<64=<O 7DG7>6OE 

<4L<= < 46F>5GE>6, E>EF46<F: 

� 65F. 7DG7>6O5 <4L<=O = 2,18 E 0,292E 1,2 E 6 E 10-3 = 0,004 F/7>4 

� 65F. 46F>5GEO = 3,0 E 0,292E 1,2 E 2 E 10-3 = 0,002 F/7>4 

�>?<G5EF6> >FE>4>6 3 0,006 F/7>4. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

4. �5G6L >>64=4O D45>G4O, GFD4F<6L4O ?>FD55<F5?LE><5 E6>=EF64 (�>4  4 

03 101 00 52 4) 

$4EG5F <4EEO >FE>44 6O?>?=5= ?> «�5F>4<G5E><< D5>><5=44F<O< ?> >F5=>5 

>5N5<>6 >5D47>64=<O >FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O» ?> D>D<G?5: 

M  = n x m x k<7= x k747D / 1000, F/7>4 

 n = N / T, 

745 N - >>?<G5EF6> <745?<=, =4E>4OM<EEO 6 =>E>5, LF (8); 

T - =>D<4F<6=O= ED>> =>E>< <745?<=, ?5F (1 7>4); 

m - <4EE4 54<=<FO <745?<O E?5F>4564O, >7 (1,3 >7); 

n - >>?<G5EF6> 6OL54L<E <7 G?>FD55?5=<O LF/7>4 (8); 

k<7= - >>MDD<F<5=F, GG<FO64NM<= ?>F5D< <4EEO 6 ?D>F5EE5 M>E??, 4>?< >F 1 (0,9); 

k747D - >>MDD<F<5=F, GG<FO64NM<= 747DO7=5==>EFL E?5F>4564O, 4>?< >F 2 (1,1). 

� = 8 * 1,3 * 0,9 * 1,1 / 1000 = 0,010 F/7>4. 

5. '?4>>6>4 ?>?<MF<?5=>64O, 747DO7=5==4O <<=5D4?L=O<< G4>5D5=<O<< (�>4 

4 38 112 62 51 4) 

� ?5D<>4 ?D>6545=<O 5<>?>7<G5E>>= D5>G?LF<64F<< >5D47G5FEO >FE>4 >F G?4>>6>< 

G4>5D5=<=. 

$4EG5F <4EEO >FE>44 6O?>?=5= ?> «�5F>4<G5E><< D5>><5=44F<O< ?> >F5=>5 

>5N5<>6 >5D47>64=<O >FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O» ?> D>D<G?5: 

�= m x n x 10-3 , F, 

745 m 3 <4EE4 ?>D>6=5= G?4>>6><, >7; 

n 3 >>?<G5EF6> 6OE6>5>4<6L5=EO F4DO, 54. 

�= 0,3 E 100E 10-3 = 0,03 F 

�4EE4 >FE>44 E>EF46<F �=0,03 F/?5D<>4 5<>?>7<G5E>>7> MF4?4 D5>G?LF<64F<<. 

6. �<M56O5 >FE>4O >GE>=L < >D74=<74F<= >5M5EF65==>7> ?<F4=<O 

=5E>DF<D>64==O5 (7 36 100 01 30 5) 

$4EG5F >>?<G5EF64 >FE>44 6O?>?=5= =4 >E=>64=<< «$5>><5=44F<= ?> >?D545?5=<N 

=>D< =4>>??5=<O F65D4OE 5OF>6OE >FE>4>6 4?O 7>D>4>6 $%$%$ (�>E>64)». 

�>?<G5EF6> 
?D<7>F46?<645<OE 

5?N4 74 E<5=G, k, LF 

%D54=5EGF>G=4O 
=>D<4 >5D47>64=<O 
>FE>44, m, <3/ =4 1 

5?N4> 

'<E?> D45>G<E 
4=5=, n 

�?>F=>EFL 
>FE>44, p, 

F/<3 

�>?<G5EF6> >FE>4>6 

M1, <
3/ 7>4 

M2, F 
/7>4 

32 0,0001 60 0,3 0,288 0,086 

�%���       0,288 0,086 

�>?<G5EF6> ?<M56OE >FE>4>6 D4EEG<FO645FEO ?> D>D<G?5: 

M1 = k x m x n, <3/7>4, 
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745 k - >>?<G5EF6> ?D<7>F46?<645<OE 5?N4 74 E<5=G, LF; 

m - ED54=5EGF>G=4O =>D<4 >5D47>64=<O >FE>44, <3/=4 1 5?N4>;  

n - G<E?> D45>G<E 4=5=. 

�>?<G5EF6> ?<M56OE >FE>4>6 D4EEG<FO645FEO ?> D>D<G?5: 
 

M2 =�1 x p, F/7>4, 

745 D 3 ??>F=>EFL >FE>44, F/<3. 

7. %?5F>45644 <7 =4FGD4?L=OE 6>?>>>=, GFD4F<6L4O ?>FD55<F5?LE><5 

E6>=EF64, ?D<7>4=4O 4?O <77>F>6?5=<O 65F>L< (�>4  4 02 131 01 62 5) 

$4EG5F <4EEO >FE>44 6O?>?=5= ?> «�5F>4<G5E><< D5>><5=44F<O< ?> >F5=>5 

>5N5<>6 >5D47>64=<O >FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O» ?> D>D<G?5: 

M  = n x m x k<7= x k747D / 1000, F/7>4 

n = N / T, LF, 

745 N - >>?<G5EF6> <745?<=, =4E>4OM<EEO 6 =>E>5, LF (8); 

T - =>D<4F<6=O= ED>> =>E>< <745?<=, ?5F (1 7>4); 

m - <4EE4 54<=<FO <745?<O E?5F>4564O, >7 (1,3 >7); 

n - >>?<G5EF6> 6OL54L<E <7 G?>FD55?5=<O LF/7>4 (8); 

k<7= - >>MDD<F<5=F, GG<FO64NM<= ?>F5D< <4EEO 6 ?D>F5EE5 M>E??, 4>?< >F 1 (0,8); 

k747D - >>MDD<F<5=F, GG<FO64NM<= 747DO7=5==>EFL E?5F>4564O, 4>?< >F 2 (1,1). 

� = 8 * 1,3 * 0,8 * 1,1 / 1000 = 0,009 F/7>4. 

8. �FE>4O ??5=>< ?>?<MF<?5=4 < <745?<= <7 =55 =5747DO7=5==O5 (�>4  4 02 131 

01 62 5) 

 �>?<G5EF6> >FE>4>6, >5D47GNM<EEO ?D< D4E?4>>6>5 <4F5D<4?>6 =4 F5E=<G5E>>< 

MF4?5, >?D545?O5FEO ?> D>D<G?5: 

M=N×(m/1000) (F)  

N=Q/q (LF), 

745 N (LF) 3 >>?<G5EF6> G?4>>6>>; 

Q (?, F, <2, <3) 3 ??4=<DG5<O= D4EE>4 EFD><F5?L=OE <4F5D<4?>6; 

q (?, F, <2, <3) 3 >>?<G5EF6> <4F5D<4?4 6 >4=>= 54<=<FO G?4>>6>< (?> >ED54=5==O< 

44==O< >5N5>F>6-4=4?>7>6, D<D<-?>EF46M<>>6); 

m (F) 3 65E >4=>= 54<=<FO ?GEF>= G?4>>6>< (?> >ED54=5==O< 44==O< >5N5>F>6-

4=4?>7>6, D<D<-?>EF46M<>>6). 

�>?<G5EF6> >5D47>646L<EEO >FE>4>6 ?>?<MF<?5=>6>= ??5=>< (75><5<5D4=4, 

75>D5L5F>4 < ?>4>5=>5) E>EF46?O5F 0,133 <3 <?< 0,119 F. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

&45?<F4 7.13  - %4D4>F5D<EF<>4 < >>?<G5EF6> >5D47GNM<EEO >FE>4>6 
7  
?/? 

�4<<5=>64=<5 
>FE>4>6 

�7D574F=>5 
E>EF>O=<5 
>FE>4>6 

�>4 ?> $��� �?4EE 
>?4E=>

EF< 

�>7<>6=>5 
>>?<G5EF6> 
>FE>4>6, F 

%?>E>5 >5D4M5=<O E 
>FE>44<< 

1 2 3 5 6 7 8 
1 �GE>D >F 

>D<E=OE < 
5OF>6OE 

?><5M5=<= 
>D74=<74F<= 

=5E>DF<D>64==O= 
(<E>?NG4O 

>DG?=>7454D<F=O
=) 

%<5EL 
F65D4OE 

<4F5D<4?>6 
(6>?NG4O 

6>?>>=4) < 
<745?<= 

7 33 100 01 72 4 4 0,35 %5>D 6 >>=F5==5DO 4?O 
<GE>D4, 6O6>7 =4 ?>?<7>= 

&�� 

2 �<4><5 >FE>4O 
>G<EF>< 

=4>>?<F5?L=OE 
54>>6 <>5<?L=OE 
FG4?5F=OE >45<= 

�<E?5DE=O5 
E<EF5<O 

7 32 221 01 30 4 4 7,3 �F>4G<64=<5 
E?5FF5E=<>>= < 6O6>7 

4?O >5576D56<64=<O <?< 
GF<?<74F<< 

E?5F<4?<7<D>64==>= 
>D74=<74F<5= =4 

4>7>6>D=OE GE?>6<OE 
3 �5F<D>G=O= 

<4F5D<4?, 
747DO7=5==O= 
=5DFLN <?< 

=5DF5?D>4G>F4<< 
(E>45D64=<5 
=5DF< <?< 

=5DF5?D>4G>F>6 
<5=55 15%)  

�745?<O <7 
6>?>>>= 

9 19 204 02 60 4 4 0,006 %5>D 6 >F45?L=O5 
>>=F5==5DO < 6O6>7 
E?5F<4?<7<D>64==>= 

>D74=<74F<5= =4 
4>7>6>D=OE GE?>6<OE 

4 �5G6L >>64=4O 
D45>G4O, 

GFD4F<6L4O 
?>FD55<F5?LE><5 

E6>=EF64  

�745?<O <7 
=5E>>?L><E 
<4F5D<4?>6 

4 03 101 00 52 4 4 0,01 �5D544G4 
E?5F<4?<7<D>64==>= 

>D74=<74F<< 4?O 
D47<5M5=<O =4 ?>?<7>=5 

5 '?4>>6>4 
?>?<MF<?5=>64O, 

747DO7=5==4O 
<<=5D4?L=O<< 
G4>5D5=<O<< 

�745?<5 <7 
>4=>7> 

<4F5D<4?4 

4 38 112 62 51 4 4 0,03 �5D544G4 < GF<?<74F<O 
E?5F<4?<7<D>64==>= 

>D74=<74F<5= 

�F>7> 4 >?4EE4 >?4E=>EF< 7,696 F 
6 �<M56O5 >FE>4O 

>GE>=L < 
>D74=<74F<= 

>5M5EF65==>7> 
?<F4=<O 

=5E>DF<D>64==O5  

�<E?5DE=O5 
E<EF5<O 

7 36 100 01 30 5 5 0,086 %5>D 6 75D<5F<G=GN F4DG 
< 6O6>7 =4 ?>?<7>= 

7 %?5F>45644 <7 
=4FGD4?L=OE 

6>?>>>=, 
GFD4F<6L4O 

?>FD55<F5?LE><5 
E6>=EF64, ?D<7>4=4O 

4?O <77>F>6?5=<O 
65F>L< 

�745?<O <7 
6>?>>>= 

4 02 131 01 62 5 5 0,009 �E?>?L7>64=<5 =4 
?D54?D<OF<< 4?O 

<77>F>6?5=<O 65F>L< 

8 �FE>4O ??5=>< 
?>?<MF<?5=4 < 
<745?<= <7 =55 
=5747DO7=5==O5  

�D>G<5 
D>D<O 

F65D4OE 
65M5EF6 

4 02 131 01 62 5 5 0,119 �5D544G4 4?O 
>5576D56<64=<O 

E?5F<4?<7<D>64==>= 
>D74=<74F<< 

�F>7> 5 >?4EE4 >?4E=>EF< 0,214 F 
�&���: 7,910 F 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�FE>4O, >5D47GNM<5EO 6 ?5D<>4 ?D>6545=<O D5>G?LF<64F<>==OE D45>F, ?> <5D5 

>5D47>64=<O 5G4GF ?5D54464FLEO =4 6D5<5==>5 =4>>??5=<5 6 E?5F<4?L=> >F6545==O5 <5EF4 

(??>M44>< E F65D4O< ?>>DOF<5<, <5F4??<G5E><5 >>=F5==5DO, GEF4=>6?5==O5 =4 

??>M44>4E E F65D4O< ?>>DOF<5<) E ?>E?54GNM<< 6O6>7>< FD4=E?>DF>< 

?<F5=7<D>64==OE >D74=<74F<= =4 ?<F5=7<D>64==>5 ?D54?D<OF<5 ?> ?5D5D45>F>5 < 

D47<5M5=<N F65D4OE 5OF>6OE < ?D><76>4EF65==OE >FE>4>6. �4>?NG5=<5 4>7>6>D>6 E> 

E?5F<4?<7<D>64==O<< ?D54?D<OF<O<< 4>?6=> ?D><76>4<FLEO =4 EF44<< ?D><76>4EF64 

D45>F. 

�?O =4>>??5=<O F65D4OE >><<G=4?L=OE >FE>4>6 =4 EFD>=??>M44>5 =5>5E>4<<> 

?D54GE<>FD5FL GEF4=>6>G EF4=44DF=>7> >>=F5==5D4 >5N5<>< 0,75 <3. �?O EFD><F5?L=OE 

>FE>4>6 E?54G5F ?D54GE<>FD5FL <5F4??<G5E><= >>=F5==5D >5N5<>< 8 <3. 

7.5 �F5=>4 6>745=EF6<O =4 D4EF<F5?L=O= <<D 

&5DD<F>D<O =4<5G45<>= 45OF5?L=>EF< =4DGL5=4 6 D57G?LF4F5 4?<F5?L=>7> 

4=FD>?>75==>7> 6>745=EF6<O. �4DGL5==O5 75<?< GFD4F<?< ?5D6>=4G4?L=GN 

E>7O=EF65==GN F5==>EFL < O6?ONFEO <EF>G=<>>< >FD<F4F5?L=>7> 6>745=EF6<O =4 

>>DG64NMGN ED54G.  

� E>45 >EGM5EF6?5=<O D45>F ?D>7=>7<DG5FEO ?>>4?L=>5 6>745=EF6<5 =4 

D4EF<F5?L=>EFL ?D<?574NM5= F5DD<F>D<<. �>65F =45?N44FLEO GEG4L5=<5 E4=<F4D=>7> 

E>EF>O=<O F5DD<F>D<<, <5E4=<G5E><5 =4DGL5=<O E?>6<6L57>EO ?>G65==>-D4EF<F5?L=>7> 

?>>D>64, <7<5=5=<O GE?>6<= ?D><7D4EF4=<O D4EF5=<=. 

�>745=EF6<5 =4 D4EF<F5?L=O= < 6<6>F=O= <<D ?>>4?<7>64=> =4 ??>M44< 4,5 74. �4 

F5DD<F>D<< =5E4=>F<>=<D>64==>= E64?>< D4EF<F5?L=>EFL ?D54EF46?5=4 >F45?L=> 

EF>OM<<< >GEF4D=<>4<< 6OE>F>= 4> 5 <. 

�47DO7=5=<5 4F<>ED5D=>7> 6>74GE4, 6O764==>5 D45>F>= 46F>FD4=E?>DF4, 46<74F5?5= 

EFD><F5?L=OE <4L<= < <5E4=<7<>6, 6O?>?=5=<5< E64D>G=OE D45>F < 75<?O=OE D45>F, 

<>65F ?D<65EF< > 6D5<5==><G G7=5F5=<N D4EF<F5?L=OE E>>5M5EF6, ?>F5D5 6<4>6>7> 

D47=>>5D47<O D?>DO. 

�D< 6O?>?=5=<< ?D<6545==OE =5>5E>4<<OE ?D<D>4>>ED4==OE <5D>?D<OF<= >5N5< 

6O5D>E>6 6 4F<>ED5DG 6DO4 ?< 6O7>65F GEF>=G<6>5 =4DGL5=<5 6 D4EF<F5?L=>< ?>>D>65, < 

MF>F 6<4 6>745=EF6<O 6 ?5D<>4 %�$ =5 >>465F EGM5EF65==>7> 6>745=EF6<O. � D57G?LF4F5 

6O?>?=5=<O ?D<D>4>>ED4==OE <5D>?D<OF<=, >EF4F>G=>5 6>745=EF6<5 =4 D4EF<F5?L=>EFL 

E6>4<FEO > <<=<<G<G. 

$5>G?LF<64F<O =4DGL5==OE 75<5?L, 6 44==>< E?GG45 E64?>< &��, ?D<6545F > 

6>EEF4=>6?5=<N ?D>4G>F<6=>EF<, =4D>4=>E>7O=EF65==>= F5==>EF< 75<?< < G?GGL5=<N 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

GE?>6<= >>DG64NM5= ED54O. � ?D>F5EE5 D5>G?LF<64F<< 5G45F =4=5E5= ??>4>D>4=O= E?>= 

?>G6O E 6OE>><< E>45D64=<5< 7G<GE4 < >5?444NM<= 5?47>?D<OF=O< 4?O D>EF4 D4EF5=<= 

E<<<G5E><<<, D<7<G5E><<< < 5<>?>7<G5E><<< E6>=EF64<<. �<>?>7<G5E><= MF4? 

D5>G?LF<64F<< ?>76>?<F 6>EEF4=>6<FL D4EF<F5?L=O= ?>>D>6 =4 D5>G?LF<6<DG5<>< 

>5N5>F5. 

�E5 D45>FO ?D>6>4OFEO F>?L>> 6 7D4=<F4E 75<5?L=>7> GG4EF>4 E >444EFD>6O< 

=><5D>< 35:14:0106018:3, E?54>64F5?L=>, 6>745=EF6<5 =4 D4EF<F5?L=>EFL =4 ?D<?574NM5= 

F5DD<F>D<< <E>?NG5=>. 

�>E?5 >>>=G4=<O D5>G?LF<64F<>==OE D45>F >FD<F4F5?L=>7> 6>745=EF6<O =4 

D4EF<F5?L=O= <<D >F<5G5=> =5 5G45F. 

7.6 �F5=>4 6>745=EF6<O =4 6<6>F=O= <<D 

�>745=EF6<5 >5N5>F4 D5>G?LF<64F<< 6 ?5D<>4 %�$ 5G45F >>474=> 6E?54EF6<5 

D4>F>D4 55E?>>>=EF64 < <7<5=5=<= 6 ?D<?574NM<E 5<>F>?4E, 45=EF6<5 >>F>DOE 

>7D4=<G5=> ED>>4<< D5>G?LF<64F<>==OE D45>F. �D< MF>< =4<5>?55 EGM5EF65==O<< 

D4>F>D4<< =574F<6=>7> 6>745=EF6<O 5G4GF LG< < 6<5D4F<O. &4><5 6<4O 6>745=EF6<= 

?D54EF46?ONF >?4E=>EFL 6 ?5D<>4O D47<=>65=<O < <<7D4F<< 6<6>F=OE. 

�5D>OF=O< E?54EF6<5< <E 45=EF6<O 5G4GF >D4F>>6D5<5==O5 >7D4=<G5==O5 

?D>EFD4=EF65==O5 ?5D5<5M5=<O D>=>6OE 6<4>6 6<6>F=OE E ?>E?54GNM<< 6>76D4M5=<5< 

> D4=55 EGM5EF6>646L<< <5EF4< >5<F4=<O. %5DL57=OE <7<5=5=<= 6 G<E?5==>EF< D>=>6OE 

6<4>6 D4G=O =5 ?D><7>=45F. � F5?><, <4ELF45 6>745=EF6<= LG<4, 6<5D4F<= =4 6<6>F=O= 

<<D 5G45F =>E<FL ?>>4?L=O= E4D4>F5D, >>D>F>>= ?D>4>?6<F5?L=>EF< < =<7>>= 

<=F5=E<6=>EF<. 

�<6>F=O5, >5<F4NM<5 =4 44==>= F5DD<F>D<<, =5 >F=>EOFEO > D54><< < 

<EG574NM<< 6<44<. �D>6545=<5 D45>F ?> EFD><F5?LEF6G =5 >>465F EGM5EF65==>7> 

6?<O=<O =4 6<6>F=O= <<D 6 D4=>=5 D4E?>?>65=<O >5N5>F4. 

�DO<>5 6>745=EF6<5 =574F<6=OE D4>F>D>6 =4 6<6>F=OE >5GE?46?<645FEO LG<>< < 

6<5D4F<5=, D47DGL5=<5< >>D<>6OE < 74M<F=OE 5<>F>?>6 6<6>F=OE. 

�>E65==>5 6>745=EF6<5 ?D>O6?O5FEO 6 E>>D4M5=<< >>D<>6OE ??>M445=, 

747DO7=5=<< ?D<D>4=>= ED54O, =4DGL5=<< FD>D<G5E><E E6O75=, 4>>G<G?<D>64=<N 

F>>E<>4=F>6 6 >D74=<7<5 6<6>F=OE < 4D. 

�>EEF4=>6?5=<5 =4DGL5==OE 75<5?L E ?>E?54GNM<< >75?5=5=<5< F5DD<F>D<< 

?D<6545F > E>744=<N GE?>6<=, ?D<7>4=OE 4?O >5<F4=<O >?D545?5==OE 6<4>6 6<6>F=OE, 

G?GGL5=<N GE?>6<= >5<F4=<O, D47<=>65=<O < >>D<>6>= 547O. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�?4=<DG5<4O >D74=<74F<O EFD><F5?LEF64 ?>76>?<F >55E?5G<FL M>>?>7<G5E>GN 

557>?4E=>EFL =4 D4EE<4FD<645<>= F5DD<F>D<< < =5 G65?<G<FL M>>?>7<G5E>GN =47DG7>G =4 

?D<?574NM<5 F5DD<F>D<< ?D>5>F<DG5<OE >5N5>F>6. 

�>E?5 >>>=G4=<O D5>G?LF<64F<>==OE D45>F >FD<F4F5?L=>7> 6>745=EF6<O =4 

6<6>F=O= <<D >F<5G5=> =5 5G45F. 

7.7 �F5=>4 6>745=EF6<O D<7<G5E><E D4>F>D>6 

�>GEF<G5E>>5 6>745=EF6<5 

�4 ?5D<>4 ?D>6545=<O D5>G?LF<64F<>==OE D45>F >E=>6=O<< <EF>G=<>4<< LG<4 =4 

F5DD<F>D<< GG4EF>4 O6?ONFEO 6=5L=<5 <EF>G=<>< LG<4: 46F>FD4=E?>DF, E?5F.F5E=<>4 < 

4<75?L=4O 75=5D4F>D=4O GEF4=>6>4. 

�>4 LG<>< ?>=<<45FEO >><??5>E 76G>>6, >>F>DO= 6O7O645F =5?D<OF=>5 >MGM5=<5 

<?< D47DGL45F >D74= E?GE4, ?D4>F<G5E>< MF> ?N5O5 76G><, 6OE>4OM<5 74 D4<>< 76G>>6>7> 

>><D>DF4. 

,G<>6O5 < 6<5D4F<>==O5 6>745=EF6<O <>7GF D4EE<4FD<64FLEO >4> M=5D75F<G5E>>5 

747DO7=5=<5 >>DG64NM5= ED54O, 6 G4EF=>EF<, 4F<>ED5DO. �E=>6=O< >F?<G<5< LG<>6OE 

6>745=EF6<= >F 6O5D>E>6 747DO7=ONM<E 65M5EF6 O6?O5FEO 6?<O=<5 =4 >>DG64NMGN ED54G 

76G>>6OE >>?554=<=, ?5D544645<OE G5D57 6>74GE <?< F65D4O5 F5?4 (?>65DE=>EFL 75<?<). 

� E>>F65FEF6<< E %� 51.13330.2011, =>D<<DG5<O<< ?4D4<5FD4<< ?>EF>O==>7> 

LG<4 O6?ONFEO GD>6=< 76G>>6>7> 446?5=<O L, 4�, 6 >>F46=OE ?>?>E4E G4EF>F E> 

ED54=575><5FD<G5E><<< G4EF>F4<< 31,5; 63; 125; 250; 500; 1000; 2000; 4000; 8000 �F 

(>>F46=O5 GD>6=< 76G>>6>7> 446?5=<O). 

�?O 4>GEF<G5E>>7> D4EG5F4 <E?>?L7>64= ?D>7D4<<=O= >><??5>E ?> >F5=>5 

4>GEF<G5E>>7> 6>745=EF6<O «->>?>7-LG<», 65DE<O 2.6.0.4667. �=4?<7 LG<>6>7> 

6>745=EF6<O ?D< 6O?>?=5=<< D45>F 6O?>?=O5FEO 4?O 4=56=>7> 6D5<5=< EGF>> E GGUF>< 

<4>E<<4?L=>7> >>?<G5EF64 D45>F4NM5= F5E=<>< 6 ?5D<>4 D5>G?LF<64F<<, 6 =>G=>= 

?5D<>4 6D5<5=< D45>FO ?> EFD><F5?LEF6G >5N5>F4 ?D5>D4M4NFEO. $56<< D45>FO 6 1 

E<5=G, 8 G4E>6. 

,G<, 75=5D<DG5<O= ?D< D45>F5 46F>FD4=E?>DF4 < E?5F. F5E=<><, ?> E4D4>F5DG 

E?5>FD4 3 L<D>>>?>?>E=O=; ?> 6D5<5==O< E4D4>F5D<EF<>4< - >>?55?NM<=EO 6> 6D5<5=< 

LG<, GD>65=L 76G>4 >>F>D>7> =5?D5DO6=> <7<5=O5FEO 6> 6D5<5=<, =5?>EF>O==O= LG<. 

�>D<<DG5<O<< ?4D4<5FD4<< =5?>EF>O==>7> (?D5DO6<EF>7>, >>?55?NM57>EO 6> 

6D5<5=<) LG<4 6 E>>F65FEF6<< E ?. 6.2 %� 51.13330.2011 O6?ONFEO M>6<64?5=F=O5 GD>6=< 

76G>4 < <4>E<<4?L=O5 GD>6=< 76G>4. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

->6<64?5=F=O= GD>65=L 76G>4 =5?>EF>O==>7> LG<4 3 GD>65=L 76G>4 ?>EF>O==>7> 

L<D>>>?>?>E=>7> LG<4, >>F>DO= <<55F F4>>5 65 ED54=5>644D4F<G5E>>5 76G>>6>5 

446?5=<5, GF> < 44==O= =5?>EF>O==O= LG< 6 F5G5=<5 >?D545?5==>7> <=F5D64?4 6D5<5=<. 

�4>E<<4?L=O= GD>65=L 76G>4 3 GD>65=L 76G>4, E>>F65FEF6GNM<= <4>E<<4?L=><G 

?>>474F5?N <7<5D<F5?L=>7>, ?DO<> ?>>47O64NM57> ?D<5>D4 (LG<><5D4) ?D< 6<7G4?L=>< 

>FEG5F5, <?< 7=4G5=<5 GD>6=O 76G>4, ?D56OL45<>5 6 F5G5=<5 1% 6D5<5=< <7<5D5=<O ?D< 

D57<EFD4F<< 46F><4F<G5E><< GEFD>=EF6><. 

$4EG5F=O5 7=4G5=<O 76G>>6>7> 446?5=<O < M>6<64?5=F=>7> GD>6=O 76G>4 

ED46=<64NFEO E ?D545?L=> 4>?GEF<<O<< GD>6=O<< (44?55 3 ��') 76G>>6>7> 446?5=<O < 

M>6<64?5=F=O<< GD>6=O<< 76G>4 4?O F5DD<F>D<=, =5?>ED54EF65==> ?D<?574NM<E > 6<?O< 

4><4<, GEF4=>6?5==O<< ?. 14 F45?. 5.35 %4=�<� 1.2.3685-21 «�<7<5=<G5E><5 =>D<4F<6O < 

FD55>64=<O > >55E?5G5=<N 557>?4E=>EF< < (<?<) 5576D54=>EF< 4?O G5?>65>4 D4>F>D>6 

ED54O >5<F4=<O». 

&45?<F4 7.14 3 �=65=F4D<74F<O <EF>G=<>>6 LG<4 
7 �5N5>F 'D>6=< 76G>>6>7> 446?5=<O, 4�, 6 >>F46=OE ?>?>E4E E> 

ED54=575><5FD<G5E><<< G4EF>F4<< 6 �F 
La.M>6 La.<4>E 

31.5 63 125 250 500 1000 2000 4000 8000  
&5E=<G5E><= MF4? 

001 ->E>464F>D  58.8 58.8 61.7 64.6 67.0 68.6 66.9 64.0 58.6 73.0 75.0 
002 �G?L4>75D  64.8 64.8 67.7 70.6 73.0 74.6 72.9 70.0 64.6 79.0 87.0 
003 %4<>E64?  64.8 64.8 67.7 70.6 73.0 74.6 72.9 70.0 64.6 79.0 82.0 
004 ��'  46.8 46.8 49.7 52.6 55.0 56.6 54.9 52.0 46.6 61.0 63.0 
005 �DG=F>6O= >4F>>  52.8 52.8 55.7 58.6 61.0 62.6 60.9 58.0 52.6 67.0 70.0 

�<>?>7<G5E><= MF4? 
001 &D4>F>D E =465E=O< 

>5>DG4>64=<5< 
71.0 74.0 79.0 76.0 73.0 73.0 70.0 64.0 63.0 77.0 78.0 

002 �>?<6><>5G=4O 
<4L<=4 

67.0 70.0 75.0 72.0 69.0 69.0 66.0 60.0 59.0 73.0 83.0 

$4EG5F=O5 F>G>< 6O5D4=O =4 7D4=<F5 >D<5=F<D>6>G=>= %��, <E E4D4>F5D<EF<>< 

?D54EF46?5=O 6 F45?<F5 7.15.  

&45?<F4 7.15 - $57G?LF4FO 6 D4EG5F=OE F>G>4E ?> GD>6=O< 76G>>6>7> 446?5=<O, 4�, 6 
>>F46=OE ?>?>E4E E> ED54=575><5FD<G5E><<< G4EF>F4<< 6 �F 
$4EG5F=4O 

F>G>4 
31.5 63 125 250 500 1000 2000 4000 8000 La.M>6 La.<4>

E 
&5E=<G5E><= MF4? 

$&1 28.6 28.5 31.2 33.6 35.4 35.8 29.8 9.7 0 38.50 52.10 
$&2 28.7 28.6 31.3 33.8 35.5 35.9 30.0 10.5 0 38.60 52.20 
$&3 29.3 29.2 31.9 34.4 36.2 36.7 31.1 12.9 0 39.50 52.80 
$&4 29.6 29.5 32.2 34.7 36.6 37.1 31.7 14.2 0 39.90 53.10 
$&5 30.0 29.9 32.6 35.2 37.1 37.6 32.4 16.0 0 40.40 53.50 
$&6 30.1 30.0 32.8 35.3 37.2 37.8 32.7 16.4 0 40.60 53.70 
$&7 30.0 30.0 32.7 35.2 37.1 37.7 32.5 16.0 0 40.50 53.70 
$&8 30.0 30.0 32.7 35.2 37.1 37.7 32.5 16.0 0 40.50 53.80 

�<>?>7<G5E><= MF4? 
$&1 35.7 38.6 43.4 39.9 36.2 34.9 27.2 2.7 0 38.80 47.20 



75 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

71 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

$&2 35.9 38.8 43.6 40.1 36.4 35.1 27.6 3.7 0 39.10 47.30 

$&3 36.7 39.7 44.5 41.1 37.5 36.3 29.3 7.4 0 40.20 48.20 

$&4 37.4 40.4 45.2 41.8 38.3 37.2 30.6 10.3 0 41.10 48.90 

$&5 38.3 41.3 46.1 42.8 39.3 38.4 32.2 13.9 0 42.30 49.80 

$&6 38.3 41.2 46.1 42.7 39.3 38.3 32.1 13.7 0 42.20 50.00 
$&7 37.7 40.7 45.5 42.2 38.6 37.6 31.2 11.8 0 41.50 49.60 

$&8 37.2 40.1 45.0 41.6 38.0 36.9 30.2 9.7 0 40.80 49.10 
 

� E>>F65FEF6<< E %4=�<� 1.2.3685-21 «�<7<5=<G5E><5 =>D<4F<6O < FD55>64=<O > 

>55E?5G5=<N 557>?4E=>EF< < (<?<) 5576D54=>EF< 4?O G5?>65>4 D4>F>D>6 ED54O >5<F4=<O», 

4>?GEF<<O= GD>65=L LG<4 =4 F5DD<F>D<OE, =5?>ED54EF65==> ?D<?574NM<E > 6<?O< 

4><4<, =5 4>?65= ?D56OL4FL 55 4�� 6 4=56=>5 6D5<O < 45 4�� 6 =>G=>5 6D5<O. %>7?4E=> 

?D54EF46?5==O< D4EG5F4<, EG<<4D=O= M>6<64?5=F=O= GD>65=L LG<4 E>EF46?O5F 40,6 4�� 

< 42,3 4��. &4><< >5D47><, LG< >F <EF>G=<>>6 LG<4 6 D4EGUF=OE F>G>4E =5 ?D56OL45F 

4>?GEF<<OE 7=4G5=<= =4 F5DD<F>D<< %�� >4> =4 F5E=<G5E>><, F4> < =4 5<>?>7<G5E>>< 

MF4?5 D5>G?LF<64F<< D4EE<4FD<645<>7> >5N5>F4, 6?<O=<5 <EF>G=<>>6 LG<4 =4 

>>DG64NMGN ED54G O6?O5FEO 4>?GEF<<O<. � ?>EFD5>G?LF<64F<>==O= ?5D<>4 <EF>G=<>< 

LG<4 >FEGFEF6GNF. 

�6<4G 7=4G<F5?L=>= G44?5==>EF< >5N5>F4 ?D>5>F<D>64=<O >F 6<?>= 74EFD>=>< 

LG<>6>7> 6>745=EF6<O =5 5G45F. 'D>65=L LG<4 =5 ?D56OE<F 4>?GEF<<O=. 

%?54>64F5?L=>, D47D45>F>4 4>?>?=<F5?L=OE LG<>74M<F=OE <5D>?D<OF<= =5 

FD55G5FEO. 

-?5>FD><47=<F=>5 <7?GG5=<5 

-?5>FD><47=<F=>5 ?>?5 3 ?D>F5EE >5D47>64=<O E6>5>4=>7> M?5>FD><47=<F=>7> 

?>?O. �7?GG5=<5< =47O64NF F4>65 E4<> E6>5>4=>5 M?5>FD><47=<F=>5 ?>?5. %?5F<4?L=>7> 

>5>DG4>64=<O, D45>F4 >>F>D>7> E>?D>6>6445FEO <=4GF<D>64=<5< M?5>FD<G5E>>7> < 

<47=<F=>7> ?>?5= ?D< D5>G?LF<64F<< ?>?<7>=4 &��, =5F. %?54>64F5?L=>, ?D>5>F<DG5<O= 

>5N5>F D5>G?LF<64F<< =5 O6?O5FEO <EF>G=<>>< M?5>FD><47=<F=>7> <7?GG5=<O. 

�<5D4F<>==>5 6>745=EF6<5 

�EF>G=<>4<< 6<5D4F<>==>7> 6>745=EF6<O >5N5>F4 =4 >>DG64NMGN ED54G =4 MF4?5 

D5>G?LF<64F<< O6?ONFEO 46F><>5<?L=O= FD4=E?>DF, EFD><F5?L=4O F5E=<>4, 4<75?L=4O 

75=5D4F>D=4O GEF4=>6>4.  

�<5D4F<O 6>7=<>45F 6E?54EF6<5 >>?554=<= G4EF5= 4??4D4F>6, <4L<=, 

>><<G=<>4F<= < E>>DG65=<=, 6O7O645<OE =5GD46=>65L5==>EFLN 6D4M4NM<EEO 45F4?5= 

< F.?. �D< D5>G?LF<64F<< D4E?D>EFD4=5=4 FD4=E?>DF=4O 6<5D4F<O (>5M4O 6<5D4F<O), 

6>745=EF6GNM4O =4 G5?>65>4 =4 D45>G<E <5EF4E FD4=E?>DF=OE ED54EF6 6=GFD< >45<=O ?D< 

<E 46<65=<< ?> <5EF=>EF<  
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�D< 6<5D4F<>==>< 6>745=EF6<< =4 75>?>7<G5E>GN ED54G 65D>OF=>EFL 4>F<6<74F<< 

F4><E >?4E=OE 75>?>7<G5E><E ?D>F5EE>6, >4> >?>?7=<, >564?O, ?D>E544=<O 7DG=F>6 

?D4>F<G5E>< <E>?NG5=4. 

7.8 �F5=>4 6>745=EF6<O ?D< 6>7<>6=OE 464D<==OE E<FG4F<OE 

�E=>6=O<< ?D<G<=4<< 6>7=<>=>65=<O 464D<==OE E<FG4F<= 6 D5>G?LF<64F<>==O= 

< ?>EFD5>G?LF<64F<>==O= ?5D<>4O >5N5>F4 <>65F 5OFL =4DGL5=<5 F5E=>?>7<G5E><E 

?D>F5EE>6, F5E=<G5E><5 >L<5>< ?5DE>=4?4, =4DGL5=<5 ?D>F<6>?>64D=OE =>D< < ?D46<? 

?> F5E=<>5 557>?4E=>EF<, ?D<D>4=>->?<<4F<G5E><5 D4>F>DO, F5DD>D<EF<G5E><5 4>FO < 

F><G ?>4>5=>5.  

�F5=>4 6>745=EF6<O ?D< 6>7<>6=OE 464D<==OE E<FG4F<OE 6 ?5D<>4 D5>G?LF<64F<< 

>5N5>F4  

�E=>6=O< D4>F>D><, E?>E>5EF6GNM<< 6>7=<>=>65=<N < D476<F<N 464D<==>= 

E<FG4F<<, O6?O5FEO =4?<G<5 =55>?LL>7> >>?<G5EF64 67DO6>?>64D>>?4E=OE ?D>4G>F>6, 4 

<<5==> E6<65==OE < E64FOE 7>DNG<E 747>6 (<5F4=, 4<<<4>) < =5DF5?D>4G>F>6. �D< 

<7OE>4F5?LE><E D45>F4E =5 5O?> 74D<>E<D>64=> E4D4>F5D=>7> 4?O E64?>> F?5=<O, 4 F4>65 

7>D5=<O E?5646L<EEO >FE>4>6, >5NOE=O5FEO MF> F5<, GF> >FE>4O <<5NF ?5D57=<6L55 < 

7DG=F>?>4>5=>5 E>EF>O=<5.  

�4 <><5=F ?D>6545=<O D45>F =5 ?D54GE<>FD5=> =4?<G<O 5>?LL<E >5NU<>6 67DO6>- 

< ?>64D>>?4E=OE, 6D54=OE < F>>E<G=OE 65M5EF6 =4 ??>M44>5 D5>G?LF<64F<<, ?>MF><G 

<=F<45=F>6, ?D<6>4OM<E > =574F<6=O< ?>E?54EF6<O< 4?O ?N45= < ?D<D>4=>= ED54O, =5 

>6<445FEO.  

�4DGL5=<5 F5E=>?>7<G5E><E D57?4<5=F>6 ?> 6545=<N D5>G?LF<64F<>==OE D45>F, 

=4 ??>M44>5 <>7GF ?D<65EF< > E?54GNM<< ?>E?54EF6<O<:  

÷ �?O >><?>=5=F>6 ?D<D>4=>= ED54O:  

1) 747DO7=5=<5 ?>G6 < ?>475<=OE 6>4 6 D57G?LF4F5:  

- D47<5M5=<O >5>DG4>64=<O, <4F5D<4?>6 74 ?D545?4<< E?5F<4?L=> >5>DG4>64==OE 

??>M44>>;  

- 74E?4<?5=<O < 747DO7=5=<O F5DD<F>D<< >FE>44<< 74 ?D545?4<< 7D4=<F GG4EF>4 

?D>5>F<D>64=<O; 

- ?D>5744 46F>FD4=E?>DF4 < F5E=<>< 6=5 >F654U==OE <4DLDGF>6; 

- <E?>?L7>64=<O =4 ??>M44>5 =5<E?D46=>= F5E=<><.  

2) 747DO7=5=<5 4F<>ED5D=>7> 6>74GE4 6 D57G?LF4F5:  

- =5E4=>F<>=<D>64==>7> E6<74=<O >FE>4>6 =4 ??>M44>5 D5>G?LF<64F<<;  
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- ?>64D4 74 EG5F ?D>F5EE>6 E4<>6>77>D4=<O 6 E64?>G=>< F5?5; 

- EF<E<==OE 554EF6<= (?<6=56O5 4>64< < ?D.);  

- D4775D<5F<74F<< 5<>>EF5=;  

- <E?>?L7>64=<O F5E=<>< < 46F>FD4=E?>DF4 E =5>FD57G?<D>64==O<< E<EF5<4<< 

6=GFD5==57> E7>D4=<O;  

- =5E4=>F<>=<D>64==>7> E5D>E4 �%�, 6<4><E >FE>4>6, =5>G<M5==OE EF>>>6. 

÷ �?O ?N45=: ?>?GG5=<5 FD46< < 7<55?L ?D< 6>7=<>=>65=<< =5EG4EF=OE E?GG4OE 

=4 ??>M44>5 D5>G?LF<64F<<.  

'G<FO64O ?5D5G5=L D45>F, >EGM5EF6?O5<OE =4 ??>M44>5 D5>G?LF<64F<<, 

=57=4G<F5?L=O5 >5NU<O >?4E=OE <4F5D<4?>6 (�%�) D<E> 6>7<>6=>7> 6>7=<>=>65=<O 

464D<==OE E<FG4F<= =4 ??>M44>4E ?D5=55D56<F5?L=> <4?.  

�4<5>?55 65D>OF=O <=F<45=FO (>F>?>=5=<5 >F LF4F=>7> D56<<4 D45>F, =5 

?D<6>4OM55 > E5DLU7=O< ?>E?54EF6<O< 4?O ?N45= < ?D<D>4=>= ED54O), >E=>6=O< 

D4>F>D>< 6>7=<>=>65=<O >>F>DOE O6?O5FEO =5?D46<?L=>5 45=EF6<5 ?5DE>=4?4 

(G5?>65G5E><= D4>F>D). 

�F5=>4 6>745=EF6<O ?D< 6>7<>6=OE 464D<==OE E<FG4F<OE 6 

?>EFD5>G?LF<64F<>==O= ?5D<>4  

�D<G<=O 6>7=<>=>65=<O 464D<==OE E<FG4F<= 6 ?>EFD5>G?LF<64F<>==O= ?5D<>4:  

1) D47DGL5=<5 F5E=>?>7<G5E>>7> >5>DG4>64=<O;  

2) >L<5><, 55745=EF6<5 ?5DE>=4?4 6 LF4F=OE < =5LF4F=OE E<FG4F<OE, 

=5E4=>F<>=<D>64==O5 45=EF6<O ?5DE>=4?4; 

3) 6=5L=<5 6>745=EF6<O ?D<D>4=>7> < F5E=>75==>7> E4D4>F5D4; 

4) =4DGL5=<5 E4=<F4D=>-M?<45<<>?>7<G5E><E FD55>64=<= ?D< M>E??G4F4F<< 

>5N5>F4 (>FEGFEF6<5 >>=FD>?O 74 E>EF>O=<5< >><?>=5=F>6 >>DG64NM5= ED54O, >FEGFEF6<5 

=4 D45>G<E <5EF4E ?5DE>=4?4 < F.4.);  

5) =5E4=>F<>=<D>64==O= 4>EFG? ?>EF>D>==<E ?<F =4 F5DD<F>D<N 

D5>G?LF<6<D>64==>= E64?><.  

6) =4DGL5=<5 < =5E>5?N45=<5 ?D>F<6>?>64D=OE ?D46<?;  

7) ?>64D 74 EG5F ?D>F5EE>6 E4<>6>77>D4=<O 6 E64?>G=>< F5?5;  

8) EF<E<==O5 554EF6<O (?<6=56O5 4>64< < ?D.);  

9) D4775D<5F<74F<O 5<>>EF< ?> E5>DG EF>G=OE 6>4, D47?<6 D<?LFD4F4;  

10) =5E4=>F<>=<D>64==O= E5D>E �%�, 6<4><E >FE>4>6, =5>G<M5==OE EF>>>6.  

�?O ?N45=: ?>?GG5=<5 FD46< < 7<55?< ?D< =5EG4EF=OE E?GG4OE.  

� 7>=O 6>7<>6=OE 6>745=EF6<= ?D< 65D>OF=OE 464D<OE ?>?444NF F>?L>> ?5DE>=4? 

< >5N5>FO, D4E?>?>65==O5 =4 ?D><76>4EF65==>= ??>M44>5, 7>=O ?>D464NM<E D4>F>D>6 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

?D< <4?>65D>OF=OE >?4E=OE 464D<OE =4 D4EE<4FD<645<>< >5N5>F5 =5 74FD47<64NF <5EF4 

?D55O64=<O =4E5?5=<O. 

� E?GG4OE 6>7=<>=>65=<O 464D<=, >>F>DO5 <>7GF ?D<65EF< > 747DO7=5=<N 6>4=OE 

>5N5>F>6, ?D<G<=5=<N 6D544 >>DG64NM5= ED545 < 74>D>6LN =4E5?5=<O, ?<F4, 

M>E??G4F<DGNM<5 E<EF5<O E5>D4 EF>G=OE 6>4, >5O74=O =574<54?<F5?L=> <=D>D<<D>64FL 

>5 MF>< E?5F<4?L=> G?>?=><>G5==O5 7>EG44DEF65==O5 >D74=O 6 >5?4EF< >ED4=O 

>>DG64NM5= ED54O, <E?>?L7>64=<O < >ED4=O 6>4=OE >5N5>F>6, >D74=O 7>EG44DEF65==>7> 

E4=<F4D=>-M?<45<<>?>7<G5E>>7> =447>D4 < >D74=O <5EF=>7> E4<>G?D46?5=<O. 



79 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

75 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

8 ��$/ �� �$���&�$�-���. �/��� %������. ���������� 

����&������ ������%&��/ ����'����� %��/�%&������ � ���� 

��/&��,��%&� 

8.1 �5D>?D<OF<O ?> >ED4=5 4F<>ED5D=>7> 6>74GE4  

�D< ?D>6545=<< D45>F ?> D5>G?LF<64F<< 75<5?L 6O5D>EO 747DO7=ONM<E 65M5EF6 

=>EOF 6D5<5==O= E4D4>F5D. � ?5D<>4 %�$ E F5?LN G<5=LL5=<O >>47O645<>7> 

6>745=EF6<O =4 4F<>ED5D=O= 6>74GE ?D54GE<>FD5=O E?54GNM<5 <5D>?D<OF<O: 

- EFD>7>5 E>5?N45=<5 D57?4<5=F4 EFD><F5?L=OE D45>F; 

- ?>445D6<64=<5 46F>FD4=E?>DF4 < EFD><F5?L=OE <5E4=<7<>6 6 F5E=<G5E>< 

<E?D46=>< E>EF>O=<<; 

- D47<5M5=<5 =4 ??>M44>5 F>?L>> FD55G5<>7> 4?O 6O?>?=5=<O >?D545?5==>= 

F5>GM5= >?5D4F<< >5>DG4>64=<O; 

- >>=FD>?L D45>FO F5E=<>< 6 ?5D<>4 6O=G645==>7> ?D>EF>O <?< F5E=<G5E>>7> 

?5D5DO64 6 D45>F5, 7?GL5=<5 46<74F5?5= 46F><>5<?5= < 4>D>6=>-EFD><F5?L=>= F5E=<>< 

=4 6D5<O ?D>EF>56; 

- D4F<>=4?L=4O >D74=<74F<O EFD><F5?LEF64, ?D54>F6D4M5=<5 E>>??5=<O F5E=<>< =4 

??>M44>5 (D47<5M5=<5 =4 ??>M44>5 EFD><F5?LEF64 F>?L>> F>7> >5>DG4>64=<O, >>F>D>5 

FD55G5FEO 4?O 6O?>?=5=<O F5E=>?>7<G5E>>= >?5D4F<<, ?D54GE<>FD5==OE =4 44==>< MF4?5 

D45>F); 

- 74?D5M5=<5 E6<74=<O EFD><F5?L=>7> <GE>D4 < >FE>4>6 =4 <5EF5 6O?>?=5=<O 

D45>F, E6>56D5<5==O= 6O6>7 >FE>4>6 E F5?LN ?D54G?D5645=<O 6F>D<G=>7> 747DO7=5=<O 

4F<>ED5DO. 

8.2 �5D>?D<OF<O ?> >ED4=5 ?>65DE=>EF=OE < ?>475<=OE 6>4 

� E6O7< E F5<, GF> 6>4=O= >5N5>F (D. ,>D5=L74) D4E?>?>65= 74 ?D545?4<< 7>=O 

6?<O=<O 75<5?L=>7> GG4EF>4, 6?<O=<O =4 =57> E> EF>D>=O =5E4=>F<>=<D>64==>= E64?>< =5 

?D>7=>7<DG5FEO < <5D>?D<OF<O ?> >ED4=5 ?>65DE=>EF=OE 6>4 =5 D47D454FO64NFEO. 

� ?5D<>4 EFD><F5?LEF64 ?>65DE=>EF=O5 < ?>475<=O5 6>4O =5 <E?>?L7GNFEO, GF> 

O6?O5FEO 7?46=O< <5D>?D<OF<5< ?> ?D54>F6D4M5=<N <E <EF>M5=<O < 747DO7=5=<O. 

�?O ?D54>F6D4M5=<O <?< E=<65=<O =574F<6=OE ?>E?54EF6<= ?D54GE<>FD5= DO4 

>D74=<74F<>==>-F5E=<G5E><E <5D>?D<OF<= ?> 74M<F5 ?>475<=OE 6>4 >F 747DO7=5=<O:  

- 6O?>?=5=<5 D45>F 6 ?D545?4E >7D4645=<O ??>M44>< ?D><76>4EF64 D45>F;  
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- <<=<<<74F<O ?>EFG??5=<O 747DO7=ONM<E 65M5EF6 <7 F5?4 >5N5>F4 D47<5M5=<O 

>FE>4>6 6 ?>65DE=>EF=O5 < 7DG=F>6O5 6>4O;  

- 4?O <E>?NG5=<O 747DO7=5=<O <=D<?LFD4F<>==O<< 4>6456O<< < F4?O<< 6>44<< E 

F5DD<F>D<< E64?>< ?D54GE<4FD<645FEO GEFD>=EF6> 4D5=46=>= E<EF5<O 6 >E=>64=<< E64?>< 

E <E>GEEF65==O< =5?D>=<F45<O< M>D4=><;  

- <4L<=O < <5E4=<7<O, GG4EF6GNM<5 6 D45>F4E, 4>?6=O ?>EF>O==> ?>465D74FLEO 

F5E=<G5E>><G >E<>FDG < D5<>=FG E F5?LN ?D54>F6D4M5=<O ?>?444=<O 7>DNG5-E<47>G=OE 

<4F5D<4?>6 6 ?>G6G; 

- 74?D5F 74?D46><, D5<>=F4 F5E=<>< < <5E4=<7<>6, 74<5=O <4E5? =4 ??>M44>5; 

- 4?O E5>D4 E>7O=EF65==>-5OF>6OE EF>>>6 <E?>?L7GNFEO 5<>FG4?5FO < 

E?5F<4?<7<D>64==O5 5<>>EF<, <E>?NG4NM<5 ?DO<>= >>=F4>F E ?>G6>=; 

- <E?>?L7>64=<5 ?D<6>7=>= 6>4O 4?O E>7O=EF65==>-5OF>6OE < ?<FL56OE F5?5=, 4 

F4>65 4?O ?>?<64; 

- 6D5<5==>5 E>?44<D>64=<5 >FE>4>6, >5D47GNM<EEO ?D< ?D><76>4EF65 D45>F, 6 

E?5F<4?L=> ?D54=47=4G5==OE <5EF4E, <<5NM<E F65D4>5 ?>>DOF<5, ?D54>F6D4M4NM55 

?D>=<>=>65=<5 747DO7=ONM<E 65M5EF6 6 ?>G6G, 44?55 3 6 6>4>=>E=O= 7>D<7>=F; 

- 74?D5F E5D>E4 EF>G=OE 6>4 < 6<4><E >FE>4>6 ?D><76>4EF64. 

%FD><F5?LEF6> < M>E??G4F4F<O >5N5>F>6 ?D>5>F<D>64=<O 4>?6=O >EGM5EF6?OFLEO E 

E>5?N45=<5< FD55>64=<= �>4=>7> >>45>E4 $$. �4==O5 <5D>?D<OF<O ?>E?>E>5EF6GNF 

<<=<<<74F<< =574F<6=OE 6>745=EF6<= >F ?D>5>F<DG5<>7> >5N5>F4 =4 ?>65DE=>EF=O5 < 

?>475<=O5 6>4O. 

8.3 �5D>?D<OF<O ?> >ED4=5 75<5?L=OE D5EGDE>6 < ?>G65==>7> ?>>D>64 

� E>>F65FEF6<< E FD55>64=<O<< �5<5?L=>7> >>45>E4 $>EE<=E>>= $545D4F<<, >ED4=4 

75<5?L O6?O5FEO =5>5E>4<<O< M?5<5=F>< ?D< <E?>?L7>64=<< MF>7> D5EGDE4. 

� F5?OE >ED4=O < D4F<>=4?L=>7> <E?>?L7>64=<O 75<5?L=OE D5EGDE>6 4>?6=O 

E>5?N44FLEO >E=>6=O5 FD55>64=<O, >55E?5G<64NM<5 >ED4=G F5DD<F>D<= < 75<5?L 6 

?5D<>4 EFD><F5?LEF64: 

- <E?>?L7>64=<5 <5EF D47<5M5=<O >><??5>FGNM<E, EODLO, E>?44<D>64=<O >FE>4>6, 

?>G6>-7DG=F>6 6 E>>F65FEF6<< E GEF4=>6?5==O<< FD55>64=<O<< < =>D<4F<64<<; 

-  >EGM5EF6?5=<5 EFD><F5?L=OE D45>F 6 E>>F65FEF6<< E ?D>5>F=>= 4>>G<5=F4F<5=; 

- E>5?N45=<5 ?D>5>F=OE >F<5F>> 6> <75564=<5 <7<5=5=<= 5EF5EF65==>7> D5?L5D4 

<5EF=>EF<; 

- ?D>6545=<5 EFD><F5?L=OE D45>F 6 7D4=<F4E >F6545==>= F5DD<F>D<<; 
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- ?D>574 EFD><F5?L=>= F5E=<>< < 46F>FD4=E?>DF4 > EFD><F5?L=>= ??>M44>5 

>D74=<7>64FL ?> EGM5EF6GNM<< 4>D>74<; 

- >EGM5EF6?OFL D45>FG F5E=<>< F>?L>> =4 >5GEFD>5==>< 6D5<5==>< F65D4>< 

?>>DOF<<; 

- =4 F5DD<F>D<< ??>M44>< EFD><F5?LEF64 >5N5>F4 ?D54GE<>FD5FL <5EF4 GEF4=>6>< 

6D5<5==OE 5OF>6OE < E>?44E><E ?><5M5=<=, ??>M44>< 4?O E>?44<D>64=<O 

EFD>=<4F5D<4?>6 (?5E>4, M55=O, >>=EFDG>F<= < F.4.); 

- <4L<=O < <5E4=<7<O, GG4EF6GNM<5 6 ?D>F5EE5 EFD><F5?LEF64, 4>?6=O ?>EF>O==> 

?>465D74FLEO F5E=<G5E>><G >E<>FDG < D5<>=FG E F5?LN ?D54>F6D4M5=<O GF5G>< 7>DNG5-

E<47>G=OE <4F5D<4?>6; 

- >5O74F5?L=>5 6O?>?=5=<5 <5D>?D<OF<= ?> ?D54>F6D4M5=<N 74E?4<?5=<O 

?D<?574NM5= F5DD<F>D<< < 7>=O ?D><76>4EF64 D45>F <GE>D>< (E6>56D5<5==O= E5>D < 

6O6>7 EFD><F5?L=OE < 5OF>6OE >FE>4>6); 

- ?5E>> < M555=L 4?O EFD><F5?LEF64 4>?65= ?D<>5D5F4FLEO =4 ?D54?D<OF<OE, 

<<5NM<E E5DF<D<>4FO M>>?>7<G5E>>= 557>?4E=>EF< ?>EF46?O5<OE <4F5D<4?>6; 

- 74?D5F E?<64 >FD45>F4==OE <4E5?, 4 F4>65 7>DNG5-E<47>G=OE 65M5EF6 =4 

?>65DE=>EFL 75<?<; 

- 74?D46>4 F>??<6><, <>=>4 < D5<>=F FD4=E?>DF=OE ED54EF6 < 4>D>6=>-

EFD><F5?L=>= F5E=<>< 4>?6=O 6O?>?=OFLEO =4 EF4F<>=4D=OE ��%, 46F><>=>4E < 

EF4=F<OE F5E>5E?G6<64=<O, D4E?>?>65==OE 65?<7< >5N5>F4; 

- >D74=<74F<O <5EF 6D5<5==>7> E>?44<D>64=<O >FE>4>6 6 E>>F65FEF6<< E E4=<F4D=>-

M?<45<<>?>7<G5E><<< < M>>?>7<G5E><<< FD55>64=<O<<. 

�O?>?=5=<5 <5D>?D<OF<= ?> >ED4=5 75<5?L, 4 F4>65 ?D>6545=<5 D45>F ?> 

D5>G?LF<64F<< =4DGL5==OE 75<5?L ?>E?>E>5EF6G5F E>>D4M5=<N =574F<6=>7> 6>745=EF6<O 

=4 >><?>=5=FO >>DG64NM5= ?D<D>4=>= ED54O ?D< D54?<74F<< ?D>5>F4 < G?GGL5=<N 

E4=<F4D=>-7<7<5=<G5E><E GE?>6<= F5DD<F>D<<. 

8.4 �5D>?D<OF<O ?> E5>DG, <E?>?L7>64=<N, >5576D56<64=<N, 

FD4=E?>DF<D>6>5 < D47<5M5=<N >FE>4>6 

� ?5D<>4 ?D>6545=<O EFD><F5?L=OE D45>F < M>E??G4F4F<< >5N5>F4 =5>5E>4<<> 

E>5?N44FL =>D<O < ?D46<?4 ?D<D>4>>ED4==>7> 74>>=>44F5?LEF64 6 >5?4EF< >5D4M5=<O E 

>FE>44<<. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�5D54 =4G4?>< ?D><76>4EF64 D45>F =5>5E>4<<> 74>?NG<FL 4>7>6>D4 =4 6O6>7, 

?>E?54GNM55 <E?>?L7>64=<5 < GF<?<74F<N >FE>4>6 E >D74=<74F<O<<, <<5NM<<< 

?<F5=7<< =4 44==O= 6<4 45OF5?L=>EF<. 

� F5?OE 557>?4E=>7> >5D4M5=<O E >FE>44<< =5>5E>4<<> 6O?>?=OFL E?54GNM<5 

<5D>?D<OF<O: 

- =54>?GEF<<O 74E>D>=5=<O >FE>4>6; 

- >5GEFD>=EF6> <5EF 6D5<5==>7> =4>>??5=<O >FE>4>6 4>?6=> E>>F65FEF6>64FL 

%4=�<�; 

- ?5D54 =4G4?>< EFD><F5?LEF64 >5>DG4>64FL ??>M44>G 4?O E5>D4 < ED4=5=<O 

5OF>6OE >FE>4>6, <GE>D4 >F EFD><F5?L=OE D45>F < <5F4??>?><4; 

- >D74=<7>64FL D4745?L=O= E5>D < 6D5<5==>5 =4>>??5=<5 >FE>4>6 ?> E>6>>G?=>EF< 

?>7<F<=, <<5NM<E 54<=>5 =4?D46?5=<5 <E?>?L7>64=<O ?<5> ?>4?564M<E 74E>D>=5=<N, 

>5576D56<64=<N; 

- 74?D5M45FEO E6<74=<5 6E5E 7>DNG<E >FE>4>6. 

� ?D>F5EE5 ?D>6545=<O EFD><F5?L=OE D45>F 74EFD>=M<> >5O74= 65EF< 6 

GEF4=>6?5==>< ?>DO4>5 GG5F >5D47GNM<EEO >FE>4>6, ?5D544645<OE 4DG7<< ?<F4<, 

D47<5M45<OE 6D5<5==> =4 F5DD<F>D<< EFD><F5?LEF64. 

�D54?4745<O= > D47<5M5=<N >5N5>F O6?O5FEO <EF>G=<>>< >5D47>64=<O >FE>4>6 

D47=OE >?4EE>6 >?4E=>EF<. �?O <<=<<<74F<< =574F<6=>7> 6>745=EF6<O >FE>4>6 =4 

>>DG64NMGN ED54G < 74>D>6L5 =4E5?5=<5 6 ?5D<>4O 4> <><5=F4 >F?D46>< =4 ?>?<7>= 

&�� <?< 4?O ?5D5D45>F>< =4 4DG7>5 ?D54?D<OF<5, 6D5<5==>5 D47<5M5=<5 >FE>4>6 

?D54GE<4FD<645FEO 6 <5EF4E, E?5F<4?L=> >5GEFD>5==OE 4?O MF<E F5?5= 6 E>>F65FEF6<< E 

45=EF6GNM<<< =>D<4<< < ?D46<?4<<.  

�?>M44>< 4?O 6D5<5==>7> D47<5M5=<O >FE>4>6 4>?6=O:  

- <<5FL ?>>DOF<O, =5?D>=<F45<O5 4?O F>>E<G=OE 65M5EF6;  

- 5OFL >5>DG4>64=O =465E4<< < ?>44>=4<< 4?O ?D54>F6D4M5=<O 6>7<>6=>7> 

747DO7=5=<O ?>65DE=>EF=OE 6>4 6D54=O<< 65M5EF64<<. 

�D54?D<OF<N =5>5E>4<<> GEF4=>6<FL >?4EE >?4E=>EF< >FE>4>6 =5 >?D545?5==OE 

D545D4?L=O< >?4EE<D<>4F<>==O< >4F4?>7>< >FE>4>6 D47D45>F4FL ?4E?>DF4 >?4E=OE 

>FE>4>6 4?O >FE>4>6, >5D47GNM<EEO ?D< EFD><F5?LEF65 < M>E??G4F4F<< ?D>5>F<DG5<>7> 

>5N5>F4; < E>7?4E>64FL 6 GEF4=>6?5==>< 74>>=>< ?>DO4>5. 

%5>D < =4>>??5=<5 >FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O >EGM5EF6?O5FEO 6 

E>>F65FEF6<< E =>D<4F<6=O<< 4>>G<5=F4<<. %?>E>5 6D5<5==>7> E>?44<D>64=<O >FE>4>6 

>?D545?O5FEO <E >?4EE>< >?4E=>EF<. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�>E?5 ?D>6545=<O D45>F ?5D<>44 F5E=>?>7<G5E>>= D5>G?LF<64F<<, >5N5>F 

D47<5M5=<O >FE>4>6 5G45F ?D54EF46?OFL E>5>= =4EO?=>= E>?< E ?>>4FO<< < 

F5DD4E<D>64==O<< E>?>=4<<. 

� F5G5=<5 5<>?>7<G5E>>7> MF4?4, 4 F4>65 ?>E?5 >>>=G4=<O 6E5E D5>G?LF<64F<>==OE 

D45>F, 5G45F >5D47>6O64FLEO D<?LFD4F. 

�O6>7 D<?LFD4F4 <7 D575D6G4D4 4?O E5>D4 D<?LFD4F4 ?D><76>4<FEO ?> 4>7>6>DG E> 

E?5F<4?<7<D>64==>= >D74=<74F<5= (=4 >G<EF=O5 E>>DG65=<O). 

$54?<74F<O ?D54GE<>FD5==OE ?D>5>F=OE D5L5=<= ?D< >5O74F5?L=>< 6O?>?=5=<< 

6E57> >><??5>E4 ?D<D>4>>ED4==OE <5D>?D<OF<= =5 6O7>65F >?4E=OE M>>?>7<G5E><E 

?>E?54EF6<= 6 ?D<?574NM5< D4=>=5 < 5G45F =>E<FL ?<LL >D4F>>6D5<5==O=, ?>>4?L=O= 

E4D4>F5D 6>745=EF6<O =4 >>DG64NMGN ED54G. 

8.5 �5D>?D<OF<O ?> >ED4=5 D4EF<F5?L=>7> < 6<6>F=>7> <<D4 

$54?<74F<O ?D>5>F=OE D5L5=<=, ?D5645 6E57>, >>465F ?5DE?5>F<6=>5 

?>?>6<F5?L=>5 6?<O=<5 =4 D4EF<F5?L=O= < 6<6>F=O= <<D D4=>=4 ?D><76>4EF64 D45>F. 

&4>, D5>G?LF<64F<O =4DGL5==OE 75<5?L 6>?NG45F <5D>?D<OF<O ?> 6>EEF4=>6?5=<N 

??>4>D>4<O ?>G6 < E>744=<N D4EF<F5?L=>EF<. � =<< >F=>EOFEO: ?>E56 <=>7>?5F=<E FD46, 

?D>6545=<5 47D>F5E=<G5E><E <5D>?D<OF<=, D<F><5?<>D4F<6=O5 < 4DG7<5 D45>FO, 

=4?D46?5==O5 =4 6>EEF4=>6?5=<5 D?>DO < D4G=O. 

�4M<F4 D4EF5=<= >F 6>745=EF6<O 6D54=OE 65M5EF6, 747DO7=ONM<E 4F<>ED5D=O= 

6>74GE, 7?46=O< >5D47><, 74>?NG45FEO 6 G<5=LL5=<< >5N5<4 < >>=F5=FD4F<< 6O5D>E4 

F>>E<G=OE 65M5EF6, 6 <E?>?L7>64=<< F>?L>> <E?D46=>= F5E=<><, 4 F4>65 ?D<<5=5=<< 

<4F5D<4?>6, <<5NM<E E5DF<D<>4FO >4G5EF64. 

� F5?OE <E>?NG5=<O 6>745=EF6<O =4 D4EF5=<O D47?<6O �%�, 74?D46>4 < <>=>4 

4>D>6=>-EFD><F5?L=>= F5E=<>< < 46F>FD4=E?>DF=OE <4L<= =4 F5DD<F>D<< 

EFD>=??>M44>< 74?D5M5=O. 

�?O ?D54>F6D4M5=<O 7<55?< >5N5>F>6 D4EF<F5?L=>7> < 6<6>F=>7> <<D4 

74?D5M45FEO ED4=5=<5 < E>?44<D>64=<5 O4>E<<<>4F>6, E<<<G5E><E D5475=F>6, �%�, EODLO 

< >FE>4>6 ?D><76>4EF64 557 >EGM5EF6?5=<O <5D, 74D4=F<DGNM<E ?D54>F6D4M5=<5 

745>?564=<= < 7<55?< >5N5>F>6 D?>DO < D4G=O, GEG4L5=<O ED54O <E >5<F4=<O. 

�5>5E>4<<> EFD>7> E>5?N44FL <5DO ?>64D=>= 557>?4E=>EF<. �4?D5M45FEO 

E6<74=<5 D4EF<F5?L=>EF<, <GE>D4 < 4DG7<E >FE>4>6, >5D47GNM<EEO 6 ?D>F5EE5 ?D>6545=<O 

D45>F. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�E5 D45>FO =5>5E>4<<> 65EF< E GG5F>< FD55>64=<= D545D4?L=OE 74>>=>6 >F 

10.01.2002 7 7-$� «�5 >ED4=5 >>DG64NM5= ED54O», >F 24.04.1995 752-$� «� 6<6>F=>< 

<<D5», ?>EF4=>6?5=<O >F 13.08.1966 7997 «&D55>64=<= ?> ?D54>F6D4M5=<N 7<55?< 

>5N5>F>6 6<6>F=>7> <<D4 ?D< >EGM5EF6?5=<< ?D><76>4EF65==OE ?D>F5EE>6, 4 F4>65 ?D< 

M>E??G4F4F<< FD4=E?>DF=OE <47<EFD4?5=, FDG5>?D>6>4>6, ?<=<= E6O7< < 

M?5>FD>?5D544G<». 

�D< ?D>6545=<< %�$ =5>5E>4<<> ?D54GE<>FD5FL E?54GNM<5 GE?>6<O 74M<FO 

ED54O >5<F4=<O, ?>?G?OF<= 6<6>F=OE: 

- 74?D5F =4 =5E4=>F<>=<D>64==>5 ?5D546<65=<5 F5E=<><, ?5D546<65=<5 F5E=<>< 

6=5 EGM5EF6GNM<E 4>D>7 < 6D5<5==OE ?D>574>6; 

- =54>?GM5=<5 5D4>>=L5DEF64 E> EF>D>=O D45>G<E, 74=OFOE 6 ?D>F5EE5 

?D><76>4EF64 %�$; 

- 74?D5M45FEO >EF46?OFL =5D45>F4NM<5 <4L<=O < <5E4=<7<O 6 7>=5 D45>F. 

�> 6D5<O ?D>6545=<O <=65=5D=OE <7OE>4=<= E?54O 6<7=545OF5?L=>EF< D54><E 

6<4>6 D4EF5=<= < 6<6>F=OE 6 ?D545?4E ?>?>EO >F6>44 =5 >5=4DG65=O. 

�O?>?=5=<5 <7?>65==OE <5D>?D<OF<= ?>76>?<F EGM5EF65==> E=<7<FL 6>745=EF6<5 

>5N5>F4 =4 D4EF<F5?L=>EFL, 4 F4>65 =4 6<6>F=O= <<D.  

8.6 �5D>?D<OF<O ?> G<5=LL5=<N LG<>6>7> 6>745=EF6<O 

�4 MF4?5 EFD><F5?LEF64 4?O <E>?NG5=<O =574F<6=>7> LG<>6>7> 6>745=EF6<O 

?D>5>F<DG5<>7> >5N5>F4, EFD><F5?L=O5 D45>FO =5>5E>4<<> ?D5<<GM5EF65==> 

?D><76>4<FL 6 4=56=>5 6D5<O EGF>>. � 4=56=>5 6D5<O =5>5E>4<<> >?F<<4?L=> 

D4E?D545?<FL D45>G55 6D5<O, ?>76>?ONM55 <<=<<<7<D>64FL D45>FG LG<=OE <5E4=<7<>6. 

�?O E=<65=<O >5M57> LG<><7?GG5=<O E?54G5F ?D54GE<>FD5FL >7D4645=<5 

=4<5>?55 LG<=>7> >5>DG4>64=<O LG<>74M<F=O<< M>D4=4<<, 7465E4<<.  

�?O G<5=LL5=<O LG<>6>7> 6>745=EF6<O D45>F4NM5= EFD><F5?L=>= F5E=<>< 

=5>5E>4<<> ?D54GE<>FD5FL E?54GNM<5 <5D>?D<OF<O: 

1. �5 4>?GE>4FL > D45>F4< EFD><F5?L=GN F5E=<>G E ?>6D5645==O< (?D>5<FO<, 

?D>7>D56L<< < F.4.) 7?GL<F5?5< < >FEGFEF6GNM5= E<EF5<>= 76G>><7>?OF<< =4 EF5=>4E 

<>F>D=>7> >FE5>4. 

2. �4L<=O < 47D574FO, E>744NM<5 LG< ?D< D45>F5, E?54G5F M>E??G4F<D>64FL F4><< 

>5D47><, GF>5O GD>6=< 76G>4 < 76G>>6>7> 446?5=<O =4 D45>G<E <5EF4E < =4 F5DD<F>D<< 

EFD><F5?L=>= ??>M44>< =5 ?D56OL4?< 4>?GEF<<OE 65?<G<=, G>474==OE 6 E4=<F4D=OE 

=>D<4E, 4 <<5==>: 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

- =4 <>F>D=O5 >FE5>< =4<5>?55 LG<=OE <4L<= < <5E4=<7<>6 ?D54GE<>FD5FL 

76G>><7>?<DGNM<5 >>6GE<; 

- ?D54GE<>FD5FL GEFD>=EF6> 6D5<5==OE <>5<?L=OE 76G>>?>7?>M4NM<E < 

M>D4=<DGNM<E >7D4645=<= ?D< D45>F5 EFD><F5?L=>= F5E=<>< E <4>E<<4?L=>= =47DG7>>= < 

<4>E<<4?L=O< LG<>6O< 6>745=EF6<5<. 

3. �?O E=<65=<O LG<>6>7> 6>745=EF6<O =4 D45>G<E <5EF4E =5>5E>4<<> >55E?5G<FL 

?5DE>=4? ED54EF64<< <=4<6<4G4?L=>= 74M<FO (?D>F<6>LG<=O5 =4GL=<><, 55DGL< < F.4.), 

4 F4>65 ?D54GE<>FD5FL >D74=<74F<>==O5 <5D>?D<OF<O (6O5>D D4F<>=4?L=>7> D56<<4 

FDG44 < >F4OE4, E>>D4M5=<5 6D5<5=< 6>745=EF6<O LG<>6OE D4>F>D>6 6 D45>G5= 7>=5 < 

4DG7<5 <5D>?D<OF<O); 

4. �>=O E GD>6=5< 76G>4 E6OL5 80 4�� >5>7=4G4NFEO 7=4>4<< >?4E=>EF<. $45>F4 6 

MF<E 7>=4E 557 <E?>?L7>64=<O ED54EF6 <=4<6<4G4?L=>= 74M<FO E?GE4 =5 4>?GE>45FEO. 

&4><< >5D47><, 6O?>?=5=<5 <5D>?D<OF<= ?> 74M<F5 >F LG<4 ?>76>?<F 7=4G<F5?L=> 

E=<7<FL =574F<6=>5 6>745=EF6<5 EFD><F5?L=>= F5E=<>< =4 ?D<?574NMGN 74EFD>=>G,  4 

F4>65 =5 ?>6?5G5F 74 E>5>= =5>5D4F<<OE ?>E?54EF6<= 4?O >>DG64NM5= ?D<D>4=>= ED54O. 

8.7 �5D>?D<OF<O ?> ?D54>F6D4M5=<N 6>7=<>=>65=<O 464D<==OE E<FG4F<= 

$47D45>F>4 <5D ?> ?D54>F6D4M5=<N (E=<65=<N) 6>7=<>=>65=<O 464D<==OE 

E<FG4F<= O6?O5FEO =5>FN5<?5<>= G4EFLN E<EF5<O G?D46?5=<O >ED4=>= >>DG64NM5= 

ED54O < =4?D46?5=4, 6 ?5D6GN >G5D54L, =4 <E ?D54>F6D4M5=<5. 

� ?D>F5EE5 D5>G?LF<64F<< =5>5E>4<<> >55E?5G<FL 6O?>?=5=<5 E?54GNM<E 

<5D>?D<OF<= 4?O ?D54>F6D4M5=<O 464D<==OE E<FG4F<=: 

- E>5?N45=<5 ?D>F<6>?>64D=OE ?D46<?, ?D54GE<>FD5==OE �>EF4=>6?5=<5< 

�D46<F5?LEF64 $$ >F 25.04.2012 7390 "� ?D>F<6>?>64D=>< D56<<5", < >ED4=4 >F ?>64D4 

>5N5>F4 D5>G?LF<64F<<; 

- =4?<G<5 < <E?D46=>5 E>45D64=<5 ED54EF6 5>DL5O E ?>64D><; 

- 6>7<>6=>EFL M64>G4F<< < E?4E5=<O ?N45=, 4 F4>65 74M<FO <4F5D<4?L=OE 

F5==>EF5= ?D< ?>64D5 =4 EFD><F5?L=>= ??>M44>5; 

- EFD>7> ?D<45D6<64FLEO D57?4<5=F4 ?D>6545=<O EFD><F5?L=OE D45>F; 

- 6O?>?=OFL F<?>6O5 <=EFDG>F<< ?> 557>?4E=>= M>E??G4F4F<< ?D<<5=O5<>7> 

>5>DG4>64=<O, F5E=<G5E><E ED54EF6 

- >D74=<74F<O >>=FD>?O 74 557>?4E=O< 6545=<5< D45>F; 

- > D45>F5 =4 <4L<=4E < <5E4=<7<4E 4>?GE>4NFEO ?<F4, ?D>L54L<5 <=EFDG>F46 ?> 

F5E=<>5 557>?4E=>EF<. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

� >4G5EF65 74M<F=OE <5D>?D<OF<= =5>5E>4<<> 6O?>?=OFL E?54GNM<5 FD55>64=<O 

< GE?>6<O: 

- <4>E<<4?L=> E>ED4=<FL D4EF<F5?L=O5 D5EGDEO (<E?>?L7>64FL M44OM<5 ?> 

>F=>L5=<N > D4EF<F5?L=>EF< F5E=>?>7<< ?D><76>4EF64 D45>F); 

- >55E?5G<FL E>ED4==>EFL 4D565E=>->GEF4D=<>>6>= D4EF<F5?L=>EF<, =5 ?>?444NM<E 

=4 >F6545==O= GG4EF>> 6O?>?=5=<O D45>F; 

- >55E?5G<FL >ED4=G ?D><7D4EF4=<O D4EF5=<= < 6<6>F=OE =4 ?D<?574NM5= 

F5DD<F>D<<; 

- >E=4M5=<5 >>=F5==5D4<< 4?O 5OF>6OE < EFD><F5?L=OE >FE>4>6, 5<>>EFO<< 4?O 

E5>D4 >FD45>F4==OE �%�; 

- 74?D5M5=<5 <>=>< <4L<= < <5E4=<7<>6 6=5 E?5F<4?L=> >5>DG4>64==OE <5EF. 

� E?GG45 6>7=<>=>65=<O 464D<==>= E<FG4F<< ?D54?D<=<<4NFEO 6E5 6>7<>6=O5 

<5DO ?> 55 E>>D5=L5<G ?D5>D4M5=<N, ?>>4?<74F<< < ?<>6<44F<< ?>E?54EF6<=, GF> 

?>76>?<F E65EF< > <<=<<G<G GD>65=L 6>745=EF6<O >5N5>F4 EFD><F5?LEF64 =4 >>DG64NMGN 

ED54G. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

9 �//�����/� �$� �$�������� �&���� ����$��������%&� � 

��$�������� ������%&��� ����'����� %��/�%&������ � ���� 

��/&��,��%&� �� ��$'��.-'. %$��' 

�4<5G45<4O E>7O=EF65==4O 45OF5?L=>EFL =5 >>465F EGM5EF65==>7> 6?<O=<O =4 

>>DG64NMGN ED54G < =5 6O7>65F M>>?>7<G5E><E ?>E?54EF6<= ?D< GE?>6<< E>5?N45=<O 

F5E=>?>7<G5E><E D57?4<5=F>6 =4 ?D>6545=<5 D45>F < F5E=<>< 557>?4E=>EF<.  

�D< ?D>6545=<< >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G =5 5O?> 6OO6?5=> 

>4><E-?<5> =5>?D545?5==>EF5= 6 =4<5G45<>= 45OF5?L=>EF<.  
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

10 �$�&��� %���$����� �$��$��� ����&�$���� � 

��%���$���&���� ������� 

�D><76>4EF65==O= M>>?>7<G5E><= <>=<F>D<=7 < >>=FD>?L (�-�<�) ?D< 

EFD><F5?LEF65 <>6=> >?D545?<FL >4> E<EF5<G =45?N45=<=, >F5=>< < ?D>7=>74 <7<5=5=<= 

6 E>EF>O=<< >>DG64NM5= ED54O 6 GE?>6<OE ?D><76>4EF65==>= 45OF5?L=>EF< E F5?LN 

6O45?5=<O F5E=>75==>= E>EF46?ONM5= MF<E <7<5=5=<= =4 D>=5 ?D<D>4=OE ?D>F5EE>6, 

?D54>F6D4M5=<O < E=<65=<O =574F<6=OE ?>E?54EF6<= 45OF5?L=>EF<, E>ED4==>EF< < 

=4456=>EF< DG=>F<>=<D>64=<O >5N5>F>6 EFD><F5?LEF64, 4 F4>65 45OF5?L=>EFL ?> 

E>5?N45=<N M>>?>7<G5E><E =>D< < ?D46<? < ?D<=OFOE ?D>5>F=OE D5L5=<=. 

�>=F5?F<O �-�<� ?>4D47G<5645F >5N54<=5=<5 6 >4=G E<EF5<G 46GE 

E>EF46?ONM<E: ?D><76>4EF65==>7> M>>?>7<G5E>>7> <>=<F>D<=74 (�-�) < 

?D><76>4EF65==>7> M>>?>7<G5E>>7> >>=FD>?O (�-�). 

�E=>6=>= F5?LN D45>F ?> ?D>6545=<N ?D><76>4EF65==>7> M>>?>7<G5E>>7> 

<>=<F>D<=74 (�-�) O6?O5FEO ?>?GG5=<5 4>EF>65D=>= <=D>D<4F<< > E>EF>O=<< 

>><?>=5=F>6 >>DG64NM5= ED54O =4 >>=FD>?<DG5<>= F5DD<F>D<< 4?O >F5=>< <7<5=5=<= 

E>EF>O=<O MF<E >><?>=5=F>6 < ?D>7=>7<D>64=<O ?>E?54EF6<= MF<E <7<5=5=<= ?D< 

EFD><F5?LEF65 < M>E??G4F4F<< >5N5>F>6, 4 F4>65 6O44G4 D5>><5=44F<= 4?O ?D<=OF<O 

D5L5=<= ?> E=<65=<N =574F<6=>7> 6>745=EF6<O =4 >>DG64NMGN ED54G. 

�D< ?D><76>4EF65 EFD><F5?L=OE D45>F =5>5E>4<<O< < 4>EF4F>G=O< 5G45F 

>D74=<74F<O =45?N45=<= 74 E>EF>O=<5< E?54GNM<E >><?>=5=F>6 >>DG64NM5= ED54O: 

- 4F<>ED5D=O= 6>74GE; 

- ?>G65==O= ?>>D>6. 

�D><76>4EF65==O= M>>?>7<G5E><= >>=FD>?L >EGM5EF6?O5FEO 6 F5G5=<5 6E57> 

?5D<>44 EFD><F5?LEF64 < ?D<5<>< 6 M>E??G4F4F<N 74>>=G5==OE EFD><F5?LEF6>< >5N5>F>6 

6 F5?OE >55E?5G5=<O ?D<D>4>>ED4==OE ?D>5>F=OE D5L5=<=, 4 F4>65 6 F5?OE ?>6OL5=<O 

>F65FEF65==>EF< ?D>5>F=OE < EFD><F5?L=>-<>=F46=OE >D74=<74F<= < >55E?5G5=<O 

6OE>>>7> >4G5EF64 EFD><F5?LEF64. 

�D><76>4EF65==O= M>>?>7<G5E><= <>=<F>D<=7 < >>=FD>?L ?D>6>4<FEO =4 

>E=>64=<< < 6 E>>F65FEF6<< E FD55>64=<O<< $545D4?L=>7> 74>>=>44F5?LEF64 < 

=>D<4F<6=>-F5E=<G5E>>= 4>>G<5=F4F<5=. �E=>6=O<< 74>>=>44F5?L=O<< < =>D<4F<6=O<< 

4>>G<5=F4<<, ?D54NO6?ONM<<< >5M<5 FD55>64=<O > D45>F4< ?> �-�<�, O6?ONFEO: 

÷ $545D4?L=O= 74>>= >F 10 O=64DO 2002 7. 77-$� «�5 >ED4=5 >>DG64NM5= 

ED54O»; 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

÷ $545D4?L=O= 74>>= >F 30 <4DF4 1999 7. 752-$� «� E4=<F4D=>-

M?<45<<>?>7<G5E>>< 5?47>?>?GG<< =4E5?5=<O»; 

÷ $545D4?L=O= 74>>= >F 04.05.99 7 96-$� «�5 >ED4=5 4F<>ED5D=>7> 6>74GE4»; 

÷ $545D4?L=O= 74>>= $$ >F 24 <N=O 1998 7. 789-$� «�5 >FE>44E ?D><76>4EF64 

< ?>FD55?5=<O»; 

÷ �5<5?L=O= >>45>E $>EE<=E>>= $545D4F<< >F 25 >>FO5DO 2001 7. 7136-$�; 

÷ %� 11-102-97 «�=65=5D=>-M>>?>7<G5E><5 <7OE>4=<O 4?O EFD><F5?LEF64»; 

�D< ?D>6545=<< >>?<G5EF65==>7> E<<<G5E>>7> 4=4?<74 =4 E>45D64=<5 

747DO7=ONM<E 65M5EF6 6 D47?<G=OE >><?>=5=F4E >>DG64NM5= ED54O <E?>?L7GNFEO 

<5F>4<><, D57?4<5=F<D>64==O5 E>>F65FEF6GNM<<< =>D<4F<6=O<< 4>>G<5=F4<< (���$, 

��%& < 4D.). 

�>=<F>D<=7 ?>G65==>7> ?>>D>64 

%>7?4E=> %4=�<= 1.2.3685321, ?>E?5 7465DL5=<O EFD><F5?LEF64 ?D>6>4OFEO 

>>=FD>?L 747DO7=5=<O ?>G6 ?> E<<<G5E><<, E4=<F4D=>-5<>?>7<G5E><< < E4=<F4D=>-

?4D47<F>?>7<G5E><< ?>>474F5?O<. 

�>=<F>D<=7 4F<>ED5D=>7> 6>74GE4 

�47=4G5=<5 <>=<F>D<=74 3 ?>?GG5=<5 44==OE >5 GD>6=5 747DO7=5=<O 4F<>ED5D=>7> 

6>74GE4 6 7>=5 6?<O=<O EFD><F5?LEF64, 4 F4>65 4?O >>=FD>?O ?D54?>65==OE =>D<4F<6>6 

���. 

�> 6D5<O EFD><F5?LEF64 D57G?OD=O= >>=FD>?L 6O5D>E>6 �� >F 46F><>5<?L=>7> 

FD4=E?>DF4 < EFD><F5?L=>= F5E=<>< >D74=<7GNFEO ?>4DO4=O<< >D74=<74F<O<< 3 

6?445?LF4<< 44==OE FD4=E?>DF=OE ED54EF6. 

�>=<F>D<=7 D4EF<F5?L=>EF< 6>?NG45F ?D54>F6D4M5=<5 =4DGL5=<= 7D4=<F 

D4E?D>EFD4=5=<O >E>55= D54><E < >ED4=O5<OE 6<4>6 D4EF5=<=. �>=<F>D<=7 6<6>F=>7> 

<<D4 6>?NG45F =45?N45=<O 74 E>5?N45=<5< 4D54?>6 >F45?L=OE, =4<5>?55 GO76<<OE < 

F5==OE >ED4=O5<OE 6<4>6, F4>65 6=<<4=<5 E?54G5F G45?<FL 6<44<, D57G?OD=> <5=ONM<< 

E57>==O5 <5EF4 >5<F4=<O. 

� E>>F65FEF6<< E FD55>64=<O<< EF4FL< 67 $545D4?L=>7> 74>>=4 7 7 «�5 >ED4=5 

>>DG64NM5= ED54O» 6 E>45 EFD><F5?LEF64 < M>E??G4F4F<< 4>?65= 5OFL >D74=<7>64= 

?D><76>4EF65==O= M>>?>7<G5E><= >>=FD>?L. 

�444G< ?D><76>4EF65==>7> M>>?>7<G5E>>7> >>=FD>?O >?D545?ONFEO >4>:  

- >>=FD>?L ?>?=>FO < >4G5EF64 ?D<=OFOE >D74=<74F<>==>-F5E=<G5E><E D5L5=<=, 

>?D545?ONM<E GD>65=L 6>745=EF6<O =4 >>DG64NMGN ED54G;  
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

- ?D>65D>4 E>>F65FEF6<O M>>?>7<G5E>>= E<FG4F<< 6 D4EE<4FD<645<>< D4=>=5 

GEF4=>6?5==O< =>D<4F<6=O< ?4D4<5FD4< < <EE>4=O< ?>>474F5?O< >4G5EF64 >>DG64NM5= 

ED54O;  

- 4=4?<7, 6OD45>F>4 < D54?<74F<O ?D54?>65=<= ?> >55E?5G5=<N M>>?>7<G5E>>= 

557>?4E=>EF< 6 E?GG45 >5=4DG65=<O >F>?>=5=<= D57G?LF4F>6 =45?N45=<= >F 

GF65D645==OE ?D>5>F=OE 4>>G<5=F>6, GEF4=>6?5==OE =>D<4F<6>6 6 >5?4EF< >ED4=O 

>>DG64NM5= ED54O < E4=<F4D=>-M?<45<<>?>7<G5E>>7> 5?47>?>?GG<O. 

->>?>7<G5E><= >>=FD>?L 74 E>EF>O=<5< >>DG64NM5= ED54O ?D54GE<4FD<645FEO >4> 

=4 EF44<< EFD><F5?LEF64, F4> < =4 EF44<< M>E??G4F4F<<. 

&45?<F4 10.1 3 �?4=-7D4D<> M>>?>7<G5E>>7> >>=FD>?O 74 E>EF>O=<5< >>DG64NM5= ED54O 
�<4O =45?N45=<= �5D<>4<G=>EFL %D>>< 

6O?>?=5=<O 
�F>7>6O5 4>>G<5=FO 

1 2 3 4 
�D54?D>5>F=4O (?D>5>F=4O) EF44<O 

�E5 >><?>=5=FO 
>>DG64NM5= ED54O: 
- 4F<>ED5D=O= 6>74GE; 
- ?>65DE=>EF=O5 < 
?>475<=O5 6>4O; 
- ?>G65==O= ?>>D>6; 
- 75>?>7<G5E>4O ED544; 
- 6<6>F=O= < 
D4EF<F5?L=O= <<D; 
- D<7<G5E><5 D4>F>DO 
6>745=EF6<O (LG<, -�� 
< ?D.). 
&5?L 3 GEF4=>6<FL 
E>EF>O=<5 6E5E 
>><?>=5=F>6 
>>DG64NM5= ED54O =4 
GG4EF>5 ??4=<DG5<>7> 
EFD><F5?LEF64 >5N5>F4 4> 
=4G4?4 >EGM5EF6?5=<O 
EFD><F5?L=>-<>=F46=OE 
D45>F (%�$).  

$47>6O5 =45?N45=<O 6 
D4<>4E: 
- <=65=5D=>-
75>?>7<G5E><E <7OE>4=<=; 
- <=65=5D=>-
75>457<G5E><E <7OE>4=<=; 
- <=65=5D=>-
M>>?>7<G5E><E <7OE>4=<=. 

2022 7. �FG5FO ?> 6E5< 6<44< 
<7OE>4=<=.  

%F44<O EFD><F5?LEF64 (D5>>=EFDG>F<<) >5N5>F4 
�F<>ED5D=O= 6>74GE 
(>E=>6=O5 747DO7=ONM<5 
65M5EF64 3 >>E<4 
G7?5D>44, 4<>>E<4 47>F4, 
6765L5==O5 65M5EF64, 
4<<<4>, E5D>6>4>D>4, 
55=7>?) 

�65>64DF4?L=>. &>G>< 
=45?N45=<=, 
GEF4=>6?5==O5 
<=65=5D=>-
M>>?>7<G5E><<< 
<7OE>4=<O<<. 

� ?5D<>4 
%�$ 

�D>F>>>?O 74<5D>6 
4>>D54<F>64==>= 
?45>D4F>D<< 

�>475<=O5 6>4O 
(747DO7=5=<5 FO65?O<< 
<5F4??4<<, 
=5DF5?D>4G>F4<<, 
D5=>?4<<, 
<<>D>5<>?>7<G5E><= 

�5 D565 1 D474/7>4. 
�EE?54>64F5?LE><5 
E>646<=O, ?D>5GD5==O5 6 
E>45 <=65=5D=OE 
<7OE>4=<= 

� ?5D<>4 
%�$ 

�D>F>>>?O <EE?54>64=<= 
4>>D54<F>64==>= 
?45>D4F>D<< 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

4=4?<7) 
�>G65==O= ?>>D>6 
(747DO7=5=<5 FO65?O<< 
<5F4??4<<, 
=5DF5?D>4G>F4<<, 
55=7(4)?<D5=><) 

2 D474/7>4. &>G>< 
=45?N45=<=, 
GEF4=>6?5==O5 
<=65=5D=>-
M>>?>7<G5E><<< 
<7OE>4=<O<<. 

� ?5D<>4 
%�$ 

�D>F>>>?O <EE?54>64=<= 
4>>D54<F>64==>= 
?45>D4F>D<< 
(>>?<G5EF65==O= 
E<<<G5E><= E>EF46) 

$<7<G5E><5 D4>F>DO 
6>745=EF6<O 
(M?5>FD><47=<F=>5 
<7?GG5=<5, LG<, 
D44<4F<>==O= D>= 
GG4EF>4, 6<5D4F<O) 

�5 D565 2 D47/7>4. &>G>< 
=45?N45=<=, 
GEF4=>6?5==O5 
<=65=5D=>-
M>>?>7<G5E><<< 
<7OE>4=<O<<. 

� ?5D<>4 
%�$, ?>E?5 
7465DL5=<O 
%�$ 

�D>F>>>?O <EE?54>64=<= 
4>>D54<F>64==>= 
?45>D4F>D<< 

%F44<O M>E??G4F4F<< >5N5>F4 
�F<>ED5D=O= 6>74GE 
(>E=>6=O5 747DO7=ONM<5 
65M5EF64 3 >>E<4 
G7?5D>44, 4<>>E<4 47>F4, 
6765L5==O5 65M5EF64, 
4<<<4>, E5D>6>4>D>4, 
55=7>?) 

�5 <5=55 1 D474/7>4 ?> 
F>G>4<, >?D545?5==O< 6 
E>45 <=65=5D=>-
M>>?>7<G5E><E <7OE>4=<=. 

� ?5D<>4 
M>E??G4F4F<< 
>5N5>F4 

�D>F>>>?O <EE?54>64=<= 
4>>D54<F>64==>= 
?45>D4F>D<<  

�>475<=O5 6>4O 
(747DO7=5=<5 FO65?O<< 
<5F4??4<<, 
=5DF5?D>4G>F4<<) 

�5 D565 1 D474/7>4 <7 
E>646<= E>7O=EF6GNM<E 
EG5N5>F>6, <4>E<<4?L=> 
?D<5?<65==OE > 
??>M44>5 >5N5>F4. 

� ?5D<>4 
M>E??G4F4F<< 
>5N5>F4 

�D>F>>>?O <EE?54>64=<= 
4>>D54<F>64==>= 
?45>D4F>D<<  

�>G65==O= ?>>D>6 
(747DO7=5=<5 FO65?O<< 
<5F4??4<<, 
=5DF5?D>4G>F4<<, 
55=7(4)?<D5=><) 

�5 D565 1 D474/7>4 ?> 
F>G>4<, >?D545?5==O< 6 
E>45 <=65=5D=>-
M>>?>7<G5E><E <7OE>4=<=. 

� ?5D<>4 
M>E??G4F4F<< 
>5N5>F4 

�D>F>>>?O <EE?54>64=<= 
4>>D54<F>64==>= 
?45>D4F>D<<  

$<7<G5E><5 D4>F>DO 
6>745=EF6<O 
(M?5>FD><47=<F=>5 
<7?GG5=<5, LG<, 
6<5D4F<O) 

�5 D565 1 D474/7>4 ?> 
F>G>4<, >?D545?5==O< 6 
E>45 <=65=5D=>-
M>>?>7<G5E><E <7OE>4=<=. 

� ?5D<>4 
M>E??G4F4F<< 
>5N5>F4 

�D>F>>>?O <EE?54>64=<
4>>D54<F>64==>= ?45>D4F>D<<

$54?<74F<O ?D54GE<>FD5==OE ?D>5>F=OE D5L5=<= =5 6O7>65F >?4E=OE 

M>>?>7<G5E><E ?>E?54EF6<= 6 D4=>=5 EFD><F5?LEF64, E6545F > <<=<<G<G 6>745=EF6<5 

=4<5G45<>= E>7O=EF65==>= 45OF5?L=>EF< =4 >><?>=5=FO >>DG64NM5= ED54O < 5G45F 

=>E<FL ?<LL >D4F>>6D5<5==O=, ?>>4?L=O= E4D4>F5D. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

11 ��&�$���/ ��-�%&����/% ��%'������, �$������/% �$� 

�$�������� �%%��������� �  �����&���� ��&�$����� �� �&���� 

������%&��/ �� ��$'��.-'. %$��' ����'����� 

%��/�%&������ � ���� ��/&��,��%&� 

� E>>F65FEF6<< E �D<>47>< �<=?D<D>4O $>EE<< >F 01.12.2020 7 999 «�5 

GF65D645=<< FD55>64=<= > <4F5D<4?4< >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G» 

=5>5E>4<<> 6OO6<FL >5M5EF65==O5 ?D54?>GF5=<O 4?O ?D<=OF<O D5L5=<= ?> D54?<74F<< 

?D>5>F4 «$5>G?LF<64F<O 75<5?L=>7> GG4EF>4, 74=OF>7> =5E4=>F<>=<D>64==>= E64?>>= 

>FE>4>6 (�F>DOF4O ??>M44>4 E 7DG=F>6O< ?>>DOF<5< 6 7. &>FL<4, <5EF>=4E>645=<5: 12 

>< >F 7. &>FL<4 ���' 35:14:0106018:3)». 

�5M5EF65==O5 E?GL4=<O 3 MF> >5EG645=<5 D57G?LF4F>6 >F5=>< 6>745=EF6<O 

?D>5>F<DG5<>7> >5N5>F4 =4 >>DG64NMGN ED54G. �5M5EF65==O5 E?GL4=<O ?D>6>4OFEO E 

F5?LN 6OO6?5=<O >5M5EF65==OE ?D54?>GF5=<= 6 ED5D5 6?<O=<O >5N5>F4 =4 E>EF>O=<5 

>>DG64NM5= ?D<D>4=>= ED54O, GF> ?>76>?<F ?D54>F6D4F<FL <?< G<5=LL<FL <4ELF45 

=55?47>?D<OF=OE M>>?>7<G5E><E ?>E?54EF6<=. 

�4F5D<4?O >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G O6?ONFEO >E=>64=<5< 4?O 

D47D45>F>< >5>E=>6O64NM5= 4>>G<5=F4F<< ?> ??4=<DG5<>= (=4<5G45<>=) E>7O=EF65==>= 

< <=>= 45OF5?L=>EF<, 6 F>< G<E?5 ?> >5N5>F4< 7>EG44DEF65==>= M>>?>7<G5E>>= M>E?5DF<7O 

6 E>>F65FEF6<< E> EF4FLO<< 11, 12 $545D4?L=>7> 74>>=4 >F 23 =>O5DO 1995 7. 7 174-$� 

"�5 M>>?>7<G5E>>= M>E?5DF<75". 

�>>=G4F5?L=O5 <4F5D<4?O >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G E>45D64F 

<=D>D<4F<N >5 >D74=<74F<< < ?D>6545=<< >5M5EF65==OE >5EG645=<=, 6 F>< G<E?5 >5 

<=D>D<<D>64=<< >5M5EF65==>EF< (6E5 74<=F5D5E>64==O5 ?<F4, 6 F>< G<E?5 7D4644=5, 

>5M5EF65==O5 >D74=<74F<< (>5N54<=5=<O), ?D54EF46<F5?< >D74=>6 7>EG44DEF65==>= 

6?4EF<, >D74=>6 <5EF=>7> E4<>G?D46?5=<O), > D>D<5 < ED>>4E ?D>6545=<O >5M5EF65==OE 

>5EG645=<=, GG5F5 ?>EFG?<6L<E 74<5G4=<= < ?D54?>65=<= < (<?<) <E <>F<6<D>64==>< 

>F>?>=5=<<, 4 F4>65 > 4>>G<5=F4E, >D>D<?O5<OE 6 E>45 < ?> D57G?LF4F4< ?D>6545=<O 

>5M5EF65==OE >5EG645=<=, 6>?NG4O G654><?5=<O, 6GD=4?O GG5F4 74<5G4=<= < 

?D54?>65=<=, ?D>F>>>?O >5M5EF65==OE E?GL4=<=, >?D>E>6 (6 E?GG45 <E ?D>6545=<O). 

'654><?5=<5 ?>47>F46?<645FEO EG5N5>F4<< E>7O=EF65==>= < <=>= 45OF5?L=>EF<, 

O6?ONM<<<EO 74>47G<>4<< < (<?<) <E?>?=<F5?O<< ���%, < ?D54>EF46?O5FEO 6 >D74=O 

7>EG44DEF65==>= 6?4EF< < (<?<) >D74=O <5EF=>7> E4<>G?D46?5=<O. 

'654><?5=<O 4>?6=O 5OFL D47<5M5=O =5 ?>74=55, G5< 74 3 >4?5=44D=OE 4=O 4> 

=4G4?4 ??4=<DG5<>7> >5M5EF65==>7> >5EG645=<O: 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

4) =4 <G=<F<?4?L=>< GD>6=5 3 =4 >D<F<4?L=>< E4=F5 �4<<=<EFD4F<< &>F5<E>>7> 

<G=<F<?4?L=>7> >>DG74 �>?>7>4E>>= >5?4EF< (https://35totemskij.gosuslugi.ru/); 

5) =4 D57<>=4?L=>< GD>6=5 3 =4 >D<F<4?L=>< E4=F5 F5DD<F>D<4?L=>7> >D74=4 

$>E?D<D>4=447>D4 (https://35.rpn.gov.ru/), =4 >D<F<4?L=>< E4=F5 �5?4DF4<5=F4 ?D<D>4=OE 

D5EGDE>6 < >ED4=O >>DG64NM5= ED54O �>?>7>4E>>= >5?4EF< (https://dpr.gov35.ru); 

6) =4 D545D4?L=>< GD>6=5 3 =4 >D<F<4?L=>< E4=F5 $>E?D<D>4=447>D4 

(https://rpn.gov.ru/); 

7) =4 >D<F<4?L=>< E4=F5 74>47G<>4 (<E?>?=<F5?O) 3 ��� «$>EM>>» 

(https://roseco35.ru/). 

�>>=G4F5?L=O5 <4F5D<4?O >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G 

GF65D644NFEO 74>47G<>><, <E?>?L7GNFEO ?D< ?>47>F>6>5 >5>E=>6O64NM5= 4>>G<5=F4F<< 

?> ??4=<DG5<>= (=4<5G45<>=) E>7O=EF65==>= < <=>= 45OF5?L=>EF<. 

%D>>< < <5EF> 4>EFG?=>EF< ?D5464D<F5?L=>7> 64D<4=F4 <4F5D<4?>6 ?> 

>F5=>5 6>745=EF6<O =4 >>DG64NMGN ED54G, 6 F>< G<E?5 4?O >7=4>><?5=<O < =4?D46?5=<O 

74<5G4=<= < ?D54?>65=<= (6 ?<EL<5==>= D>D<5) ?> 44D5E4<: 

- 161300, �>?>7>4E>4O >5?4EFL, &>F5<E><= D4=>=, 7. &>FL<4, G?.�>?>44DE>>7>, 4.4, 

>45. 4�; 

- >D<F<4?L=O= E4=F &>F5<E>>7> <G=<F<?4?L=>7> >>DG74 �>?>7>4E>>= >5?4EF< - 

https://35totemskij.gosuslugi.ru/. 

%>7?4E=> $545D4?L=><G 74>>=G 7 174-$� «�5 M>>?>7<G5E>>= M>E?5DF<75», 

�<=?D<D>4O $>EE<=E>>= $545D4F<< >F 01.12.2020 7999 «�5 GF65D645=<< FD55>64=<= > 

<4F5D<4?4< >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G» ?> >5N5>FG 7>EG44DEF65==>= 

M>>?>7<G5E>>= M>E?5DF<7O ?D>5>F=>= 4>>G<5=F4F<<: «$5>G?LF<64F<< 75<5?L=>7> GG4EF>4, 

74=OF>7> =5E4=>F<>=<D>64==>= E64?>>= >FE>4>6 (�F>DOF4O ??>M44>4 E 7DG=F>6O< 

?>>DOF<5< 6 7. &>FL<4, <5EF>=4E>645=<5: 12 >< >F 7. &>FL<4 ���' 35:14:0106018:3)» =4 

MF4?5 ?D>6545=<O >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G < ?>47>F>6>< 

>5>E=>6O64NM5= 4>>G<5=F4F<<, 4 <<5==> <=65=5D=OE <7OE>4=<=, ?D>5>F=>= 

4>>G<5=F4F<< < ?D5464D<F5?L=>7> 64D<4=F4 <4F5D<4?>6 ?> >F5=>5 6>745=EF6<O =4 

>>DG64NMGN ED54G =4<5G45<>= E>7O=EF65==>= < <=>= 45OF5?L=>EF< E>EF>OFEO 

>5M5EF65==O5 >5EG645=<O 18 4?D5?O 2023 7>44 6 14:00 G4E>6 6 744=<< �4<<=<EFD4F<< 

&>F5<E>>7> <G=<F<?4?L=>7> >>DG74 �>?>7>4E>>= >5?4EF< ?> 44D5EG: 161300, �>?>7>4E>4O 

>5?4EFL, &>F5<E><= D4=>=, 7. &>FL<4, G?. �>?>44DE>>7>, 4.4, 4>F>6O= 74?. 

�<EL<5==O5 74<5G4=<O, ?D54?>65=<O < <=D>D<4F<O ?D<=<<4NFEO 6 ?<EL<5==>= 

D>D<5 6 �4<<=<EFD4F<< &>F5<E>>7> <G=<F<?4?L=>7> >>DG74 ?> 44D5EG: 161300, 

�>?>7>4E>4O >5?4EFL, &>F5<E><= D4=>=, 7. &>FL<4, G?. �>?>44DE>>7>, 4.4, >45.4� (?=-?F 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

08:00317:00, ?5D5DO6 12:30313:30) 6 ?5D<>4 ?D>6545=<O >5M5EF65==OE >5EG645=<= (E 

27.03.2023 ?> 02.05.2023) < 6 F5G5=<5 10 4=5= ?>E?5 <E 7465DL5=<O 3 ?> 12.05.2023. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

12 $��.�� ��&�%��'�%���� %�$��&�$� 

�F5=>4 6>745=EF6<O =4 >>DG64NMGN ED54G >5N5>F4 «$5>G?LF<64F<O 75<5?L=>7> 

GG4EF>4, 74=OF>7> =5E4=>F<>=<D>64==>= E64?>>= >FE>4>6 (�F>DOF4O ??>M44>4 E 

7DG=F>6O< ?>>DOF<5< 6 7. &>FL<4, <5EF>=4E>645=<5: 12 >< >F 7. &>FL<4 ���' 

35:14:0106018:3)»  6O?>?=5=4 6 E>>F65FEF6<< E «&D55>64=<O<< > <4F5D<4?4< >F5=>< 

6>745=EF6<O =4 >>DG64NMGN ED54G» (GF6. ?D<>47 >F 1 45>45DO 2020 7. 7999) < =5 

?D>F<6>D5G<F ?D<D>4>>ED4==><G 74>>=>44F5?LEF6G $$. 

�D< E>5?N45=<< ?D>5>F=OE D5L5=<=, >55E?5G<64NM<E D54?<74F<N 

74??4=<D>64==OE ?D<D>4>>ED4==OE <5D>?D<OF<=, 6>745=EF6<5 ?D>5>F<DG5<>7> >5N5>F4 

=4 EF44<< EFD><F5?LEF64 EGM5EF65==>7> =574F<6=>7> 6>745=EF6<O =4 >E=>6=O5 

>><?>=5=FO ?D<D>4=>= ED54O =5 >>465F. 

�<65 ?D<6545=4 >F5=>4 ?D>7=>7<DG5<OE 6>745=EF6<= ?>E?5 ?D<=OF<O <5D ?> 

?D54G?D5645=<N/E=<65=<N =574F<6=>7> 6>745=EF6<O =4 ?5D<>4 D5>G?LF<64F<< E64?><. 

�>745=EF6<5 =4 4F<>ED5D=O= 6>74GE 

�E=>6=O<< <EF>G=<>4<< 747DO7=5=<O 4F<>ED5D=>7> 6>74GE4 ?D< ?D>6545=<< D45>F 

?> D5>G?LF<64F<< 5G4GF O6?OFLEO: F5?> E64?><, 6=GFD5==<= ?D>574, D45>F4 4<75?L=>= 

75=5D4F>D=>= GEF4=>6><, E64D>G=O5 D45>FO ?> EL<6>5 75><5<5D4=O, 75<?O=O5 D45>FO, 

?5D5EO?>4 EO?GG57> <4F5D<4?4, D45>F4 E?5F.F5E=<><. 

�?O >?D545?5=<O 6?<O=<O >5N5>F4 =4 747DO7=5=<5 6>74GL=>7> 54EE5==4 6 ?5D<>4 

D5>G?LF<64F<< >5N5>F4 5O?< 6O?>?=5=O D4EG5FO D4EE5<64=<O 6D54=OE 65M5EF6 6 

4F<>ED5D5 < >?D545?5=O <E <4>E<<4?L=O5 ?D<75<=O5 >>=F5=FD4F<<. �>=FD>?L=O<< 

(D4EG5F=O<<) 6O5D4=O F>G>< =4 7D4=<F5 >D<5=F<D>6>G=>= (=>D<4F<6=>=) E4=<F4D=>-

74M<F=>= 7>=O (%%�), 4 F4>65 =4 7D4=<F5 ?D><76>4EF65==>= 7>=O. 

$4EG5F D4EE5<64=<O 747DO7=ONM<E 65M5EF6 6 4F<>ED5DG >F <EF>G=<>>6 6O5D>E>6 

?D>6545= 4?O 6D54=>7> 45=EF6<O =4 ?5F=<= ?5D<>4, >4> 6 ?5D<>4 E =4<EG4L<<< GE?>6<O<< 

D4EE5<64=<O, 4 F4>65 E GG5F>< <5F5>D>?>7<G5E><E E4D4>F5D<EF<> < >>MDD<F<5=F>6, 

>?D545?ONM<E GE?>6<O D4EE5<64=<O 65M5EF6 6 4F<>ED5D5. 

&4><< >5D47><, 65?<G<=O <4>E<<4?L=OE ?D<75<=OE >>=F5=FD4F<= ?> 

747DO7=ONM<< 65M5EF64< =4 EGM5EF6GNM55 ?>?>65=<5, =4 ?5D<>4 6O?>?=5=<O D45>F ?> 

D5>G?LF<64F<< 75<5?L=>7> GG4EF>4, 74=OF>7> >FE>44<<, ?> 7D4=<F5 %%� E>EF46?ONF <5=55 

1���. 

�O?>?=5==O= D4EG5F D4EE5<64=<O, >F5=<64NM<= 6?<O=<5 6O5D>E>6 747DO7=ONM<E 

65M5EF6 6 4F<>ED5DG >F >5N5>F4 D47<5M5=<O >FE>4>6, ?>4F65D6445F 6>7<>6=>EFL 

?D>6545=<O D45>F ?> D5>G?LF<64F<< GG4EF>4. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

�>745=EF6<5 D<7<G5E><E D4>F>D>6 

$57G?LF4FO 4>GEF<G5E><E D4EG5F>6 >6<445<OE GD>6=5= LG<4 >F EFD><F5?L=>= 

F5E=<>< < ��' 6 D4EG5F=OE F>G>4E ?>>474?<, GF> D4EG5F=O5 GD>6=< LG<4 =4 F5DD<F>D<< 

7D4=<F %%� =5 ?D56OL4NF ?D545?L=> 4>?GEF<<O5 GD>6=< LG<4 < E>>F65FEF6GNF %4=�<� 

1.2.3685-21 «�<7<5=<G5E><5 =>D<4F<6O < FD55>64=<O > >55E?5G5=<N 557>?4E=>EF< < (<?<) 

5576D54=>EF< 4?O G5?>65>4 D4>F>D>6 ED54O >5<F4=<O». 

�47DO7=5=<5 >FE>44<< ?D><76>4EF64 < ?>FD55?5=<O 

�D>6545=<5 D45>F ?> D5>G?LF<64F<< E64?>< 5G45F E>?D>6>644FLEO >5D47>64=<5< 

>FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O, 4 F4>65 EFD><F5?L=OE >FE>4>6 6 E>45 ?D>6545=<O 

EFD><F5?L=OE D45>F ?D< D5>G?LF<64F<< >5N5>F4. �FE>4O 6 ?5D<>4 ?D>6545=<O 

D5>G?LF<64F<>==OE D45>F ?> <5D5 >5D47>64=<O 5G4GF ?5D54464FLEO =4 6D5<5==>5 

=4>>??5=<5 6 E?5F<4?L=> >F6545==O5 <5EF4 (??>M44>< E F65D4O< ?>>DOF<5<, 

<5F4??<G5E><5 >>=F5==5DO, GEF4=>6?5==O5 =4 ??>M44>4E E F65D4O< ?>>DOF<5<) E 

?>E?54GNM<< 6O6>7>< FD4=E?>DF>< ?<F5=7<D>64==OE >D74=<74F<= =4 ?<F5=7<D>64==>5 

?D54?D<OF<5 ?> ?5D5D45>F>5 < D47<5M5=<N F65D4OE 5OF>6OE < ?D><76>4EF65==OE 

>FE>4>6. 

�D<=OFO5 ?D>5>F=O5 D5L5=<O, 4 F4>65 ED4=5=<5 >5D47GNM<EEO >FE>4>6 6 

E?5F<4?L=OE <5EF4E < 5<>>EFOE, <E>?NG4NF 6>7<>6=>EFL >FD<F4F5?L=>7> 6>745=EF6<O =4 

?>G6G, ?>475<=O5 < ?>65DE=>EF=O5 6>4O < 4F<>ED5D=O= 6>74GE. 

�>745=EF6<5 =4 6>4=GN ED54G 

�4 F5DD<F>D<< ?D><76>4EF64 D45>F 6>4=OE >5N5>F>6 =5 6EFD5G5=>. �D4=<F4 

?D><76>4EF64 D45>F D4E?>?>65=4 =4 D4EEF>O=<< >>>?> 900 < >F 6>4>>ED4==>= 7>=O D5>< 

,>D5=L74. %?54>64F5?L=>, D<E> 74F>??5=<O F5DD<F>D<< ?D< ?D>E>645=<< <4>E<<4?L=OE 

D4EE>4>6 < GD>6=5= 6>4O >FEGFEF6G5F. 

�574F<6=>5 6>745=EF6<5 D4EE<4FD<645<>7> >5N5>F4 =4 6>4=O5 D5EGDEO 5G45F 

?D>O6?OFLEO ?>4 6?<O=<5< 747DO7=ONM57> 45=EF6<O D<?LFD4F4. � ?D>5>F5 ?D<=OF> 

D5L5=<5 ?> GEFD>=EF6G 4D5=46=>= E<EF5<O. &5E=<G5E><< MF4?>< D5>G?LF<64F<< 

?D54GE<>FD5=> <7>?<D>64=<5 E64?>G=OE <4EE ?GF5< GEFD>=EF64 74M<F=>7> M>D4=4 =4 

?>65DE=>EF< E64?><. 

&4><< >5D47><, ?D<=OFO5 F5E=<G5E><5 D5L5=<O ?>76>?OF E65EF< > <<=<<G<G 

6>7<>6=>EFL 747DO7=5=<O 6>4=OE D5EGDE>6 6 ?5D<>4 D5>G?LF<64F<>==OE D45>F, 4 F4>65 6 

?>EFD5>G?LF<64F<>==O= ?5D<>4. �EF4F>G=>5 6>745=EF6<5 =4 6>4=GN ED54G >F5=<645FEO 

>4> «=57=4G<F5?L=>5». 

�>745=EF6<5 =4 75<5?L=O5 D5EGDEO < ?>G65==O= ?>>D>6 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

%64?>4 ?D54EF46?O5F E>5>= GG4EF>> E G65 457D44<D>64==O< ?>G65==O< ?>>D>6><, 

<7<5=5==O< E<<<>>->><?>=5=F=O< E>EF46>< ?>G6. �>MF><G, 6 44==>< E?GG45, 

D5>G?LF<64F<O ?D<6545F > 6>EEF4=>6?5=<N ?>G65==>7> ?>>D>64. 

%F5?5=L 747DO7=5=<O ?> E<<<G5E><< ?>>474F5?O< ?>G6>-7DG=F4 =5 ?D56OL45F 

GEF4=>6?5==O5 =>D<4F<6O < >F=>E<FEO > «4>?GEF<<>=» >4F57>D<< (EG<<4D=O= ?>>474F5?L 

Zc <5=55 16). �E?>?L7>64=<5 6 E>45 EFD><F5?L=OE D45>F 557 >7D4=<G5=<=, <E>?NG4O 

>5N5>FO ?>6OL5==>7> D<E>4.  

�> 6E5E ?D>54E >>=F5=FD4F<< 55=7(4)?<D5=4 >F65G45F FD55>64=<O<. � E>>F65FEF6<< 

E %4=�<= 1.2.3685321 ?>G6O < 7DG=FO =4 7?G5<=G ?5DE?5>F<6=>7> <E?>?L7>64=<O 

E>>F65FEF6GNF «G<EF>=» >4F57>D<<. �7 D57G?LF4F>6 M?<45<<>?>7<G5E>>7> 4=4?<74 

?>G65==OE ?D>5 (?>4EF<?4NM<E ?>?<7>= &��) E?54G5F, GF> ?> <<>D>5<>?>7<G5E><< 

?>>474F5?O< =5 6OO6?5=> ?D56OL5=<5 ?> <=45>EG ����, GG4EF>> >F=>E<FEO > >4F57>D<< 

«G<EF>=». �> ?4D47<F>?>7<G5E><< ?>>474F5?O< ?>G6O GG4EF>4 >F=>EOFEO > >4F57>D<< 

«G<EF>=».  

&4><< >5D47><, ?>G6O ?>4?564F <E?>?L7>64=<N 557 >7D4=<G5=<=, <E>?NG4O 

>5N5>FO ?>6OL5==>7> D<E>4. 

�>745=EF6<5 =4 D4EF<F5?L=O= < 6<6>F=O= <<D 

$5>G?LF<6<DG5<O= >5N5>F ?D>5>F<D>64=<O ?D54EF46?O5F E>5>= GG4EF>> E G65 

=4DGL5==O< 7<4D>?>7<G5E><< D56<<>< <5EF=>EF<, 457D44<D>64==O< ?>G65==O< 

?>>D>6><, <7<5=5==O< E>EF46>< D?>DO < D4G=O. � 44==>< E?GG45, D5>G?LF<64F<O 

?D<6545F > 6>EEF4=>6?5=<N ?D>4G>F<6=>EF<, =4D>4=>E>7O=EF65==>= F5==>EF< 75<?< < 

G?GGL5=<N GE?>6<= >>DG64NM5= ED54O. � ?D>F5EE5 D5>G?LF<64F<< 5G45F =4=5E5= 

??>4>D>4=O= E?>= ?>G6O E 6OE>><< E>45D64=<5< 7G<GE4 < >5?444NM<= 5?47>?D<OF=O< 

4?O D>EF4 D4EF5=<= E<<<G5E><<<, D<7<G5E><<< < 5<>?>7<G5E><<< E6>=EF64<<. 

�<>?>7<G5E><= MF4? D5>G?LF<64F<< ?>76>?<F 6>EEF4=>6<FL D4EF<F5?L=O= ?>>D>6 =4 

D5>G?LF<6<DG5<>< >5N5>F5. 

�> D57G?LF4F4< <EE?54>64=<O, ?D>6545==>7> =4 6E5= F5DD<F>D<< GG4EF>4 6 <N=5 

2022 7>44, D54><E, <EG574NM<E < GO76<<OE 6<4>6 6<6>F=OE < D4EF5=<=, 74=5E5==OE 6 

�D4E=GN >=<7G, =5 >5=4DG65=>. 

�EF4F>G=>5 6>745=EF6<5 D4EE<4FD<645<>7> >5N5>F4 ?>E?5 7465DL5=<O ??4=<DG5<OE 

D45>F =5 5G45F ?D56OL4FL GD>65=L 4>?GEF<<>= 4=FD>?>75==>= =47DG7>< =4 >><?>=5=FO 

?D<D>4=>= ED54O 6 D4=>=5 ?D>6545=<O D45>F. 

� F5?>< EG<<4D=O= GD>65=L ?>F5=F<4?L=>7> 6>745=EF6<O >5N5>F4 O6?O5FEO 

4>?GEF<<O< < E>>F65FEF6G5F FD55>64=<O< D>EE<=E><E =>D<4F<6=OE 4>>G<5=F>6 6 >5?4EF< 

>ED4=O >>DG64NM5= ED54O. �5M<= E4D4>F5D >EF4F>G=>7> 6>745=EF6<O =4 >>DG64NMGN 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

ED54G ?D< M>E??G4F4F<< ?D>5>F<DG5<>7> >5N5>F4 E GG5F>< EGM5EF6GNM57> E>EF>O=<O 

>F5=<645FEO >4> E?45O=. 

�4<5G45<4O 45OF5?L=>EFL <>65F 5OFL D54?<7>64=4 ?D< GE?>6<< EFD>7>7> 

E>5?N45=<O FD55>64=<= M>>?>7<G5E>>= < ?D<D>4>>ED4==>= 557>?4E=>EF<. 
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�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

13 %��%�� %%/��'�/% ��$��&���/% ���'���&�� 

- �4>>= $>EE<=E>>= $545D4F<< «�5 >ED4=5 >>DG64NM5= ED54O» 77-$� >F 

10.01.2002 7.; 

- �4>>= $>EE<=E>>= $545D4F<< «�5 M>>?>7<G5E>>= M>E?5DF<75» 7174-$� >F 

23.11.1995 7.; 

 - �4>>= $>EE<=E>>= $545D4F<< «�5 >ED4=5 4F<>ED5D=>7> 6>74GE4» 796-$� >F 

4.05.1999 7.; 

- �4>>= $>EE<=E>>= $545D4F<< «� E4=<F4D=>-M?<45<<>?>7<G5E>>< 5?47>?>?GG<< 

=4E5?5=<O» 752-$� >F 30.03.1999 7.; 

- �4>>= $>EE<=E>>= $545D4F<< «�5 >FE>44E ?D><76>4EF64 < ?>FD55?5=<O» 789-$� 

>F 24.06.1998 7.; 

- �4>>= $>EE<=E>>= $545D4F<< «� 6<6>F=>< <<D5» 752-$� >F 24.04.1995 7.; 

- �5<5?L=O= >>45>E $>EE<=E>>= $545D4F<< 7136-$� >F 25.10.2001 7; 

- �>4=O= >>45>E $>EE<=E>>= $545D4F<< 774-$� >F 03.06.2006 7.; 

- �5E=>= >>45>E $>EE<=E>>= $545D4F<< 7200-$� >F 04.12.2006 7.; 

- �>EF4=>6?5=<5 �D46<F5?LEF64 $>EE<=E>>= $545D4F<< 7 87 >F 16.02.08 7. «� 

E>EF465 D4745?>6 ?D>5>F=>= 4>>G<5=F4F<< < FD55>64=<O > <E E>45D64=<N»; 

- ��%& $ 59070-2020 �ED4=4 >>DG64NM5= ED54O. $5>G?LF<64F<O =4DGL5==OE < 

=5DF5747DO7=5==OE 75<5?L. &5D<<=O < >?D545?5=<O; 

- ��%& $ 59060-2020 �ED4=4 >>DG64NM5= ED54O. �5<?<. �?4EE<D<>4F<O 

=4DGL5==OE 75<5?L 6 F5?OE D5>G?LF<64F<<; 

- ��%& $ 59057-2020 �ED4=4 >>DG64NM5= ED54O. �5<?<. �5M<5 FD55>64=<O ?> 

D5>G?LF<64F<< =4DGL5==OE 75<5?L; 

- ��%& $ 70284-2022 �ED4=4 >>DG64NM5= ED54O. �4=4L4DFO. &5D<<=O < 

>?D545?5=<O; 

- ��%& 17.5.3.06-85 �ED4=4 ?D<D>4O. �5<?<. &D55>64=<O > >?D545?5=<N =>D< 

E=OF<O ??>4>D>4=>7> E?>O ?>G6O ?D< ?D><76>4EF65 75<?O=OE D45>F; 

- %� 42.13330.2016 �D44>EFD><F5?LEF6>. �?4=<D>6>4 < 74EFD>=>4 7>D>4E><E < 

E5?LE><E ?>E5?5=<=. �>FG4?<7<D>64==4O D544>F<O %�<� 2.07.01-89; 

- %� 320.1325800.2017 �>?<7>=O 4?O F65D4OE >><<G=4?L=OE >FE>4>6. 

�D>5>F<D>64=<5, M>E??G4F4F<O < D5>G?LF<64F<O; 

- %� 51.13330.2011 �4M<F4 >F LG<4. �>FG4?<7<D>64==4O D544>F<O %�<� 23-03-

2003; 

- %� 131.13330.2020 %FD><F5?L=4O >?<<4F>?>7<O; 



100 

 

 

�
=6

. 7
 ?

>4
?.

 
�

74
<

. <
=6

. 7
 

�
>4

?.
 <

 4
4F

4 

 
 

 

96 

 

�<EF 02-$-&11-���%.&' 

 

      

      

�4F4 �>4?. 7 4>>. �<EF �>?. GG.�7<. 

- %4=�<� 2.1.3684-21 «%4=<F4D=>-M?<45<<>?>7<G5E><5 FD55>64=<O > E>45D64=<N 

F5DD<F>D<= 7>D>4E><E < E5?LE><E ?>E5?5=<=, > 6>4=O< >5N5>F4<, ?<FL56>= 6>45 < 

?<FL56><G 6>4>E=4565=<N, 4F<>ED5D=><G 6>74GEG, ?>G64<, 6<?O< ?><5M5=<O<, 

M>E??G4F4F<< ?D><76>4EF65==OE, >5M5EF65==OE ?><5M5=<=, >D74=<74F<< < ?D>6545=<N 

E4=<F4D=>- ?D>F<6>M?<45<<G5E><E (?D>D<?4>F<G5E><E) <5D>?D<OF<=»; 

- %4=�<� 2.2.1/2.1.1.1200-03 «%4=<F4D=>-74M<F=O5 7>=O < E4=<F4D=4O 

>?4EE<D<>4F<O ?D54?D<OF<=, E>>DG65=<= < <=OE >5N5>F>6» (E <7<5=5=<O<< >F 28.02.2022 

7.); 

- �D<>47 �<=<EF5DEF64 ?D<D>4=OE D5EGDE>6 < M>>?>7<< $>EE<=E>>= $545D4F<< >F 

06.06.2017 7 273 «�5 GF65D645=<< <5F>4>6 D4EG5F>6 D4EE5<64=<O 6O5D>E>6 6D54=OE 

(747DO7=ONM<E) 65M5EF6 6 4F<>ED5D=>< 6>74GE5»; 

- �D<>47 �<=<EF5DEF64 ?D<D>4=OE D5EGDE>6 < M>>?>7<< $>EE<=E>>= $545D4F<< 7 

779 >F 20 45>45DO 2019 7>44 «�5 GF65D645=<< ?>DO4>4 ?D>6545=<O M>E?5DF<7O ?D>7D4<<O 

4?O M?5>FD>==OE 6OG<E?<F5?L=OE <4L<=, <E?>?L7G5<>= 4?O D4EG5F>6 D4EE5<64=<O 

6O5D>E>6 747DO7=ONM<E 65M5EF6 6 4F<>ED5D=>< 6>74GE5 (74 <E>?NG5=<5< 6O5D>E>6 

D44<>4>F<6=OE 65M5EF6»; 

- �D<>47 $>E?D<D>4=447>D4 >F 22.05.2017 7242 (D54. >F 16.05.2022) «�5 

GF65D645=<< $545D4?L=>7> >?4EE<D<>4F<>==>7> >4F4?>74 >FE>4>6»; 

- �D<>47 �<=?D<D>4O $>EE<< >F 01.12.2020 7 999 «�5 GF65D645=<< FD55>64=<= > 

<4F5D<4?4< >F5=>< 6>745=EF6<O =4 >>DG64NMGN ED54G»; 

- �=EFDG>F<O ?> ?D>5>F<D>64=<N, M>E??G4F4F<< < D5>G?LF<64F<< ?>?<7>=>6 4?O 

F65D4OE 5OF>6OE >FE>4>6 (GF6. �<=EFD>5< $>EE<< 02.11.1996)»; 

- %5>D=<> G45?L=OE ?>>474F5?5= >FE>4>6 ?D><76>4EF64 < ?>FD55?5=<O (GF6. 

�>E>><M>>?>7<5= $$), 1999 7.; 
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